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P]lR5s ljifox¿ 

 -Physics, n]vfljlw, g]kfnsf] Gofo / sfg'g k|0ffnL, Instructional Pedagogy and Evaluation, 

dgf]lj1fg, Oltxf;, Biology, lzIff / ljsf;, e"uf]n, Legal Drafting,  ;dfhzf:q, Jofj;flos 

cWoog, Chemistry, cy{zf:q, dfs]{l6ª, Civil and Criminal Justice, ;+:s[lt, cª\u]|hL, ;fwf/0f 

ul0ft, Applied Mathematics, Business Mathematics, Library and Information Science, u[x 
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 kf7\oj|md ljsf; s]Gb| 
 

 

 

o; ;fdu|Lsf] ;jf{lwsf/ o; s]Gb|df ;'/lIft /x]sf] 5 . lnlvt :jLs[tljgf o;sf] k"/} jf cf+lzs efu x'ax' 

k|sfzg ug{, kl/jt{g u/]/ k|sfzg ug{, s'g} ljB'tLo ;fwg jf cGo k|ljlwaf6 /]s8{ ug{ / k|ltlnlk lgsfNg 

kfOg]5}g . 
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xfd|f] egfO 

ljBfyL{sf] ;jf{ª\uL0f ljsf;sf nflu cfjZos kg]{ 1fg, l;k / clej[lQ,d"No / tTk/tf ljsf;sf] lj:t[t of]hgf 

kf7\oj|md xf] . kf7\oj|mdsf] ;xL ¿kdf sfof{Gjog x'g ;s]df dfq lzIffsf] u'0f:t/ clej[l4 ug{ ;lsG5 . 

kf7\oj|mdn] ljifout ljlzi6 p2]Zo, ljifoj:t', lzIf0fl;sfO lj|mofsnfk, z}lIfs ;fdu|L, lzIf0f ljlw / d"Nofª\sg 

k|lj|mof cflbsf] Joj:yf u/]sf] x'G5 . To;}n] lzIf0f l;sfO k|lj|mofnfO{ p2]Zok"0f{ / k|efjsf/L agfpgsf nflu 

lzIfsn] kf7\oj|mdnfO{ d"n cfwf/ jf dfWod  agfpg'kb{5 . 

l;sfO ;xhLs/0f k|lj|mofnfO{ k|efjsf/L agfpg pko'St d"Nofª\sg k|0ffnLsf] k|of]u cfjZos x'G5 . kf7\oj|mdåf/f 

lglb{i6 p2]Zo s]slt dfqfdf k|fKt eP ePgg\ eg]/ ;xL ¿kdf d"Nofª\sg ug{ d"Nofª\sg k|lj|mofnfO{ Jojl:yt / 

j}1flgs agfpg cfjZos x'G5 . d"Nofª\sg k|lj|mofnfO{ j:t'lgi7 / p2]Zok"0f{ agfpg ljlzi6Ls/0f tflnsfn] 

dxTjk"0f{ ;xof]u k'¥ofPsf] x'G5 . To;}n] kf7\oj|mdsf] ;xL ¿kdf sfof{Gjog xf];\ / d"Nofª\sg k|lj|mof cem 

j:t'lgi7, ljZj;gLo / j}w x'g ;sf];\ eGg] clek|fon] ljlzi6Ls/0f tflnsf lgdf{0f ul/G5 . 

ljBfno txsf nflu /fli6«o kf7\oj|md k|f¿k, @)&^ cg';f/ lgdf{0f ePsf dfWolds lzIff -sIff !! / !@_ 

kf7\oj|md, @)&& z}lIfs jif{ @)&& b]lv sIff !! / z}lIfs aif{ @)&* b]lv sIff !@ df nfu' ePsf 5g\ .  pSt 

kf7\oj|mdcg';f/ ljBfyL{sf] afx\o d"Nofª\sg ug{sf nflu  sIff !@ df k7gkf7g x'g]  P]lR5s ljifox¿sf] 

ljlzi6Ls/0f tflnsf tof/ kf/L o; ¿kdf k|sfzg ul/Psf] xf] . k|:t't ljlzi6Ls/0f tflnsfsf] k|of]un] 

kl/dflh{t kf7\oj|mdcg';f/ lnOg] k/LIff ljBfyL{sf nflu ;/n / ;xh eO{ ljBfyL{sf] l;sfO pknlAw k|flKt 

b/nfO{ clej[l4 ug{ ;xof]u k'¥ofpg] ck]Iff ul/Psf] 5 .  

of] ljlzi6Ls/0f tflnsf /  gd'gf k|Zgkq  lgdf{0f ug{ ljifout ¿kdf lzIfs tyf ljz]if1 ;lDdlnt d:of}bf 

sfo{bn u7g ul/Psf] lyof] . d:of}bf sfo{bnn] tof/ kf/]sf] ;fdu|Ldfly lzIfsx¿sf] sfo{bnåf/f yk kl/dfh{g 

u/L ;DalGwt ljifo ;ldlt / ;dGjo tyf ;Dkfbg ;ldltdf 5nkmn u/L ;+zf]wg tyf ;'wf/ u/]kl5 o; ¿kdf 

tof/ kfl/Psf] xf] . oxfF /flvPsf k|Zg kf7\oj|mdsf cfwf/df lgld{t gd'gf k|Zg dfq x'g\ . k/LIff ;~rfng 

ljlzi6Ls/0f tflnsfdf km/s gkg]{ u/L cGo k|Zg lgdf{0f u/L k|of]u ug'{ pko'St x'G5 .  o;sf] lgdf{0f sfo{df 

;xof]u k'¥ofpg] ;DalGwt If]qsf lzIfs, o; s]Gb|sf ljz]if1nufot ;Da4 ljifo ;ldltsf dxfg'efjx¿ Pjd\ 

;DalGwt ;a} kIfk|lt kf7\oj|md ljsf; s]Gb| xflb{s wGojfb JoSt ub{5 . o;df s'g} sdL sdhf]/L eP cf}FNofO{ 

o;nfO{ cem kl/dflh{t / :t/Lo agfpg ;Da4 ;a}af6 /rgfTds ;'emfjsf] ck]Iff ul/Psf] 5 . 

@)&*, df3  

 kf7\oj|md ljsf; s]Gb|,  

 ;fgf]l7dL, eStk'/ 
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j|m=;+= ljifo k[i7;ª\Vof 

!= ljlzi6Ls/0f tflnsfsf] kl/ro !  

@ Physics $ 

#= n]vfljlw !# 

$= g]kfnsf] Gofo / sfg'g k|0ffnL @# 

%= Instructional Pedagogy and Evaluation        @& 

^= dgf]lj1fg #! 

&=  Oltxf; #^ 

* Biology $) 

( lzIff / ljsf; $^ 

!)= e"uf]n %! 

!!= Legal Drafting %% 

!@= ;dfhzf:q %( 

!#= Jofj;flos cWoog ^@ 

!$ Chemistry ^% 

!%= cy{zf:q &# 

!^= dfs]{l6ª &* 

!&= Civil and Criminal Justice *@ 

!*= ;+:s[lt *& 

!(= cª\u]|hL (! 

@)= ;fwf/0f ul0ft ($ 

@!= Applied Mathematics (( 

@@= Business Mathematics !)( 

@#= Library and Information Science !!$ 

@$= u[x lj1fg !!& 

@%= jftfj/0f lj1fg !@@ 

@^= ;fwf/0f sfg'g !@% 

@&= ljQzf:q !#) 

@*= Computer Science !#^ 

@(= ;f}Gbo{snf !$@ 

#)= efiff lj1fg !$% 
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!= ljlzi6Ls/0f tflnsf (Test Specification Chart) sf] kl/ro 

!=! kl/ro 

lzIffsf /fli6«o p2]Zo kl/k"lt{ ug]{ dxŒjk"0f{ ;fwg kf7\oj|md xf] . kf7\oj|mdsf] k|efjsf/L sfof{Gjog x'g ;s]df 

dfq lzIffsf] u'0f:t/ clej[l4 x'g ;Sb5 . kf7\oj|mdsf] ;xL ¿kdf sfof{Gjog ug{sf nflu k|efjsf/L ;xhLs/0f 

k|lj|mofsf ;fy} d"Nofª\sg k|0ffnLsf] ljz]if e"ldsf /x]sf] x'G5 . t;y{ kf7\oj|mdsf] k"0f{ sfof{Gjogdf d"Nofª\sg 

k|0ffnL k|efjsf/L x'g' h?/L x'G5 . 

kf7\oj|mdsf lglb{i6 ;Ifdtf k"lt{ eP ePgg\ eGg] s'/fsf] n]vfhf]vf ug]{ k|lj|mof d"Nofª\sg xf] eg] d"Nofª\sg 

k|lj|mofnfO{ of]hgfa4 tyf k|efjsf/L agfpg] dxŒjk"0f{ ;fwgdWo] ljlzi6Ls/0f tflnsf klg Ps xf] . lzIffsf] 

u'0f:t/ / k|efjsfl/tf clej[l4 ug{ d"Nofª\sg k|0ffnLdf ;'wf/ ug{ cTofjZos  x'G5 . d"Nofª\sg k|0ffnLdf ;'wf/ 

ug{ kf7\oj|mdsf ;Dk"0f{ kIf ;d]6]/ d"Nofª\sgsf ;fwg lgdf{0f u/L d"Nofª\sg k|lj|mof ;~rfng ug'{ ckl/xfo{ x'G5 

. xfd|f] jt{dfg z}lIfs k|lj|mofdf d"Nofª\sgsf] cleGg cª\usf ¿kdf k/LIffnfO{ lnOg] ul/Psfn] k/LIffsf k|Zgkq 

lgdf{0f ubf{ j}1flgs cfwf/ to u/L k|Zgkq lgdf{0f ug'{ cfjZos 5 . kf7\oj|mdsf p2]Zo k|fKt x'g] u/L 

kf7\oj|mdsf ;a} ljifoj:t' ;d]6]/ kf7\oj|mdåf/f lglb{i6 d"Nofª\sg k|lj|mof ckgfO{ d"Nofª\sgsf ;fwgsf ¿kdf 

k/LIffnfO{ k|of]udf Nofpg ljlzi6Ls/0f tflnsfsf] dxŒjk"0f{ e"ldsf /x]sf] x'G5 . k/LIff ;~rfng ug'{cufl8 

k|Zgkqx¿ agfpg s'g PsfO jf kf7af6 s'g k|sf/sf] k|Zg ;f]Wg], s'g p2]Zosf] d"Nofª\sg ug{ s:tf] k|Zgkq 

tof/ ug]{, k|Zgsf] cª\sef/ slt lbg], s'g k|ZgnfO{ slt ;do lgwf{/0f ug]{ h:tf s'/fx¿ ljrf/ u/]/ k|Zgkq 

lgdf{0f ug'{ cfjZos x'G5 . x/]s lzIfsn] k/LIff ;~rfng ug'{cufl8 log} s'/fx¿ ;dfj]z u/L tof/ kfl/g] 

tflnsfnfO{ g} ljlzi6Ls/0f tflnsf elgG5 . o;/L pSt tflnsfdf kf7\oj|mdsf p2]Zo, ljifoj:t', cª\sef/, 

;do cflbnfO{ Vofn u/L s'g PsfOaf6 s:tf / sltcf]6f k|Zgx¿ ;f]Wg], s'g k|Zg slt cª\ssf] /fVg], s'g 

k|ZgnfO{ slt ;do lbg], k|Zgdf 1fg, l;k / pRr IfdtfnfO{  s'gs'g k|Zgaf6 d"Nofª\sg ug]{ h:tf s'/fx¿ 

;dfj]z ul/Psf] x'G5 . ljlzi6Ls/0f tflnsfs} cª\usf ¿kdf gd'gf k|Zgkq lgdf{0fstf{ / pQ/k'l:tsf k/LIfssf 

nflu Psk|sf/sf] dfu{bz{g jf lgb]{lzsf klg xf] . To:t} lzIfsn] lzIf0f k|lj|mof ;~rfng ubf{ klg s'g ljifoj:t', 

s;/L, s'g} p2]Zo k|flKtsf nflu ug]{ eGg] dfu{lgb]{z klg o; tflnsfn] ub{5 . 

ljlzi6Ls/0f tflnsfn] lzIfs tyf k|Zgkq lgdf{0fstf{nfO{ k|Zgkq agfpFbf ljifoj:t'ut j}wtf lgwf{/0f ug{ 

lgb]{lzt ub{5 . o;df kf7\oj|mdsf] p2]Zocg';f/ k/LIff / d"Nofª\sg k|ltlalDat ePsf] x'G5 . k/LIffsf] :t/Ls/0f, 

Ps¿ktf / j}wtfsf nflu ljlzi6Ls/0f tflnsfn] dxŒjk"0f{ e"ldsf v]n]sf] x'G5 . o;df l;sfOsf ;Dk"0f{ kIf 

;d]l6Psf] x'g'k5{ . kf7\oj|mdsf ;Dk"0f{ If]qaf6 k|Zg lgdf{0f ug{ ;lsg] u/L 1fg, af]w / cGo txsf k|Zgx¿ 

lgdf{0f ug{, k|Zg ;ª\Vof, ;do / cª\s lgwf{/0f ug{ tyf d"Nofª\sg ug]{ k|lj|mof;d]tnfO{ lgwf{/0f ug]{ x'Fbf 

lzIf0fl;sfO k|lj|mofdf o;sf] cxd\ e"ldsf /x]sf] x'G5 . 

s'g} klg ljifosf] kf7\oj|mdcg';f/ ljlzi6Ls/0f tflnsf km/skm/s 9ª\un] lgdf{0f ug{ ;lsG5 . To:t} ljifosf] 

k|s[lt / :j¿kcg';f/ klg ljlzi6Ls/0f tflnsf lgdf{0f x'g ;Sb5  .;fdfGotof ljlzi6Ls/0f tflnsf lgdf{0f ubf{ 

lgDglnlvt s'/fx¿df ljrf/ ug{ cfjZos x'G5 M 

-s_ kf7\oj|mdsf ;Ifdtf /  l;sfO pknlAw 

-v_ ljifoj:t'sf If]q jf l;sfOsf ljwfx¿ 

-u_ l;sfOsf ljleGg txx¿ ;DemfO, a'emfO, k|of]u, ljZn]if0f, d"Nofª\sg, l;h{gf cflb kIfx¿ 

-3_ kf7\oj|mdåf/f lglb{i6 kf7\o306f / ljifoj:t'sf] Jofkstf 

-ª_ k/LIffdf ;f]lwg] k|Zgsf k|sf/, k|Zgsf :t/, k|Zgsf ;ª\Vof, cª\sef/ / ;do  

-r_ k|Zg lgdf{0fsf nflu :ki6 dfu{lgb]{zg 

-5_ ljlzi6Ls/0f tflnsfcg';f/sf] gd'gf k|Zgkq lgdf{0f 

!=@ k|Zgkq lgdf{0f ubf{ k|of]u x'g] d'Vo lj|mofkbx¿ 

k|Zgkq lgdf{0f ubf{ k|ZgnfO{ dfkgLo, j:t'ut, ljZj;gLo / j}w agfpg w]/} s'/fdf Wofg k'¥ofpg cfjZos  

x'G5 . To:t} 1fg, af]w / cGo txsf k|Zgx¿ lgdf{0f ug{ lglZrt lj|mofkbx¿sf] k|of]u ug'{kb{5 . k|Zgkq lgdf{0f 

ubf{ s'g txsf] k|Zgdf s:tf lj|mofkb k|of]u ug{ pko'St x'G5 eGg] ;fdfGo hfgsf/Lsf nflu oxfF s]xL lj|mofx¿ 

pbfx/0f:j¿k k|:t't ul/Psf] 5 M 
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-s_ ;+1fg txsf lj|mofkbx¿ M 1fg txsf k|Zgdf ljifoj:t'sf] 1fgnfO{ hf]8 lbOg] x'gfn] To;cg'¿ksf 

lj|mofkbx¿ /fvL k|Zg lgdf{0f ug'{kb{5 . h:t}M kl/efiff lbg', klxrfg ug'{, ;"rL tof/ ug'{, gfd lbg', 

/]vfª\sg ug'{, pNn]v ug'{, lrGg', PsfO atfpg', ;"q n]Vg' cflb .   

-v_ af]w txsf lj|mofkbx¿ M s'g} klg ljifo cWoog u/]/, ;'g]/ jf k9]/ a'em\g] Ifdtf jf l;k g} af]w ug]{ 

Ifdtf klg o;df kb{5 . t;y{ o; vfnsf] k|Zgdf 5'6\ofpg', b]vfpg', 5fGg', ;"lrt ug'{, ¿kfGt/ 

ug'{,pbfx/0f lbg', JofVof ug'{, t'ngf ug'{, cYof{pg', lgisif{ lbg', ;f/f+z tof/ ug'{, juL{s/0f ug'{ h:tf 

lj|mofkb k|of]u u/L k|Zg lgdf{0f ug'{kb{5 . 

-u_ k|of]u txsf lj|mofkbx?  l;s]sf 1fg, l;knfO{ kl/lrt / gofF cj:yfdf k|of]u ug]{ vfnsf ;Ifdtf dfkg 

ug]{ sfo{ o; txdf ul/G5 . o; txdf ;fdfGo 1fg / a'em\g]eGbf pRr bIftf / Ifdtfsf] k/LIf0f ul/g] 

x'gfn] To:t} vfnsf lj|mofkbx¿ k|Zgkqdf k|of]u ul/g'kb{5 . h:t}M kl/jt{g ug'{, k|bz{g ug'{, tof/ ug'{, 

;DaGw b]vfpg', ;dfwfg ug'{, 5gf]6 ug'{, lrq agfpg' cflb . 

-u_ pRr bIftf txsf lj|mofkbx?  M pRr bIftfcGtu{t ljZn]if0f, d"Nof+sg / l;hgf{;Fu ;DalGwt kIfx? 

kb{5g\ . o; txsf bIftfsf] nflu tYo / cfwf/df ljZn]if0f / lje]b 5'6\ofpg', ;+u7g ug'{, ;antf tyf 

b'j{ntf cyf{t\ u'0f bf]; 5'6\ofpg', ts{ lbg', ljj]rgf ug'{, ;dLIff ug'{, k'li6 ug'{, d"Nofª\sg ug'{, 5nkmn 

ug'{, /rgf ug'{, ;dfnf]rgf ug'{, k|dfl0ft ug'{, ;'emfj lbg', l;kmfl/; ug'{, of]hgf tyf 9fFrf tof/ ug'{, 

ljrf/ k|:t't ug{', l;h{gf ug'{ cflb lj|mofkbx? k|of]u ug{ ;lsG5 . 

!=# ljlzi6Ls/0f tflnsfsf] k|of]u 

jt{dfg d"Nofª\sg k|lj|mofdf ;'wf/ u/L kf7\oj|mdsf] d"Nofª\sg k|lj|mofcg'¿k ljlzi6Ls/0f tflnsf lgdf{0f ug]{, 

ljlzi6Ls/0f tflnsfcg';f/ gd'gf k|Zgkq agfO{ k/LIff ;~rfng ug]{ / tbg'¿k lzIfs tyf ljBfyL{x¿df o;sf] 

k|of]u ug]{  afgL ljsf; ug'{ cfjZos 5 5 . kf7\oj|mdn] lgwf{/0f u/]sf ;Ifdtf tyf l;sfO pknlAw k"/f ug{sf 

nflu ljlzi6Ls/0f tflnsfsf] lgdf{0f u/L ;Dk"0f{ kIfnfO{ ;d]6\g] u/L k|Zgkq tof/ u/L ;f]cg';f/ k/LIff ;~rfng 

Pjd\ k/LIf0f / k[i7kf]if0f ug{ cTofjZos ePsfn] o;sf] dxŒjk"0f{ e"ldsf /x]sf] 5 . d"ntM ljlzi6Ls/0f 

tflnsfsf] k|of]u lgDglnlvt sfo{sf nflu ug{ ;lsG5 M 

-s_ z}Ifl0fs of]hgf lgdf{0f ug{ M x/]s k|sf/sf z}Ifl0fs of]hgf lgdf{0f ug{ ljlzi6Ls/0f tflnsfn] ;xof]u 

k'¥ofpF5 . ljBfyL{x¿sf l;sfOpknlAw dfkg ug{ cfjZos d"Nofª\sg ;fdu|L s:tf] vfnsf], slt ef/sf] x'g] / 

k|Zg ;ª\Vof h:tf s'/fx¿ cWofkg of]hgfdf /fVg ;xof]u k'Ug] x'Fbf d"Nofª\sgsf] cleGg cª\usf ¿kdf of]hgf 

lgdf{0fdf ljlzi6Ls/0f tflnsfsf] k|of]u ug'{kb{5 . 

-v_ pko'St k|Zgkqsf] lgdf{0f ug{ M Ps lglZrt ;dofjlwleq kf7\oj|md jf p2]Zocg'¿k ljBfyL{x¿sf 

l;sfOpknlAw d"Nofª\sg ug{ l;sfOsf txcg'¿k k|Zgx¿sf lglZrt k|sf/ / ;ª\Vof, cª\sef/, ;do cflb 

o;df /flvg] x'Fbf k|Zgkq lgdf{0f ug{ o;n] dfu{bz{g u5{  . t;y{ d"Nofª\sgnfO{ k|efjsf/L ¿kdf k|of]u ug{ 

o;n] ;3fpF5 . 

-u_ ljBfyL{x¿sf] l;sfOdf clej[l4 ug{ M o; tflnsfdf l;sfOsf s'gs'g txx¿nfO{ dfkg ug]{ / x/]s txsf 

l;sfOnfO{ slt ef/ lbg] eGg] h:tf s'/fx¿ /flvPsf] x'G5 . t;y{ lzIf0fl;sfO lj|mofsnfkdf oL s'/fx¿nfO{ 

;fd~h:o sfod u/fpg ;lsPdf ljBfyL{sf] l;sfOdf clej[l4 x'g hfG5 . o; tflnsfdf 1fg, af]w, Jofjxfl/s 

l;k tyf pRr bIftf dfkg ug]{ u/L k|Zgx¿ txcg';f/ lgdf{0f ug]{ k|lj|mof pNn]v x'g] x'gfn] klg o; tflnsfsf] 

k|of]u ;xL ¿kdf ePdf ljBfyL{sf] l;sfO clej[l4df ;xof]u k'Ug hfG5 . 

!=$ ljBfyL{ d"Nofª\sg k|lj|mof 

ljBfno txdf ljBfyL{ pknlAw d"Nofª\sgsf nflu lgdf{0ffTds d"Nofª\sg k|lj|mof cjnDag u/L l;sfO ;'wf/sf 

nflu lg/Gt/ k[i7kf]if0f k|bfg ul/g'sf ;fy} lg0f{ofTds d"Nofª\sg k|lj|mofnfO{ cjnDag u/L ljBfyL{sf] l;sfO:t/ 

lgwf{/0f ug'{k5{ . 

-s_ cfGtl/s  d"Nofª\sg  

-c_ cfGtl/s  d"Nofª\sg lgdf{0ffTds d"Nofª\sgsf ¿kdf ;DkGg ug'{kg]{ 5 . lgdf{0ffTds 

d"Nofª\sgsf] d'Vo p2]Zo ljBfyL{x¿sf] l;sfO :t/df ;'wf/ ug'{ xf] . o;sf nflu lzIfsn] ljBfyL{sf] 

JolStut l;sfO pknlAwsf cfwf/df k6s k6s l;sfO cj;/ k|bfg ug{'kg]{ 5 . ljBfno txsf] 

lgdf{0ffTds d"Nofª\sgdf sIffut l;sfO ;xhLs/0fsf] cleGg cª\usf ¿kdf u[xsfo{, sIffsfo{, 

k|of]ufTds tyf kl/of]hgf sfo{, ;fd'bflos sfo{, cltl/St lj|mofsnfk, PsfO k/LIff, dfl;s tyf 
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q}dfl;s k/LIff h:tf d"Nofª\sgsf ;fwgx¿sf] k|of]u ug{ ;lsg] 5 . o:tf] d"Nofª\sgdf ljBfyL{sf] 

clen]v /fvL l;sfO cj:yf olsg u/L ;'wf/fTds tyf pkrf/fTds l;sfOaf6 ;'wf/ ug]{ kIfdf 

hf]8 lbOg] 5 . ljz]if l;sfO cfjZostf ePsf ljBfyL{sf nflu ljifo lzIfsn] g} pko'St k|lj|mof 

ckgfO{ d"Nofª\sg ug'{kg]{ 5 .  

lgdf{0ffTds d"Nofª\sgsf] glthfnfO{ clen]vLs/0f u/L ljifout kf7\oj|mddf tf]lsPcg';f/ lglZrt 

ef/ cfGtl/s d"Nofª\sgsf ¿kdf lg0f{ofTds d"Nofª\sgdf ;dfj]z ul/g] 5 .  

-cf_ k|To]s clgjfo{ tyf  P]lR5s ljifodf ljBfnon] k|of]ufTds÷Jofjxfl/s cEof; u/fpg'kg]{ 5 . 

o:tf] cEof;df ljifosf] k|s[ltcg';f/ k|of]ufTds sfo{, kl/of]hgf sfo{, ;fd'bflos sfo{, 

k|:t'tLs/0f, vf]h, OG6g{l;k, cltl/St sfo{snfk, v]ns'b, ufog cflb sfo{ u/fpg ;lsg] 5 . t/ 

;DalGwt ljifosf] kf7\oqmdn] tf]s]cg';f/sf] k|of]ufTds cEof; u/fpg'kg]{ 5 . 

-v_ lg0f{ofTds d"Nofª\sg M dfWolds tx -sIff !! / !@_ df lgDgfg';f/ lg0f{ofTds d"Nofª\sg ug'{kg]{ 5 M 

-c_ lgdf{0ffTds d"Nofª\sgaf6 k|fKt glthfsf cfwf/df cfGtl/s d"Nofª\sgsf] / clGtd÷afx\o 

k/LIffsf] glthfsf cfwf/df tf]lsPsf] ef/ ;dfj]z u/L ljBfyL{sf] lg0f{ofTds d"Nofª\sg ul/g] 5 .  

-cf_ cfGtl/s d"Nofª\sgsf ¿kdf lgdf{0ffTds d"Nofª\sgaf6 k|fKt ljifout kf7\oj|mddf 

tf]lsPcg';f/sf]] ef/sf] d"Nofª\sg lg0f{ofTds d"Nofª\sgdf ;dfj]z ul/g] 5 . cfGtl/s 

d"Nofª\sgsf tl/sfdf ljifout ljljwtf x'g ;Sg] eP klg lgDglnlvt kIfsf] d"Nofª\sg ;a} 

ljifodf ;dfj]z x'g] 5 M 

 sIff ;xeflutfsf] d"Nofª\sg M ljBfyL{sf] lgoldttf -pkl:ylt_ / sIff lj|mofsnfkdf 

;xeflutfsf] clen]vsf cfwf/df ul/Psf] d"Nofª\sg . 

 q}dfl;s k/LIffx¿sf cª\ssf cfwf/df k|fKt cª\s M klxnf] q}dfl;s cjlwe/df k7gkf7g 

ePsf ljifoj:t'af6 klxnf] q}dfl;s k/LIff ;~rfng ul/g] 5 eg] klxnf] / bf];|f] q}dfl;s 

cjlwe/df k7gkf7g ePsf ljifoj:t'af6 bf];|f] q}dfl;s k/LIff ;~rfng ul/g] 5 . 

 k|of]ufTds tyf kl/of]hgf sfo{sf] d"Nofª\sg  

 ljifout kf7\oj|mddf tf]lsPcg';f/sf cGo cfwf/x¿  

-O_ sIff !! / !@ df ljifout kf7\oj|mddf tf]lsPcg';f/sf] ef/sf] afx\o  k/LIff x'g] 5 . afx\o 

k/LIff ;}¢flGts jf ;}¢flGts / k|of]ufTds b'j} x'g ;Sg] 5 . ;}¢flGts / k|of]ufTds b'j} 

d"Nofª\sgsf] 5'6\6f5'6\6} >]0fLs/0f ul/g] 5 . 

-O{_ k|of]ufTds, ;}4flGts tyf cGo kIfsf] d"Nofª\sgsf] ef/, ljlw tyf ;fwg ;DalGwt ljifosf] 

kf7\oj|mddf pNn]v ePcg';f/ x'g'kg{] 5 . ;}4flGts kIfsf] d"Nofª\sgsf nflu ljlzi6Ls/0f tflnsf 

lgdf{0f ul/g] 5 . ;}4flGts d"Nofª\sgsf  nflu  &% k|ltzt ef/ x'g] ljifodf # 306f / %) k|ltzt 

ef/ x'g] ljifodf @ 306f ;do lgwf{/0f ul/g] 5 .  

-p_ k/LIffdf ljz]if l;sfO cfjZostf ePsf ljBfyL{x¿nfO{ s]xL vf; vf; ljifox¿df c¿ 

;fwf/0f ljBfyL{x¿nfO{ lbOg] k|ZgeGbf cnu k|Zg agfO{ d"Nofª\sg ug'{kg]{ 5 . ljz]if cfjZostf 

ePsf ljBfyL{sf nflu k/LIffsf] ;do yk ug{ ;lsg] 5 . ljBfyL{ d"Nofª\sg ubf{ lzIfsn] ckfª\utf 

ePsf / ljz]if l;sfO cfjZostf ePsf ljBfyL{x¿sf nflu pko'St x'g] d"Nofª\sg k|lj|mof 

ckgfpg'kg]{  5 . 

-pm_ ljBfyL{sf] :t/ lgwf{/0f (Grading) cIf/fª\sg k4ltaf6 x'g] 5 . 
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@= ef}lts lj1fg (Physics) 

Test Specification Chart 2078 
Grade : 12          Subject :  Physics Theory  (Phy. 102)  
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1 Mechanics 22 

2 2 2 10 5 5 1 5 1 8  3 1 2 10 1 8 1 1 3 15 1 8 

13 
2 Heat and Thermodynamics 12 7 
3 Wave and Optics 26 15 
4 Electricity and Magnetism 35 21 
5 Modern Physics 33 19 

Total Marks 128 12 18 21 24 75 

 
Item format plan 

S.N. Type of item Score per 

item 

Total item Total score Time 

1 Multiple Choice Questions 1 11 11 25 minutes 

2 Short Question Answer 5 8 40 155 minutes 

3 Long Question Answer 8 3 24 

Grand Total  22 75 3 hours 

Remarks: 
 Item format in composite should be met as per the specification grid.  

 Designated weightage in the combined cell should be met, but ±3 marks variation will be allowed within a unit/content area. But no unit can be nil. 

 In the case of SAQ and LAQ, these should ensure that 1 mark will be assigned per element expected as correct response.  

 The distribution of cognitive domain of questions should be nearly 15% knowledge/remembering, 25% understanding, 30% applying and 30% higher ability level, but ±5 

percent variation will be allowed in overall question set. 

 SAQ and LAQ can be structured (have two or more sub-items). SAQ and LAQ can be distributed to two or more cognitive behaviors.  

 In such case these will be added to their respective cognitive behavior. In sum the distribution of cognitive behavior should be approximately to the required distribution. In 

case of SAQ there will be 2 "OR" questions and in case of LAQ there will be 2 "OR" question. 
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Model Question 

School Leaving Certificate Examination  

2078 

Grade: XII  Subject: Physics    Subject Code: 102 

Full marks: 75 (11 marks Obj+ 64 marks Sub)   Time: 3 Hours 

 

Group A: Multiple Choice Questions (11×1 = 11)   Time 25 Minutes 

 

Tick the correct answer. 

1. Which of the following is a correct formula for calculating radius of gyration of a rotating object? 

A) k
2
= I/m   B)  k= I/m C)  k= m/I D) k = (I/m)

2
  

2. A horizontal stream of air is blown under one of the pans of a beam 

balance as shown in the figure.  What will be the effect of this on the 

pan?  

 

 

 

A)  goes up.  B) goes down  C) remains unaffected  D) rotates  

3. What will be the height of a capillary on the surface of the Moon if it is „h‟ on Earth? 

A) h  B) h/6  C) 6h  D) zero    

4. What is the coefficient of performance of an ideal refrigerator working between ice point and room temperature 

(27
o
C)? 

A) 0  B) 0.1  C) 1  D) 10    

5. A thermodynamic system is taken from A to B via C and then returned to A via D as shown in the p-V diagram.  

 

 

 

 

 

The area of which segment of the graph represents the total work done by the system?   

A)  P1ACBP2P1  B) ACBB‟A‟A  C) ACBDA  D) ADBB‟A‟A 

6. Which one of the following directly affects the quality of sound?    

A) shape of the source B) frequency  C) intensity  D) wave form  

A 

D 

C 

P2 B 

P1 

B‟ A‟ 
 

V 

p 
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7. A diffraction pattern is obtained using a beam of red light. What will be the effect on the diffraction pattern if 

the red light is replaced with white light?  

A) All bright fringes become white.     

B) All bright fringes, except the central one, become white.  

C) All bright fringes become colourful. 

D) All bright fringes, except the central one, become colourful.  

8. In which one of the following diagrams the currents are related by the equation I1 - I 2 = I 3 - I 4?   

 

 

 

 

 

 

9. A coil having N turns and cross-section area A carries current I. Which physical quantity does the product NIA 

represent? 

A) magnetic flux of the coil   B) magnetic flux density of the coil 

C) magnetic moment of the coil  D) magnetic susceptibility of the coil  

10. What happens to the neutral temperature if the cold junction of a thermocouple is decreased?  

A) increases    B) decreases   

C) remains the same   D) approaches inversion temperature 

11. What is the point where the seismic waves start called?  

A) epicentre  B) hypocentre  C) metacentre  D) seismic centre  

I1 

I2 I3 

I4 

A) 

I1 

I2 I3 

I4 

B) 

I1 

I2 I3 

I4 

C) 

I1 

I2 I3 

I4 

D) 
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Model Question 

School Leaving Certificate Examination  

2078 

Grade: XII  Subject: Physics    Subject Code: 102 

Full marks: 75 (11 marks Obj+ 64 marks Sub)   Time: 3 Hours 

 

Attempt all the questions. 

Group B: Short Answer Questions (8×5 = 40)  

1.  (i) Define „surface tension‟. [1]  

(ii) Establish a relation between surface tension and surface energy of a liquid.  [2]  

(iii) Two spherical rain drops of equal size are falling vertically through air with a certain terminal velocity. If 

these two drops were to coalesce to form a single drop and fall with a new terminal velocity, explain how the 

terminal velocity of the new drop compares to the original terminal velocity.  [2]  

2. Angular speed of a rotating body is inversely proportional to its moment of inertia.  

 (i) Define „moment of inertia‟.        [1]   

(ii) Explain why angular velocity of the Earth increases when it comes closer to the Sun in its orbit.  

[2]    

(iii) If the Earth were to shrink suddenly, what would happened to the length of the day? Give reason.    

        [2]   

OR 

(i) State Bernoulli principle. [1]  

(ii) Derive Bernoulli‟s equation. [2]  

(iii) You can squirt water from a garden hose a considerably greater distance by partially covering the opening 

with your thumb. Explain how this works. [2]  

3.  (i) Define „harmonics‟ in music. [1]  

(ii) Calculate the frequency of a monotonous sound produced by a 30 cm long flute open at both ends and being 

played in the first harmonic. [Velocity of sound in air= 330 ms
-1

] [2]  

(iii) The flute mentioned in question (ii) was being played by a passenger on a stationary bus. The bus then 

moves uniformly. Explain what change in the pitch of the flute sound, if any, a person sitting on a bench at 

the bus park will feel when the bus starts moving. [2]  

4. (i) State the second law of thermodynamics. [1]  

(ii) A refrigerator transfers heat from a cold body to hot body. Does this not violate the second law of 

thermodynamics? Give reason.  [2]  

(iii)  In the given figure, a heat engine absorbs Q1 amount of heat from a source at 

temperature T1 and rejects Q2 amount of heat to a sink at temperature T2 doing 

some external work W.  

 

(a) Obtain an expression for the efficiency of this heat engine.  [1]  

(b) Under what condition does the efficiency of such engine become zero 

percentage, if at all? [1]  

Q1 

Q

2 

T1 

T2 

W 
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5. A student wants to measure the magnetic flux density between the poles of two weak bar magnets mounted on a 

steel yoke as shown in the figure. The magnitude of the flux density is between 

0.02T and 0.04T.  

 (i) Define Magnetic flux density. [1]  

(ii) One way of measuring the magnetic flux density could be the use of a Hall probe. 

Suggest one reason why Hall probe is not a suitable instrument to measure the 

magnetic flux density for the arrangement shown in the above figure.  [1]  

(iii)  Another method of measuring the magnetic flux density for the arrangement shown in the above figure is 

to insert a current-carrying wire between the poles of the magnet. Explain how the magnetic flux density can 

be determined using this method. You are allowed to use any additional apparatus.  [3]  

6. (a) Law of electromagnetic induction can be expressed mathematically as  .  

(b) (i) State what the symbols and [2]  

(ii) Explain the significance of the negative sign. [1]  

(ii) Two identical copper balls are dropped from the same height as 

shown in the figure. Ball P passes through a region of uniform 

horizontal magnetic filed of flux density B.  

Explain why ball P takes longer than ball Q to reach the ground. 

[2]   

 

7. Ultraviolet radiation of frequency 1.5 × 10
15

Hz is incident on the 

surface of an  aluminium plate whose work function is 6.610
-19

J.  

(i) Show that the maximum speed of the electrons emitted from the surface of the aluminium is 8.6 × 10
5
ms

–1
. 

[3]  

(ii) State and explain what change, if any, occurs to the maximum speed of the emitted electrons when the 

intensity of the ultraviolet radiation is increased. [2]   

8. (i) State Bohr‟s postulates of atomic model. [3]  

(ii) The figure shows Lymen series of energy transmission in hydrogen atom.  

Calculate the frequency of a photon emitted by an electron jumping from the 

second excited state to the ground level. [2]  

 

OR 

 

(i) Sketch the symbol of a p-n junction diode and 

indicate the polarity of its ends. [1]  

(ii) Copy the outline of a diode bridge rectifier and 

complete it by adding diodes in the gaps. [2]  

 

 

 

N 

x    x    x    

x 

x    x    x    

x 

B 

Ball P Ball Q 

h 
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(ii)  Explain what will happen if one of the four diodes is damaged so that it stops conducting totally in any 

direction. Sketch a graph to show how the pd across the Load RL
 
would vary with time in this situation. [2]  

Section C: Long Answer Questions. (3 × 8 = 24) 

9.  Earthquake sets rocks and buildings in motion. When a rock is subjected to compression, a restoring force 

develops inside it. This restoring force is given by an equation F= -Ax where x is displacement and A is a 

constant.  

(i) Prove that this force will make the rock vibrate with simple harmonic motion. [2]  

(ii) Show that the speed of an object undergoing simple harmonic motion is given by the expression v = 

(A
2
-x

2
) where the symbols carry standard meanings. [2]  

(ii) Calculate the maximum speed of a building shaken by S-waves of 21Hz and amplitude 0.05m. [2]  

(iv) Explain why tall buildings are more susceptible to damage by S-waves which generally have low 

frequency. [2]  

10. The figure below shows the variation of emf and current with time in a 

typical LRC circuit.  

(i) Explain whether the phase constant is postive or negative.  [2]  

(ii) Sketch a phasor diagram for the given case. [2]  

(iii) Is the circuit more inductive or capacitive? Explain. [2]  

(iv) To increse the rate at which energy is transferred to the resistive 

load, should the inductance be increased or decreased? Justify your answer. [2]  

OR 

A student sets up a circuit as shown in the figure given below 

to measure the emf of a test cell.  

 

 

 

(a) Explain why he is unable to find a balance point and state 

the change he must make in order to achieve the balance.               [2]                                                                                                

(b) State how he would recognize the balance point.          [1]  

(c) He obtained the balance point for distance 37.5cm using standard cell of emf 1.50V. And for the test cell, 

the balance distance AB was 25.0 cm. Calculate the emf of the test cell.            [2]  

(d) He could have used an ordinary voltmeter to measure the emf of the test cell directly. The student, 

however, argues that the above instrument is more precise than an ordinary voltmeter. Justify his logic. [2]  

11. (a) Explain what is meant by quantization of charge.                                                [2] 

(b) In a Millikan‟s oil drop experiment, an oil drop of weight 1.5 x 10
- 14

N is held stationary between   plates 

10mm apart by applying a p.d. of 470V between the plates. 
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(i)  State the condition necessary for the drop to remain stationary.  Also, sketch the forces acting on the oil 

drop.    [2]  

(ii) Calculate the charge on the oil-drop.                                                                            [2]  

(iii) Explain what would happen if the above oil drop is suddenly struck by a stray alpha particle.  [2]  

               OR 

(a) Derive an expression N= Noe
-t

 for a radioactive process where the symbols carry their standard meanings. 

[3]  

(b) A student measured the activity of a sample of 

radioactive rock. Her results are presented in the 

graph.  

(i) Explain why the data are scattered. [1]  

(ii) Determine the half-life of this sample. [2]  

(iii) How will the shape of this curve will change 

if she repeats the experiment with a sample 

with a larger decay constant. Give reason to 

your answer. [2]  
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Appendix 

Text Matrix 

Area Load MCQ SA LA   

Mechanics 13 3 2 0 

 Heat and thermodynamics 7 2 1 0 

 Waves and optics 15 2 1 1 

 Electricity and magnetism 21 3 2 1 

 Modern physics 19 1 2 1 

 
      Section A Question K U A HA 

  1 1       

  2   1     

  3     1   

  4     1   

  5   1     

  6   1     

  7       1 

  8     1   

  9   1     

  10   1     

  11 1       

  Total 2 5 3 1 

 

          

 

Question 

No K U A HA 

Section B 1 1 2   2 

  2 1   2 2 

  2 1   2 2 

  4 1 2 1 1 

  5 1     4 

  6 2 1   2 

  7     3 2 

  8 3   2   

    10 5 10 15 

Section C Question K U A H 

  9     4 4 

  10   4 2 2 

  11   4 2 2 

    0 8 8 8 

 

Note: This is the test matrix prepared for this set only but for other sets of questions test matrix 

may be varied. 
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#= n]vfljlw (Accounting) 

n]vfljlw [Acc.104]         sIffM !@ 

k"0ff{ª\sM &%              ;doM # 306f  

 ljlzli6s/0f tflnsf 

efu ! ;}4flGts tyf cEof; 
ljifo If]q 
 

pkIf]q 

k|Zg ;+Vof / ;+1fg c+s ljefhg  
clt 5f]6f] 

k|Zg 

-1fg / af]w 

tx_ 

5f]6f] k|Zg 

- af]w / k|of]u 

tx_ 

 

nfdf] k|Zg 

-k|of]u / 

pRr 

bIftf tx_ 

hDdf clt 5f]6f] 

k|Zg 
5f]6f] 

k|Zg 
nfdf] 

k|Zg 
hDdf pkIf]qut 

ef/ 

s"n 

kf7\oef/ 

Th Nr Th Nr Th Nr Th Nr Th Nr Th Nr 

!= skf]{/]6 n]vfljlw 

 
1. skf]{/]6 cjwf/0ff   

@ 

      

$ 

 

 

@ 

 

      

!@ 

^ !( 

2. ;]o/sf] n]vfljlw    

@ 

 

    %±@++± 

# 

  * 

3. C0fkqsf] n]vfljlw         % 

@= ljQLo ljj/0fx? 
 

4. clGtd vftf k/Dk/fut   

! 

 

 

@ 

  

@ 

   

! 

 

& 

 

! 

 

@ 

  

!) 

 *  

 

@( 

@$ %) 

5. clGtd vftf cfw'lgs     

6. sfo{ ljj/0f     * 

7. gub k|jfx ljj/0f    !    * !* 

#= nfut n]vfljlw 8. nfut n]vfljlw cjwf/0ff  

@ 

  

! 

    

 

( 

@  %     

 

@* 

$  

 

$! 

9. nfut cjwf/0ff tyf 

pkl/Joo 

        @ 

10. ;fdu|L tyf  ;fdu|L lgoGq0f 

n]vfljlw 

 

! 

 

! 

!   ! !  

   @±# 

  !) 

11. >d n]vfljlw  

! 

  !   !    

@±# 

  $ 

12. nfut lx;fa ldnfg ljj/0f          % 

13. nfut ljj/0f     !      * !^ 

$=n]vfljwLdf 

sDKo'6/  
14. n]vfljwLdf sDKo'6/ k|0ffnL !  !     

@ 

 

! 

  

% 

    

^ 

 

!) 

 

!) 

hDdf * # *  # @@ * # $)  @$ &% !@) !@) 

efu @ kl/of]hgf sfo{ @%  $) 

hDdf  !))  !^) 

Note:  Th=Theory; Nr = Numerical
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b|i6Jo M 

!= clt 5f]6f] k|Zg ! cª\ssf] x'g] 5g\\ / ;s];Dd ;a} PsfO ;d]l6g] u/L !! k|Zg /xg] 5g\\ . 

@= 5f]6f] k|Zg % cª\ssf x'g] 5g\\ /  ;s];Dd ;a} PsfOsf] k|ltlglwTj x'g] u/L * k|Zg /xg] 5g\\ ;fy} 

s'g} b'O{ k|Zgdf ljsNk lbg ;lsg] 5 . 

#= nfdf] k|Zg * cª\ssf x'g] 5g\\ / # k|Zg /xg] 5g\ ;fy} s'g} Ps k|Zgdf ljsNk lbg ;lsg] 5 . 

$= 1fg txdf k"0ff{ª\ssf @) k|ltztdf ga9\g] u/L, pRr bIftf txdf @) k|ltztdf g36\g] u/L / 

cGo txdf cfjZostf cg';f/ k|Zg /xg] 5g\\ . 

%=;a}  txdf ljifosf] k|s[lt / cfjZostfg';f/ clt 5f]6f, 5f]6f / nfdf k|Zg /xg] 5g\\ . ;a} txdf 

;a} vfnsf k|Zg /xg'kg]{ clgjfo{tf x'Fb}g . pRr bIftf cGtu{t ljZn]if0f, d"Nofª\sg / l;h{gfTds 

txsf k|Zg /xg] 5g\ . 

k|Zgsf k|sf/ 

k|Zgsf k|sf/ ;f]lwg] 

;ª\Vof 

k"0ff{ª\s 

clt ;ª\lIfKt k|Zg !! !! 

5f]6f pQ/ cfpg] k|Zg * $) 

Nffdf] pQ/ cfpg] k|Zg #  @$ 

hDdf @@ &% 
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n]vfljlw (Accounting) [Acc.104] 
 

 

sIff (Grade): XII 

;do (Time): 3 Hrs.       k"0ff{ª\s (Full Marks): 75 

 

k/LIffyL{n] ;s];Dd cfkm\g} zAbdf df}lns pQ/ lbg'kg]{ 5 . lsgf/fdf lbOPsf cª\sn] k"0f{fª\snfO{ hgfpF5 . 

(The candidates are required to give their answers in their own words as far as practicable. The 

figures in the margin indicate full marks.)  
 

;d"x s -Group A) 

clt ;ª\lIfKt pQ/fTds k|Zgx¿ (Very Short Answer Questions) 

;a} k|Zgx¿ xn ug'{xf];\ (Attempt All Questions)      (11 × 1 = 11) 

1. ;fj{hlgs sDkgLsf s'g} b'O{ ljz]iftf n]Vg'xf];\ . (Write any two features of public company.) 

2. clws[t k'FhL eGgfn] s] a'‰g'x'G5 < (What do you mean by authorized capital?) 

3. ljQLo ljj/0fsf] cy{ n]Vg'xf];\ . (Write the meaning of financial statement.) 

4. k|lj|mof nfut ljlw eg]sf] s] xf] < (What is process costing?) 

5. pkl/Aoo afF8kmfF8sf] cy{ n]Vg'xf];\ . (Write the meaning of allocation of overhead.)  

6. e08f/]sf s'g} b'O{ st{Jo pNn]v ug'{xf];\ . (List out any two duties of store-keeper.) 

7. ;do Hofnfb/ k|0ffnL eg]sf] s] xf] < (What is time rate wage system?) 

8. n]vfljlwdf sDKo'6/ k|0ffnLsf] s'g} b'O{ ;Ldf pNn]v ug'{xf];\ . (State any two limitations of computer 

system in accounting.) 

9. cu|Ld aLdf ?=@,))) vr{ ePsf] ;dfof]hg k|ljli6 tof/ kfg'{xf];\ . (Prepare adjustment entry of prepaid 

insurance expired Rs. 2,000.) 

10. tn lbOPsf ;"rgfsf cfwf/df ck|ToIf ljlwaf6 ;+rfng ls|ofsnfksf] gub k|jfx lgsfNg'xf];\ . (From the 

following information calculate cash flow from operating activities under indirect 

method.)  

v'b cfDbfgL (Net income): Rs. 40,000 

rfFn' ;DklQdf j[l4 (Increase in current assets): Rs. 5,000 

u}/ ;~rfng vr{ (Non-operating expenses) Rs. 10,000 

11. olb  jflif{s kl/df0f !,)),))) PsfO / cfbz{ cfb]z kl/df0f @),))) PsfO eP cfb]z ;+Vof kQf nufpg'xf];\ . (If 

annual requirements is 1,00,000 units and economic order quantity 20,000 units then find 

out number of order.)  
 

 

 

;d"x v (Group B) 

;ª\lIfKt pQ/fTds k|Zgx¿ (Short Answer Questions) 

 

;a} k|Zg xn ug'{xf];\ . (Attempt All Questions.)    ( 8 × 5 = 40 ) 

12. s'g} Ps sDkgLn] %Ü lk|ldoddf ?=!)) b/sf ^,))) lsQf ;]o/ hf/L u¥of] . e'StfgL lgDgfg';f/ x'g] 5 (A 

company issued 6,000 shares of Rs 100 each  at 5% premium. The money was payable as 

follows): 

cfj]bgdf (On application) …………………………………..Rs 30 

afF8kmfF6df (On allotment)……………………. ……………..Rs 50 

k|yd tyf clGtd ls:tfdf (On first and final call)………………Rs.25 
!),))) lsQf ;]o/sf nfuL cfj]bg k|fKt eof] . ;a} cfj]bsnfO{ ;dfg'kflts b/df ;]o/ afF8kmfF8 ul/of] . cfj]bgdf 

a9L e'StfgL k|fKt /sd afF8kmfF6df k|of]u ul/of] . ;a} ls:tfsf] /sd dfu ul/of] / k|fKt eof] . (Application 

were received for 10,000 shares. Share were allotted on pro rata basis. Excess application 
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money were utilized towards the money due on allotment. All calls were duly made and 

received) 

tof/ kfg'{xf];\ (Required):  hg{n k|ljli6 (Journal entry for)    (1.5+2+1.5=5) 
s= ;]o/ cfj]bg (Share application) 

v= ;]o/ afF8kmfF6 (Share allotment)  

u=  k|yd / clGtd ls:tf (Share first and final call)      
 

cyjf(or), 
 

? !)) k|ltlsQf d"No ePsf] %% 5'6df hf/L u/]sf] ;]o/ dWo] @%) lsQfsf] ;]o/wgLn] clGtd ls:tf /sd ?= #% 

r'Stf gu/]sf]n] lghsf] ;]o/ hkmt ul/of] . sDkgLn] pSt hkmt ;]o/ ? !!) k'/} e'StfgL x'g] u/L k'gM hf/L u¥of] . 

(A shareholder holding 250 shares of Rs.100 each issued at 5 % discount fails to pay final 

call money Rs. 35. His shares were forfeited, the company reissued those forfeited shares 

@ Rs. 110 as fully paid.)  

tof/ kfg'{xf];\ (Required):  hg{n k|ljli6 (Journal entry for)     (1.5+1.5+1+1=5) 

s=clGtd ls:tf (FFFFinal call)  

v=;]o/ hkmt (Share forfeiture ) 

u=;]o/ k'gM hf/L (Share re-issue)  

घ.x:tfGt/0f (Transfer)      

 

13. A) cofG; s=ln=n] cf/a s=ln sf] lgDgfg';f/sf] ;DklQ lnof] (Ayaansh Co. ltd took over the following 

assets of Aarab Co. Ltd.): 

d]l;g/L (Machinery)…………….. Rs. 2,00,000 

kmlg{r/ (Furniture) ……………….Rs. 50,000 

df}Hbft (Stock) …………………...Rs. 1,00,000 

sDkgLn] !)Ü 5'6df ?=!)) b/sf] %,))) lsQf ;]o/ hf/L ul/ vl/b afktsf] /sd e'StfgL u¥of] . (The 

company paid the purchase consideration by issuing 5,000 shares of Rs 100 each at 10% 

discount.) 

tof/ kfg'{xf];\ (Required): ;DklQ vl/b / ;]o/ hf/Lsf] hg{n k|ljli6 (Journal entry for purchase of 

assets and issue of share)       (1+1=2) 

 

B) Pp6f sDkgLn] !) jif{ kl5 !)Ü cltl/Q /sd ;lxt e'StfgL ug]{ u/L ?=!))) b/sf @)) lsQf *Ü C0fkq c+lst 

d"Nodf hf/L u¥of] . (A co. ltd. issued 200,8% debentures of Rs 1,000 each  at par and 

redeemable at 10% premium after 10 years.) 

tof/ kfg'{xf];\ (Required):  C0fkq hf/L / e'StfgLsf ef}r/x? (Journal entries for issue and 

redemption of debenture)        (1+2=3) 

14. Pp6f sDkgLsf] ljQLo sf/f]af/sf] ljj/0f lgDgfg';f/ lbOPsf] 5 (The following financial transactions of a 

company is provided): 

ljj/0fx? (Particulars) ?=(Rs.) ljj/0fx? (Particulars) ?=(Rs.) 

laj|mL cfo (Sales revenue)            5,00,000 lj1fkg (Advertising )           15,000 

;'? df}Hbft (Opening stock)            40,000 ef8f k|flKt (Rent received)     10,000 

vl/b (Purchase)                    3,00,000 sld;g e'StfgL (Commission 

paid)         

4,000 

ladf (Insurance)   15,000 vl/b lkmtf{ (Return outward)       12,000 

tna{ (Salary)          70,000 9'jfgL (Carriage)           8,000 

लगानी को ब्याज (Interest on 

investment)   

1,00,000 laj|mL lkmtf{ (Return inward)  3,000 

C0fsf] Aofh (Interest on 

loan)                

5,000   
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    yk hfgsf/L (Additional information): 

a) clGtd df}Hbft (Closing stock) Rs. 30,000 

b) ltg{ afFsL tna (Salary outstanding) Rs. 5,000 

  tof/ kfg'{xf];\ (Required):       (2+ 3=5) 

 s Jofkf/ vftf (Trading account)  v=gfkmf gf]S;fg vftf (Profit & Loss account)  

 

15. Pp6f sDkgLsf] c;dfof]lht ;Gt'ng k/LIf0f lgDgfg';f/ lbOPsf] 5 . (An unadjusted trial balance of a 

company is given below.) 

 

ljj/0fx? (Particulars) 8]lj6 ?= (Debit Rs.) s|]l86 ?= (Credit Rs.) 

;]o/ k'FhL (Share Capital)  100,000 

;fx' (Creditors)  50,000 

a}ª\s C0f (Bank loan)   40,000 

laj|mL (Sales)  250,000 

d]l;g/L (Machinery) 145,000  

gub df}Hbft(Cash balance) 60,000  

tna (Salary) 35,000  

clu|d ef8f (Prepaid rent) 15,000  

5'6 (Discount)   5,000 

vl/b (Purchase) 1,90,000  

hDdf (Total)  445,000 445,000 
 

yk hfgsf/L (Additional information): 

a. clu|d ef8f ?= !@,))) vr{ n]lvof] . (Prepaid rent of Rs. 3,000 was expired) 

b. !)Ü sf b/n] d]l;g/Ldf d"No x|f; s6\6L ul/of] . (Depreciate machinery by 10%) 
 

tof/ ug'{xf];\ (Required): sfo{ljj/0f (Work sheet)     (5)    

 

16. nfut n]vfsf] kl/efiff lbFb} o;sf p2]Zox¿ n]Vg'xf];\ . (Mention the objectives of cost account with its 

definition.)        (2+3) 

 

17. A) s]Gb|Ls[t / ljs]Gb|Ls[t vl/blarsf] leGgtf b]vfpg'xf];\ . (Differentiate between centralized purchase 

and decentralized purchase.)       (2) 

        

B) h]7 dlxgfsf] e08f/sf] sf/f]af/ lgDgfg';f/ lbOPsf] 5 (The following are the store transactions for the 

month of Jestha.) 

Jestha 1: ;'? df}Hbft (Opening stock) 200 units @ Rs 3 

Jestha 5: vl/b (Purchase) 400 units @ Rs 2.5 

Jestha 10: vl/b (Purchase) 300 units @ Rs 2  

h]7 dlxgfsf] s'n laj|mL (Total sales during the month of Jestha) 750 units  
 

kQf nufpg'xf];\  (Calculate): cfjlws df}Hbft k4lt cGt{ut FIFO ljlwaf6 clGtd df}Hbftsf] nfut / j:t' 

laj|mLsf] nfut (Cost of ending inventory and cost of goods sold using FIFO method under 

periodic inventory system.)        (3)                 

 

18. A) k|lt 306f k|dfl0fs pTkfbg % PsfO xf] . k|lt PsfO{ Hofnfb/ ?= #) / Ps dlxgfsf] s"n sfo{ 306f !%) 5 . 

(The standard output per hour is 5 units. The wage rate per unit is Rs.30 and total 

working hour in a month is 150 hours.) 
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kQf nufpg'xf];\  (Calculate): PsfO Hofnfb/ k|0ffnLcg';f/ Ps dlxgfsf] s"n Hofnf (Total wages for the 

month under piece rate system. )                                  (2)  

 

B) lgDglnlvt ljj/0f lbOPsf 5g\\ (The following information are provided) 

i. ljQLo n]vfn] v'b gfkmf ?= $%,))) b]vfof] . (Net profit shown by financial accounting Rs. 

45,000) 

ii. x|f;s6\6L ?= !),))) n] nfut n]vfdf a9L clen]v u/]sf] kfOof] . (Depreciation overcharged in 

cost accounting by Rs. 10,000) 

iii. z? df}Hbft ?=*,))) n] ljQLo n]vfdf sd d"Nof+sg b]lvof] . (Undervalued of opening stock in 

financial accounting Rs 8,000) 

iv. ljQLo n]vfdf nufgLsf] Aofh ? =!!,))) s|]l86 ul/of] (Interest on investment credited in 

financial accounting Rs. 11,000)                        

tof/ ug'{xf];\ (Prepare): nfut lx;fa ldnfg ljj/0f (Cost reconciliation statement)                        

(3)                                   
 

19. sDKo'6/s[t n]vf k|0ffnL eg]sf] s] xf] < sDKo'6/s[t n]vf k|0ffnLsf tTjx?sf] JofVof ug'{xf];\ . (What is 

computerized accounting system? Explain the elements of computerized accounting 

system.) (2+3=5) 

       cyjf (or), 

      n]vf ;km\6j]/sf ljz]iftf j0f{g ug'{xf];\ . (Describe the features of accounting software.) 5                     

 
 

;d"x u (Group C) 

nfdf] pQ/fTds k|Zgx¿ (Long Answer Questions) 
 

;a} k|Zgx¿ xn ug'{xf];\ . (Attempt All Questions.)    (3 × 8 = 24) 

20. clk ln=sf] #! c;f/ @)&& sf] ;Gt'ng k/LIf0f lgDgfg';f/ lbOPsf] 5 . (A trial balance of Api Ltd. as on 

31
st
 Asar 2077 is given below): 

ljj/0fx? (Particulars) 8]lj6 ?=  

(Debit Rs.) 
ljj/0fx? (Particulars) s|]l86 ?= 

(Credit Rs.) 

;'?sf] df}Hbft (Opening stock) 15,000 laj|mL cfDbfgL (Sales 

revenue)  

465,000 

vl/b (Purchase)  285,000 ;]o/ k'FhL (Share capital)  150,000 

n]vfk/LIf0f z'Ns (Audit fee)  12,000 b]o lan (Accounts 

payable)  

22,000 

5kfO tyf d;nGb (Printing 

and stationery)  

18,000 C0f (Loan) 180,000 

tna vr{ (Salaries expenses)  60,000 Aofh tyf nfef+z (Interest 

and dividend) 

8,000 

Voflt (Good will) 10,000 ;]jf cfDbfgL (Service 

Revenue)  

35,000 

k|jw{g vr{ (Promotion 

expenses)  

9,000   

Aofh vr{ (Interest expenses)  12,000   

dd{t tyf ;Def/ (Repair and 

maintenance)  

8,000   

KnfG6 tyf pks/0f (Plant and 

equipment) 

200,000   

a}ª\s df}Hbft (Bank balance)  42,000   
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k|fKo ljn (Accounts 

receivables)  

65,000   

nufgL (Investment)  100,000   

ef8f vr{ (Rent expenses)  20,000   

cGo laj|mL vr{ (Other selling 

expenses)  

4,000   

hDdf (Total)  860,000 hDdf (Total) 860,000 
 

yk hfgsf/L (Additional information): 

a. clGtd df}Hbft (Closing stock)………………………Rs. 20,000 

b. KnfG6 tyf pks/0fdf d"Nox|f; s6\6L (Depreciate on plant and 

equipment)....................10% 

c. @)Ü cfos/  (Income tax @20%) 

d. e'StfgL ug{ afFsL ef8f (Rent outstanding )………………… Rs. 1,000 

 

tof/ ug'{xf];\ (Required):        (5+3=8) 

a.  NFRS cg';f/ gfkmf gf]S;fg ljj/0f (Profit or loss statement based on NFRS)    

b. NFRS cg';f/ ljQLo cj:yf (Statement of Financial Position based on NFRS)    
 

cyjf (or), 

cfof{ sDkgLsf] ;Gt'ng k/LIf0f lgDgfg';f/ lbOPsf] 5 (The trial Balance of Arya company ltd. is given 

below) 

;Gt'ng k/LIf0f(Trial balance) 

#) r}q @)&^(as on 30
th

 Chaitra, 2076) 

ljj/0fx? (Particulars) 8]lj6 ?=  

(Debit 

Rs.) 

ljj/0fx? (Particulars) s|]l86 ?= 

 (Credit Rs.) 

;'? df}Hbft (opening stock) 40,000 ;]o/ k'FhL (Share capital)  150,000 

tna (Salary)  32,000 a+}sC0f (Bank loan)  50,000 

vl/b (Purchase)  250,000 ljljw ;fx' (Sundry 

Creditors)  

40,000 

lj1fkg (Advertisement)  14,000 lals| (Sales) 390,000 

a}ª\s df}Hbft (Bank balance)  35,000 vl/b lkmtf{ (Purchase 

return) 

5,000 

ljljw cf;fdL (Sundry 

debtors) 

50,000 Aofh k|fKtL (Interest 

received)  

14,000 

nufgL (Investment)  50,000 sldzg (Commission)  2,000 

d]lzg (Machinery)  120,000   

Aofh e'StfgL (Interest paid)  5,000   

k|zf;lgs vr{ (Administrative 

expenses)  

35,000   

clu|d ladf (Prepaid insurance 

) 

20,000   

hDdf (Total)  651,000 hDdf (Total) 651,000 

 

yk hfgsf/L (Additional information) 

a. clGtd df}Hbft (Closing stock) Rs. 55,000 

b. d]lzgdf !)Ü x|f;s§L (Depreciate machinery by 10%) 
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c. cu|Ld e'StfgL ladf vr{ n]lvof] (Prepaid insurance expired) Rs. 3,000 

d. @%Ü cfos/  (Income tax @25%) 
 

tof/ ug'{xf];\ (Required):                                                                              (4+4=8) 

i. ax'r/0fsf] cfo ljj/0f  (Multi step Income statement) 

ii. jf;nft (Balance sheet)  

21. Pp6f sDkgLsf] b'O{ aif{sf] jf;nft tn lbOPsf] 5 . (The balance sheet of a company for two years are 

given below. 
bfloTj 

(Liabilities)  
2074. 

(Rs.) 

2075    

(Rs.)   

Assets  2074 

(Rs.) 

2075 

  (Rs.)   

Zf]o/ k'FhL (Share 

capital)  

250,000 300,000 d]lzg/L 

(Machinery)   
180,000 300,000 

 

C0fkq 

(Debenture)  

50,000 80,000 VoftL 

(Goodwill)  
40,000 20,000 

;fx" (Creditors) 30,000 65,000 cf;fdL(Debtors)   70,000 120,000 
ltg{ afFsL vr{ 

(Outstanding 

expenses)  

10,000 5,000 Dff}Hbft (Stock) 30,000 50,000 

cljtl/t d'gfkmf 

(Retained 

earnings)  

40,000 60,000 gub df}Hbft 

(Cash balance)  
60,000 20,000 

hDdf (Total) 380,000 510,000 hDdf (Total) 380,000 510,000 
 

yk hfgsf/L (Additional information): 

i) laj|mL (Sales )Rs.550,000 

ii) laj|mLsf] nfut (cost of goods sold ) Rs. 350,000 . 

iii) x|f;sl§ ?=#)))) ;lxtsf] ;+rfng vr{(Operating expenses including depreciation Rs 

30,000)  

 Rs. 100,000 

iv) Aofh vr{ (Interest expenses) Rs 10,000 

v) d]lzg laj|mL (Sale of machinery)Rs 40,000, d]lzg vl/b (Purchase of Machinery) Rs 

185,000  

vi) nfef+z e'StfgL (Dividend paid ) Rs 55,000 

 

tof/ ug'{xf];\ (Required):       (4+1+2+1=8) 

k|ToIf ljlwaf6 gub k|jfx ljj/0f (Cash flow statement by using direct method.)  

 

22.  ut dlxgfsf] clen]vaf6 lgDg nfut ljj/0fx? lbOPsf 5g\\ (The following cost information were 

extracted from last month records.) 

k|ToIf ;fdu|L (Direct materials):      Rs 250,000 

k|ToIf Hofnf (Direct wage):           Rs 150,000 

sf/vfgf pkl/Aoo (Factory overhead):   Rs 45,000 

k|zf;lgs pkl/Aoo (Administrative overhead):   Rs 44,500 

pkl/Joo lgDgcg';f/ afF8kmfF6 ul/G5M (Overheads are allocated as under): 

sf/vfgf pkl/Joo d"n nfutsf] cfwf/df (Factory overhead on the basis of prime cost) 

k|zf;lgs pkl/Joo sf/vfgf nfutsf] cfwf/df (Administrative overhead on the basis of 

factory cost) 



 

21 

jf]nkq k]; ug{ lgDgcg';f/sf] nfut cg'dfg ul/of] (The following costs were estimated for 

submitting a tender): 

;fdu|L nfut (Material cost):     Rs 100,000 

>d nfut (Labour cost):     Rs 60,000 

sf/vfgfn] af]nkq /sdsf] @)Ü d'gfkmf rfxG5 (The factory is expected to earn 20% profit on 

tender price.) 

 tof/ ug'{xf];\ (Required):        (3+5=8) 

a)  nfut ljj/0f (Cost Sheet) 

b) af]nkq ljj/0f (Tender sheet)   

 

 

 

***** 
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$= g]kfnsf] Gofo / sfg'g k|0ffnL (Nepalese Legal System) [Nls. 110] 

Notes:  

1. The alternative short and long questions will be asked from appropriate chapters taking in to account the nature, depth and 

coverage of the contents.  

Nepali Legal System, Grade 12, Test Specification Chart, 2078 
Plan for Question and distribution of marks covered 

Unit Content Area Teaching 

Hours 

Knowledg

e 

Comprehen

sion 

Application Higher 

ability 

Total 

Question 

covered 

Total  Total 

Marks 

  VS S L VS S L VS S L VS S L VS S L     
1 Introduction to Legal 

System 
14 

2 1 

  

1 1 1 

            

3 2 1 6 21 

2 Types of Major Legal 

System 
20 

          
 

  
3 Introduction to Hindu 

Jurisprudence 
12 

2 

  

1 1 1 

    

1 
  

 

 
    

3 2 1 6 21 

4 Development of Nepali 

Legal System 
22 

 
          

5 Introduction to Nepali 

Legal System 
22 

2 

      

 
  

    

  
1 

    

  
 
1 

 
 1 2 2 1 5 20 

6 Influence of major legal 

systems in Nepali Legal 

System  

10 

        
 

  
 7 Legal Education in Nepal 8 

2 

    

1 1 

    

 

    

1 

  

3 2 - 5 13 

8 

Legal Profession in Nepal 

12 

      
 

      

  120 8 1 - 3 3 1 - 2 - - 2 1 11 8 3 22 75 
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2. Very short question will be of one (1) mark and there will be eleven (11) questions from each of the chapters to the possible 

extent.  

3. Short question will be of five (5) marks and there will be eight (8) questions from each of the chapters to the possible extent. 

All the questions shall be compulsory. However, two alternative questions will be added to any two questions among the total 

questions asked.  

4. There will be three long questions carrying eight (8) marks. All the questions shall be compulsory. However, one alternative 

question will be added to any one of the three questions. 

5. The weightage of the question shall not exceed twenty percent in knowledge level, no less that 20 percent in higher efficiency 

and in other level question may be asked as per necessity.  

Types of Question 

Types of Question Numbers of Question Total marks 

Very short answer 

type 

11 11x1=11 

Short answer type 8 8x5=40 

Long answer type   3 3x8=24 

 

Note: Numbering of the questions should be arranged from first very short questions (Q.N. 1 to 11), short answer questions 

(Q.N. 12 to 19) and long answer questions (Q.N. 20 to 22).  
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[Nls. 110] 

g]kfnsf] Gofo / sfg'g k|0ffnL (Nepalese Legal System)  

gd'gf k|Zg kq @)&* (Model Question 2078) 

sIff (Grade): XII 

;do(Time) : 3 Hrs.                                           k"0ff{ª\s (Full Marks): 75 

k/LIffyL{n] ;s];Dd cfkm\g} zAbdf df}lns pQ/ lbg'kg]{ 5 . lsgf/fdf lbOPsf cª\sn] k"0f{fª\snfO{ hgfpF5 .  

(The candidates are required to give their answers in their own words as far as 

practicable. The figures in the margin indicate full marks.)  
;d"x s -Group A) 

clt ;ª\lIfKt pQ/fTds k|Zgx¿ (Very Short Answer Questions) 

;a} k|Zgx¿sf] pQ/ lbg'xf];\ (Attempt All Questions.) (11 x 1 = 11 )  

 

1. sfg''gL k|0ffnLsf] s'g} b''O{cf]6f dxŒj pNNf]v ug''{xf];\ . 
Mention any two importance of Legal System. 

2. wfld{s sfg''gL k|0ffnL eg]sf] s] xf] < 
What is religious legal system? 

3. sdg sfg''gL k|0ffnL / b]jfgL sfg''gL k|0ffnLsf s'g} b''O{cf]6f km/s n]Vg''xf];\ . 
Write any two differences between common legal system and civil legal system. 

4. lxGb'' sfg''gsf] kl/efiff lbg''xf];\ M 
Define Hindu law. 

5. /fd zfxn] k|ltkfbg u/]sf s''g} b''O{cf]6f lgodx?sf] ;""rL agfpg''xf];\ . 
List out any two rules laid down by Ram Shah. 

6. lxGb'' sfg''gsf s''g} b''O{ ;|f]t pNNf]v ug''{xf];\ . 
Mention any two sources of Hindu Law. 

7. g]kfnsf cbfntsf tx s] s] x''g\ <  
What is the hierarchy of courts in Nepal? 

8. cw{ Goflos lgsfo eg]sf] s] xf] < 

What do you mean by Quasi-judicial body? 

9. sfg''gL lzIffsf s''g} b''O{ If]q n]Vg''xf];\ . 

Write any two scopes of legal education. 

10. sfg''g Joj;foLsf s''g} b''O{ cfrf/ ;+lxtf n]Vg''xf];\ . 
Write any two code of conduct of lawyers. 

11. sfg''g Joj;foLsf k|sf/ s] s] x''g\ < 
What are the categories of lawyers? 

 

;d"x v (Group B)  

 ;ª\lIfKt pQ/fTds k|Zgx¿ (Short Answer Questions) 

 ;a} k|Zgx¿sf] pQ/ lbg'xf];\ . (Attempt All Questions)  ( 8 x 5 = 40 )   

12.  sfg''g k|0ffnLsf cfjZos ljz]iftf s] s] x''g\ <  k|sfz kfg''{xf];\ . 
What are the essential characteristics of legal system? Shed light on them. 

13.  sdg sfg''gL k|0ffnLsf] ;ª\lIfKtdf rrf{ ug''{xf];\ . 
Briefly discuss the common legal system. 

14.  lxGb' ljlwzf:qsf l;4fGt 5f]6s/Ldf n]Vg''xf];\ . 
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Write the principles of Hindu Jurisprudence in brief. 

 cyjf(or) 
lnR5lj sfndf s:tf Goflos ;ª\3 ;+:yf cEof;df lyP < n]Vg''xf];\ . 
What kind of judicial institutions were in practice during Lichhavi Period? Write it down. 

15.  dfgFf}+, tkfO{F d''n''sL P]g, !(!) sf] d:of}bf ;ldltsf] Ps ;b:o x''g''x''GYof] eg] s] s:tf k|fjwfg ToxfF pNn]v ug{ ;''emfj 

lbg''x''GYof] < n]Vg''xf];\ .      
Suppose you were a member of drafting committee of Muluki Ain, 1910, what provisions 

would you recommend to mention there? Write them.      

16.  j}slNks ljjfb ;dfwfgsf] dxŒj pNn]v ub}{ Ps b}lgs klqssf] nflu ;dfrf/sf] gd'gf tof/ kfg'{xf];\ . 

Draft news for a newspaper mentioning the importance of Alternative Dispute 

Resolution. 

17.  olb tkfOF{ Goflos ;ldltsf] ;b:o lgo'St x'g'eof] eg] tkfO{FnfO{ s] s:tf d'2fsf] lg0f{o ug]{ clwsf/ k|fKt ug'{x'G5 <  
What cases would you have right to decide if you are appointed as a member of judicial 

committee? 

18. g]kfnsf] sfg'gL lzIff ;DaGwdf ;ª\lIfKtdf rrf{ ug'{xf];\ . 

Briefly introduce the legal education of Nepal.       

19. jlsnnfO{ lsg ;fdflhs OlGhlgo/ elgG5 < 

Why lawyers are called social engineers? 

cyjf(or) 
g]kfndf sfg'gL k];fsf] P]ltxfl;s ljsf;af/] aofg ug'{xf];\ . 
Explain the historical development of legal profession in Nepal.  

 

;d"x u (Group C) 

nfdf] pQ/fTds k|Zgx¿ (Long Answer Questions) 

;a} k|Zgsf] pQ/ lbg'xf];\ . (Attempt All Questions)                        ( 3 X 8 = 24)  

20. sfg'g k|0ffnLsf k|sf/ s] s] 5g\ < ltgLx¿sf] cfwf/e"t k|j[ltaf/] aofg ug'{xf];\ .  

What are the various types of Legal system? Elaborate their basic trends. 

 cyjf(or) 
sfg'g k|0ffnLsf] cy{ / dxŒjnfO{ JofVof ug'{xf];\ . 
Explain the meaning and importance of legal system.      

21. g]kfnL sfg'g k|0ffnL ljsf;af/] lj:tf/df 5nkmn ug'{xf];\ . 

Discuss in detail about the development of Nepalese Legal System. 

22. g]kfnL sfg'g k|0ffnLdf sdg sfg'g k|0ffnLsf] k|efjnfO{ cfnf]rgfTds ljZn]if0f ug'{xf];\ . 

Critically analyze the influence of common legal system in Nepalese legal system. 
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5. Instructional Pedagogy and Evaluation 

Test Specification Chart 
Class 12 

S. 
N. 

Unit/Area 
 

  
CH 

Marks 
 

 Remembering 
/Knowledge 

 Understanding  Applying  Higher  
ability 

No. of  
questions 

  
Marks 

Total 
Marks 
  VS S L VS S L VS S L VS S L VS S L VS S L 

1 Instructional objectives, 

pedagogy and evaluation 

5 3 2 1 - - 2 1 1 1 - 1 1 - 4 5 1 4 25 8 37 

2 Instructional planning 10 7 

3 Managing instruction 15 9 

4 Instructional materials 14 9 

5 Instructional methods 15 9 

6 Conceptualizing evaluation 10 6 3 1 - 1 
 

1 
 

- 2 1 1 
 

1 - 
 

1 7 3 2 7 15 16 38 

7 Planning instructional 

evaluation 

15 9 

8 Administration, scoring and 

analyzing the test 

15 9 

9 Concept and preparation of 

non-testing devices 

11 7 

10 Continuous Assessment 

system 

10 7 

Total 120 75 5 2 - 1 3 1 3 2 1 2 1 1 11 8 3 11 40 24 75 

Question and Mark Distribution 
SN Types of questions Number of questions Marks per question Full Marks Time 

1 Very Short 

Questions 

11 1 11  

180 minutes (3 hrs) 

2 Short Questions 8 5 40 

3 Long   Questions 3 8 24 

4 Total 22  75 

Remarks: 
 Item format in composite should be met as per the specification grid. 

 Weightage in the combined cell should be met, but ±3 marks variation will be allowed within the combined cells. But cannot be nil. 

 SQ and LQ may be structured (have two or more sub-items). SQ and LQ can be distributed to two or more cognitive behaviors. In such case 

these will be added to their respective cognitive behavior. In sum the distribution of cognitive behavior should be approximately to the 

required distribution. 
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 The distribution of questions based on cognitive domain will be nearby 20% knowledge/remembering, 30% understanding, 30% applying and 

20 % higher ability level. 

 In case of short question there will be 2 "OR" questions and in case of long question there will be 1 "OR" question. 
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sIff !@ 

z}Ifl0fs k¢lt / d"Nofª\sg (Instructional Pedagogy and Evaluation) 

;j} k|Zgx? clgjfo{ 5g\ . -Attempt all questions.) 

;do # 306f -Time: 3 hours) 

;d"x s M clt 5f]6f] pQ/fTds k|Zg      !!  ! =  !!  

Group A: Very short answer type questions      

!= Kf]8fuf]hL zAbsf] cy{ n]Vg'xf];\ .  

     Write the meaning of the term „pedagogy‟. 

@= s'g} Pp6f zLif{sdf Pp6f ljlzi6 p2]Zo n]Vg'xf];\ .  

     Write one specific objective of any one topic. 

#= ljBfyL{nfO{ sIffdf k|Zg ;f]Wg] pko'St b'O{ tl/sf n]Vg'xf];\ . 

     Write appropriate two techniques of questioning students in classroom.  

$= b[li6ljxLg ljBfYfL{sf] nflu pko'St Pp6f z}lIfs ;fdu|L / cg'ko'St Pp6f z}lIfs ;fdu|Lsf] gfd n]Vg'xf];\ 

.  

       Write one example of an instructional material which is appropriate and one example 

which is not appropriate for students with sight disabilities.  

%= lzIf0f ljlw / lzIf0f tl/sflar Ps leGgtf n]Vg'xf];\ .  

     Differentiate between teaching method and teaching technique in one point. 

^= ljBfyL{sf] Jojxf/df cfPsf] kl/jt{gnfO{ dfqfTds ¿kdf cª\s lbg] / ltgsf] Jojxf/sf] k|ultsf] 

n]vfhf]vf ug]{ sfo{nfO{ s] elGfG5 <  

      What is said to the act of assigning numbers to the change that has come in the behavior of 

student and to the act of appraising the progress of the performance of student?  

&= pQ/k'l:tsf k/LIf0fdf Pp6f k/LIfs / csf]{ k/LIfsn] lbg] cª\sdf 36La9L x'g ;Sg] / cª\s x]/km]/ gx'g] 

lsl;dsf k|ZgnfO{ s] elgG5 <  

     What is said to the type of questions where there is variation in assigning marks to the 

answer sheet from one examiner to another and where there is no variation at all in this 

process of assigning marks?  

*= sIff ^ sf] k/LIffsf nflu cfGtl/s d"Nofª\sg ubf{ b]lvg] s'g} b'O{cf]6f ;an kIf n]Vg'xf];\ . 

      Write any two strong points of conducting internal assessment in the examination process 

of Grade VI.  

(= k|Zgsf] sl7gfO :t/ slt x'g' pko'St x'G5 / lsg <   

     How much difficulty level of a question item is appropriate and why?   

!)= ljifout k|Zgsf] cª\sg k|lj|mofdf ;'wf/ ug]{ b'O{j6f tl/sfx? pNn]v ug{'xf];\ .  

      State two measures for improving scoring procedures of subjective test items.  

!!= PsLs[t kf7\oj|mdcg';f/ xfn g]kfndf s'g d"Nofª\sgdf hf]8 lbOPsf] 5 < 

       Which assessment system is emphasized in Nepal according to the integrated curriculum? 
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;d"x v M 5f]6f] pQ/fTds k|Zg      *  % =  $)  

Group B: Short answer type questions      

!@= lzIf0fsf] cy{ :ki6 ub}{ lzIf0f / l;sfOlarsf] ;DaGw b]vfpg'xf];\ .  

       Illustrate the relationship between teaching and learning with clarifying the meaning of teaching.  

!#= sIff tLgsf] s'g} ljifosf] Pp6f kf7 5fGg'xf];\ . pSt kf7sf] p2]Zo / kf7sf] sIff ;'? ug]{ tl/sf pNn]v 

ug'{xf];\ .  

Select a topic/lesson from any subject of Grade III. Write specific objectives of the lesson and the 

way you introduce the lesson.  

cyjf OR  

k|f/lDes sIffx?df sIff lzIf0f Joj:yf lsg pko'St x'G5 < :ki6 ug{'xf];\ .  

Why is grade teaching appropriate for students studying in elementary grades? Clarify.  

!$= ljBfno jl/kl/ kfOg] lzIf0f l;sfOsf nflu pko'St x'g] b'O{cf]6f ;fdu|Lx?sf] gfd n]Vg'xf];\ / ltgsf] 

sIffdf k|of]u ug]{ tl/sf j0f{g ug'{xf];\ .  

List out two local materials available at school surroundings appropriate for teaching learning and 

describe the ways of using these materials in the classroom.  

!%= d"Nofª\sg eg]sf] s] xf]< ljBfyL{sf] ;jf{ª\uL0f ljsf;sf] p2]Zosf] ;Gbe{df z}lIfs k|ultsf] cj:yf s;/L 

d"Nofª\sg ug'{kb{5 < j0f{g ug'xf];\ .  

What is evaluation? How should evaluation be done for educational progress of students in the 

context of their all-round development? Describe.  

cyjf OR  

ljBfyL{sf] l;sfOsf] ;f/e"t kIfsf] d"Nofª\sg ug{sf nflu d"Nofª\sgsf s:tf ljlw pko'St dflgG5g\ < 

5f]6s/Ldf ts{;lxt k|:6 kfg'{xf];\ . 

What type of evaluation devices are appropriate for evaluating the essence of learning of students? 

Clarify with logics. 

!^= n]6/ u|]l8ª lgb]{lzsf, @)&* cg';f/ ljBfyL{sf] pknlAw d"Nofª\sg ug]{ tl/sf n]Vg'xf];\ .  

Write the ways of assessing the students' achievement based on the letter grading directive 2078. 

!&= Ps hgf ljBfyL{sf] cg'zf;g;DaGwL Jojxf/ d"Nofª\sg ug{sf nflu j|md dfks -/]l6ª :s]n_ sf] k|of]u 

s;/L ug'{x'G5 < pbfx/0f;lxt n]Vg'xf];\ .  

How do you use a rating scale for assessing disciplinary behavior of a student? Write with 

example.  

!*= l;sfOsf nflu k/LIff eGg] cjwf/0ff /fd|f] b]lvG5 . o; lsl;dsf] cjwf/0ffnfO{ jf:tljstfdf ¿kfGt/0f 

ug{ s ]s] ug{ ;lsG5 < ;'emfj lbg'xf];\ .   

The concept of examination for learning sounds good. How can this concept be transformed in 

reality? Give suggestions.  

!(= g]kfndf sfof{Gjog ul/Psf] lg/Gt/ d"Nofª\sg k4ltsf sdhf]/Lsf sf/0f cf}FNofpg'xf];\ . o; k4ltdf 

;'wf/sf pkfo s]s] x'g ;S5g\ < pNn]v ug'{xf];\ .  

Identify causes of not effective implementation of continuous assessment system (CAS) and 

suggest ways of improvement in this system.  
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;d"x u M nfdf] pQ/fTds k|Zg      #  * =  @$  

Group 'C' Long answer type questions  

@)= kf7 of]hgf agfpFbf Wofg lbg'kg]{ s'/fdWo] sIffdf ul/g] lzIf0fsf tLgcf]6f r/0f s] s] x'g\ < ltgsf] 

k|of]u ug]{ tl/sfsf] pbfx/0f;lxt JofVof ug'{xf];\ .  

What are the three phases of teaching in classroom that are to be considered in preparing lesson plans? 
Explain ways of action in classroom in those phases with examples.  

@!= ;xof]ufTds l;sfOsf /0fgLltx? Jff tf}/tl /sf s] s] x'g ;S5g\ < ltgsf] sIffdf k|of]u ug]{ tl/sf 

pbfx/0f;lxt JofVof ug'{xf];\ .  

What are the cooperative learning strategies? Explain ways of action for those strategies in teaching 
with examples.  

@@= ljlziL6s/0f tflnsfsf] Pp6f pbfx/0f lbP/ gd'gf tof/ ug{'xf];\ / o;sf k|To]s cfofdx?sf] dxŒj 
:ki6 ug'{xf];\ .  

Prepare an example of specification chart and explain the importance of its each dimension.  

cyjf OR  

ax'j}slNks Kf|sf/sf] tLgcf]6f k|Zg -1fg, af]w / k|of]usf] Ps Pscf]6f_ tof/ ug'{xf];\ . tL k|Zgsf 

sdhf]/ kIfsf] ;dLIff ug'{xf];\ / o:tf k|Zgdf ;'wf/ ug]{ pkfo j0f{g ug'{xf];\ .  

Prepare three multiple choice type items. Review the weaknesses of these multiple type items 

and describe the ways of improvement in these type of items
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^= dgf]lj1fg (Psychology) [Psy.120] 

Test Specification Chart 

Subject: Psychology            Class 12 

S. 
N. 

Unit/Area 
 

  
WH 

Marks  Remember/ 
Knowledge 

 Understand/ 
Comprehension 

 Apply/ 
Application 

 Higher  
ability 

No. of  
questions 

  
Marks 

Total 
  

VS S L VS S L VS S L VS S L VS S L VS S L 

1 Humanistic 

psychology 

8 5 1 1 - 1 - 1 - 1 - - 1 - 2 2 1 2 10 8 20 

2 Mental health 12 8 

3 Status of mental 

health in Nepal 

12 7 

4 Psychological issues 18 11 2 1 - 2 1 - 1 1 - 1 - 1 6 3 1 6 15 8 29 

5 Psychological 

counseling 

14 9 

6 Verbal and non-

verbal 

communication 

14 9 

7 Psychosocial care 

and support 

18 11 2 - - 1 1 - - 1 1 - 1 - 3 3 1 3 15 8 26 

8 Psychological first 

aid (PFA) 

12 7 

9 Intervention pyramid 

for MHPSS in 

emergency  

12 8 

 Total 120 75 5 2 - 4 2  1 1 3 1 1 2 1 11 8 3 11 40 24 75 

 

Question and Mark Distribution 

SN Types of questions Number of questions Marks per question Full Marks Time in minutes 

1 Very Short Questions 11 1 11 26 

2 Short Questions 8 5 40 96 

3 Long   Questions 3 8 24 58 

4 Total 22  75  180 minutes (3 hrs) 
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Remarks: 

 Item format in composite should be met as per the specification grid. 

 Weightage in the combined cell should be met, but ±3 marks variation will be allowed within the combined cells. But 

cannot be nil. 

 In case of 5 or 8 marks items, these should ensure that 1 mark will be assigned per element expected as correct 

response. However, cognitive behaviour intended might not be single behaviour within the item. But in total cognitive 

distribution should met. ±3 marks variation will be allowed within the cognitive levels.  

 SQ and LQ may be structured (have two or more sub-items). SQ and LQ can be distributed to two or more cognitive 

behaviours. In such case these will be added to their respective cognitive behaviour. In sum the distribution of 

cognitive behaviour should be approximately to the required distribution. 

 The distribution of questions based on cognitive domain will be nearby 20% knowledge/remembering, 30% 

understanding, 25% applying and 25% higher ability level. 

 In case of short question there will be 2 "OR" questions and in case of long question there will be 1 "OR" question. 
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dgf]lj1fg (Psychology) [Psy.120] 

sIff (Grade): XII 

;do (Time): 3 Hrs.      k"0ff{ª\s (Full Marks): 75 

 

k/LIffyL{n] ;s];Dd cfkm\g} zAbdf df}lns pQ/ lbg'kg]{ 5 . lsgf/fdf lbOPsf cª\sn] k"0f{fª\snfO{ hgfpF5 .  

(The candidates are required to give their answers in their own words as far as 

practicable. The figures in the margin indicate full marks.)  

 
;d"x s -Group A) 

clt ;ª\lIfKt pQ/fTds k|Zgx¿ (Very Short Answer Questions) 

;a} k|Zg xn ug'{xf];\ (Attempt All Questions)     (11 x 1 = 11 ) 

1. dfgl;s :jf:YonfO{ kl/eflift ug'{xf];\ . (Define Mental Health.) 

2. dfgjtfjfbL dgf]lj1fgsf s'g} b'O{ ;an kIf n]Vg'xf];\ . (Write any two strengths of humanistic 

psychology?) 

3. dflg;x?n] dgf];fdflhs ;d:of s;/L JoSt u5{g\ < (How do people express psychosocial 

problems?) 

4. dgf];fdflhs ;d:ofsf s'g} b'O{ sf/0f klxrfg ug'{xf];\ . (Identify any two causes of psychosocial 

problems.) 

5. SOLER sf] k"/f ¿k s] xf] <(What is the full form of SOLER?) 

6. cfTd k|s6Ls/0fnfO{ kl/eflift ug'{xf];\ .(Define self-disclosure.) 

7. dgf];fdflhs k/fdz{ dgf]lrlsT;f eGbf s;/L km/s 5 <(How does psychosocial counselling differs 

from psychotherapy?) 

8. k/Dk/fut pkrf/ k4ltn] s;/L dfgl;s :jf:Yo k|j4{gdf d2t u5{ <(How can traditional healing 

practices help in promotion of mental health?) 

9. dgf];fdflhs x]/rfxnfO{ kl/eflift ug'{xf];\ .(Define psychosocial care.) 

10. dgf];fdflhs x]/rfxsf] s'g} Ps dxŒj n]Vg'xf];\ . (Write one importance of psychosocial care and 

support?) 

11. dgf];fdflhs k/fdz{df s'g} xfgL gug]{ l;4fGt lsg dxŒjk"0f{ 5 <(Why the principle of do no harm is 

important in psychosocial counselling.) 

 

;d"x v (Group B) 

;ª\lIfKt pQ/fTds k|Zgx¿ (Short Answer Questions) 

;a} k|Zgx¿ xn ug'{xf];\ . (Attempt All Questions.)   (8 x 5 = 40 ) 

12. g]kfndf dfgl;s :jf:Yo ;]jfsf] Oltxf; pNn]v ug'{xf];\ . (Mention the history of mental health 

services in Nepal.) 
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13. g]kfndf dgf];fdflhs ;Nnfxsf/df /f]h]l/og b[li6sf]0f lsg nf]slk|o 5 < :ki6 kfg'{xf];\ . (Why Rogerian 

approach is popular among Nepalese psychosocial counsellors? Clarify.) 

14. dgf];fdflhs ;d:ofsf ;fdfGo ljz]iftf j0f{g ug'{xf];\ .(Describe the common characteristics of 

psychosocial problems.) 

15. g]kfnsf] ;Gbe{df dgf];fdflhs k/fdz{sf] If]q klxrfg ug'{xf];\ .(Identify the scope of psychosocial 

counselling in the Nepalese context.) 

16. tgfjnfO{ s;/L Joj:yfkg ug{ ;lsG5 < JofVof ug'{xff];\ .(How stress can be managed? Explain.) 

17. cfkt\sfnLg cj:yfsf ax':t/Lo ;xof]usf d'Vo tŒj j0f{g ug'{xf];\ .(Describe the key components of 

multi-layered supports in an emergency.) 

cyjf(Or), 

36gf jf dfdnf Aoj:yfkg ljlwsf] j0f{g ug'{xf];\ .(Describe the process of case management.) 

18. PFA sfo{ l;4fGt cfktsfnLg cj:yfdf s;/L k|of]u ug{ ;lsG5 < AofVof ug'{xf];\ .(How can the action 

principles of PFA be used in emergency setting? Explain.) 

19. cfktsfnLg cj:yfsf] MHPSS sf] x:tIf]k lk/fld8 k|:t't ug'{xf];\ . (Illustrate the Intervention 

pyramid for MHPSS in an emergency.) 

cyjf(Or), 

dfgl;s :jf:Yo x]/rfxsf nfuL IASC lk/fld8 k|:t't ug'{xf];\ . (Illustrate the IASC pyramid for 

mental health care.) 

;d"x u (Group C) 

nfdf] pQ/fTds k|Zgx¿ (Long Answer Questions) 

;a} k|Zg xn ug'{xf];\ . (Attempt All Questions.)    (3 X 8 = 24) 

20. dgf];fdflhs ;d:ofsf] dgf];fdflhs sNof0f;Fusf] leGgtf b]vfpg'xf];\ . (Differentiate psychosocial 

wellbeing from the psychosocial problem.) 

21. æ;~rf/ sf}zntf dgf];fdflhs k/fdz{ k];fsf] d]?b08 xf] .Æ pko'St pbfx/0f;lxt k|dfl0ft ug'{xf];\ .  

("Communication skill is the backbone of the psychosocial counselling profession." 

Justify with appropriate example.) 

22. dgf];fdflhs x]/rfx / ;xof]usf] l;4fGt dxfdf/Lsf] cj:yfdf s;/L k|of]u ul/G5 < (How the principle of 

psychosocial care and support is used in a pandemic situation.) 

cyjf(Or), 

dgf]j}1flgs k|fylds pkrf/ (PFA) nfO{ cfkt\sfnLg cj:yfdf s;/L k|of]u ug{ ;lsG5 <(How 

psychological first aid (PFA) can be used in an emergency?)
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&= Oltxf; (History) [His.122] 

ljlzi6Ls/0f tflnsf 

sIffM !@ 

sfo{306f M !@) -;}4flGts &%Ü_       ljifoM P]lR5s Oltxf; 

 

PsfO 

 

ljifoj:t'sf] If]q÷PsfO 

 

kf7\oef/ 

k|Zg of]hgf tyf cª\sef/ ljt/0f 

1fg af]w k|of]u pRrbIftf hDdf k|Zg ;ª\Vof 
hDdf cª\s 

clt 5f]6f] 5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf]  

! ljZjsf d'Vo ;Eotfsf] 

kl/ro 

@% !   !    !    ! @ ! ! !% 

@ 
ljZjsf] wd{sf] ;ª\lIfKt 

Oltxf; / ltgsf] pkb]z 

@) ! !  !    !     @ @  !@ 

# 
gofF ljZj Joj:yf @% !     !     !  ! ! ! !$ 

$ 
ljZjo'4 !% !   ! !      !  @ @  !@ 

% 
cGt/f{li6«o ;ª\u7g !) !       !     ! !  ^ 

^ 
cGt/f{li6«o u7aGwg !) !    !        ! !  ^ 

& 
If]qLo u7aGwg !% !  ! !         @  ! !) 

 hDdf !@) & ! ! $ @ !  #   @ ! !! * # &% 

 

b|i6Jo M 

!= clt 5f]6f] k|Zg ! cª\ssf] x'g] 5g\ / ;s];Dd ;a} PsfO ;d]l6g] u/L !! k|Zg /xg] 5g\ . 

@= 5f]6f] k|Zg % cª\ssf x'g] 5g\ /  ;s];Dd ;a} PsfOsf] k|ltlglwTj x'g] u/L * k|Zg /xg] 5g\ ;fy} s'g} b'O{ k|Zgdf ljsNk lbg ;lsg] 5 . 
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#= nfdf] k|Zg * cª\ssf x'g] 5g\ / # k|Zg /xg] 5g ;fy} s'g} Ps k|Zgdf ljsNk lbg ;lsg] 5 . 

$= 1fg txdf k"0ff{ª\ssf @) k|ltztdf ga9\g] u/L, pRr bIftf txdf @) k|ltztdf g36\g] u/L / cGo txdf cfjZostfcg';f/ k|Zg /xg] 5g\ . 

%=;a}  txdf ljifosf] k|s[lt / cfjZostfg';f/ clt 5f]6f, 5f]6f / nfdf k|Zg /xg] 5g\ . ;a} txdf ;a} vfnsf k|Zg /xg'kg]{ clgjfo{tf x'Fb}g . 

pRr bIftf cGtu{t ljZn]if0f, d"Nofª\sg / l;h{gfTds txsf k|Zg /xg] 5g\ . 

 

 k|Zgsf k|sf/ 

k|Zgsf k|sf/ ;f]lwg] ;ª\Vof k"0ff{ª\s  

clt ;ª\lIfKt k|Zg !! !! 

5f]6f] pQ/ cfpg] k|Zg * $) 

nfdf] pQ/ cfpg] k|Zg # @$ 

hDdf @@ &% 
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Oltxf; (History [His.122]) 

 
sIff (Grade): XII 

;do (Time): 3 Hrs.      k"0ff{ª\s (Full Marks): 75 
 

k/LIffyL{n] ;s];Dd cfkm\g} zAbdf df}lns pQ/ lbg'kg]{ 5 . lsgf/fdf lbOPsf cª\sn] k"0f{fª\snfO{ 

hgfpF5 .  (The candidates are required to give their answers in their own 

words as far as practicable. The figures in the margin indicate full marks.)  
;d"x s -Group A) 

clt ;ª\lIfKt pQ/fTds k|Zgx¿ (Very Short Answer Questions) 

;a} k|Zgx¿ xn ug'{xf];\ (Attempt All Questions)     (11 x 1 = 11 ) 

 

!= lu|s ;Eotfsf] ;'?jft s'g ;x/af6 ePsf] lyof] < 

 Where did Greek civilization begin? 
@= k|frLg /f]dsf] ;Eotfn] jt{dfg ljZjnfO{ s] of]ubfg lbPsf] 5 < 

 What contribution did Roman civilization render to the present world?  
#= O:nfd wd{sf s'g} b'O{ cfwf/ :tDe n]Vg'xf];\ . 

 Write down any two pillars of Islam religion? 

$= sGkm\o'l;o; wd{sf] d'Vo ;f/ s] xf] <Ps jfSodf n]Vg'xf];\ .  

 What is the main essence of confusius religion? Write in a sentence. 

%= ef/tsf] :jtGq ;ª\u|fd slxn] ePsf] lyof] < 

 When was the Indian war of Independence held? 

^= k|yd ljZjo'4sf] tTsfnLg sf/0f s] lyof] < 

 What was the immediate cause of First World War? 
&= k|yd ljZjo'4 / lålto ljZjo'4larsf s'g} b'O{ km/s n]Vg'xf];\  . 

 Mention any two differences between First World War and Second World 

War. 
*= /fi6« ;ª\3sf] :yfkgf slxn] ePsf] lyof] < k"/f ldlt n]Vg'xf];\ .  

 When was League of Nation established? Write its full date. 

(= g]6f] -NATO_ ;}Go zlSt g]t[Tjstf{ b]z s'g xf] < 

 Which country is the leader of NATO? 

!)= ;fs{ -SAARC_ leq sltcf]6f b]z cfa4 5g\ < 

 How many countries are the members of SAARC? 
!!=    c/a lnu eg]sf] s] xf] < 

 What is meant by Arab league? 

 

;d"x v (Group B) 

;ª\lIfKt pQ/fTds k|Zgx¿ (Short Answer Questions) 

;a} k|Zg xn ug'{xf];\ . (Attempt All Questions.)   ( 8 x 5 = 40 ) 

 

!@= lrlgofF ;Eotfsf s'g s'g /fd|f kIf xfd|f] hLjgdf k|of]u ug{ ;lsG5 <pNn]v ug'{xf];\ . 

 What positive aspects of Chinese civilization we can use in our life? 

Mention it. 
!#= af}4 wd{sf d'Vo pkb]z n]Vg'xf];\ . 

 Write-down the major preaching of Buddha religion. 
!$= lxGb' wd{sf pkb]z u|x0f u/L cjnDag ubf{ JolStTj lgdf{0fdf s:tf k|efj kg{ ;S5g\< 
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 What impacts can be seen in personality building along with the 

implementation of teaching of Hindu religion?  
!%= k|mfG;sf] /fHoj|mflGtsf sf/0f s] s] x'g\ < ;dLIff ug'{xf];\ . 

 What are the causes of the French Revolution? Review it.  
!^= bf];|f] ljZjo'4df g]kfnsf] e"ldsf s] lyof] < 5f]6s/Ldf n]Vg'xf];\ . 

 What was the role of Nepal during the Second World War? Write in 

brief. 

          cyjf(or), 
 ?;sf]j|mmflGtsf] dxŒj atfpg'xf];\ . 

 Discuss the significance of the Russian revolution. 
!&= æ/fi6«;+3sf] c;kmntf g} bf];|f] ljZj o'4sf] k|d'v sf/0f lyof] .Æo; tYonfO{ pbfx/0f ;lxt 

k|dfl0ft ug'{xf];\ . 

 "Failure of League of Nation was the chief reason of second world war" 

. Prove it with examples. 
!*= ;+o'St /fi6« ;ª\3sf p2]Zo s]sf nflu lgdf{0f ul/Psf lyP < 5f]6s/Ldf n]Vg'xf];\ . 

 For what purpose were the objectives of the UNO adapted? Write in 

brief. 

                      cyjf(or), 
 g]6f]sf d'Vo lj|mofsnfk s] s] 5g\ < n]Vg'xf];\ . 

 What are the major activities of NATO? Write down. 
!(=    g]6f] / jf;f{df s] s] km/s 5g\ < a'bfFut ¿kdf n]Vg'xf];\ .  

 What are the differences between NATO and WARSAW? Write in 

points. 

 
;d"x u (Group C) 

nfdf] pQ/fTds k|Zgx¿ (Long Answer Questions) 

 

;a} k|Zg xn ug'{xf];\ . (Attempt All Questions.)    (3 X 8 = 24) 

 

@)= d];f]kf]6fldof / /f]dg ;Eotfsf] ;dLIffTds l6Kk0fL k|:t't ug'{xf];\ . 

 Present a review note of Mesopotamoa and Roman civilizations. 

@!= k'ghf{u/0f eg]sf] s] xf] < k'ghf{u/0fsf ljz]iftfsf] rrf{ ug'{xf];\ . 

 What is Renaissance? Highlight the feature of the Renaissance. 

@@= ;fs{ (SAARC)  :yfkgfsf] k[i7e"ld pNn]v ub}{ o;sf p2]Zo / cª\usf] ;"rL agfpg'xf];\ .  

 Mention the background of the establishment of SAARC and also make a list 

of its objectives and organs. 

  cyjf(or), 
cf}Bf]lus j|mflGt eg]sf] s] xf] < of] a]nfotaf6 g} lsg ;'? eof] < sf/0f JofVof ug'{xf];\ . 

What is industrial revolution? Why was it started from England? Explain the 

reasons.  (3+2+3)
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8. Biology (202) 

Specification grid 2078 

Grade: 12           Subject:  Biology Theory (Bio. 202) 
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16 

5  

37 2 Plant Physiology 20 11 

3 Embryology 8 5 

4 Genetics 21 12 

5 Biotechnology 7 4 

6 Applied Biology 16 9 38 

7 Animal tissue 8 5 

8 Developmental Biology 6 4 

9 Human biology 28 16 

10 Human Population and Health 

Disorders 
6 4 

Total Marks  12 19 22  22 75 75 

 
Item format plan 

S.N. Type of item Score per 

item 

Total item Total score Time 

1 Multiple Choice Questions 1 11 11 25 minutes 

2 Short Question Answer 4 8  32 155 minutes 

3 Long Question Answer 8 4 32 

Grand Total  23 75 3 hours 
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Remarks: 

 Item format in composite should be met as per the specification grid.  

 Designated weightage in the combined cell should be met, but ±3 marks variation will be allowed within a unit/content area. But no unit can be nil. 

 In the case of SAQ and LAQ, these should ensure that 1 mark will be assigned per element expected as correct response.  

 The distribution of cognitive domain of questions should be nearly 15% knowledge/remembering, 25% understanding, 30% applying and 30% higher 

ability level, but ±5 percent variation will be allowed in overall question set. 

 SAQ and LAQ can be structured (have two or more sub-items). SAQ and LAQ can be distributed to two or more cognitive behaviors.  

 In such case these will be added to their respective cognitive behavior. In sum the distribution of cognitive behavior should be approximately to the 

required distribution.  

 Each group will consist of 4 SAQs questions with one "OR" question and 2 LAQs with one "OR" question. Botany portion will consist of 5 MCAQs and 

zoology portion consists of 6 MCAQs. 

 

 

 

 

 



 

42 

Model Question – 2078 

Grade: XII          Subject: Biology                         F.M.: 75 

Attempt all questions. 
Part: I [ Botany] 

Group: A 

Circle the correct answer from the given alternatives.   (5 ×1 = 5) 
1. There are many types of chromosomal disorders in organisms, among them euploidy is very 

common in the population. Which one of the following conditions is true for euploidy?   

a. Addition or deletion of one or more chromosome in diploid chromosome              

b. Addition of one or more chromosome in diploid chromosome              

c. Deletion of one or more chromosome in diploid chromosome                     

d. Addition or deletion of one set or more than one set of chromosomes in diploid 

chromosome              

2. The formation of two male gametes is a peculiar feature in angiosperm. If the first male 

gamete is fused to oosphere, in which part does the second male gamete fuse?  

  a. Synergids         b. Egg cell             c. Polar nuclei           d. Antipodal cell  

3. The given vascular bundle is highly specialised by centripetal protoxylem. 

What is it called?               

a. Exarch    b.  Endarch             c. Mesarch         d. Centrach   

   4. Which of the following plants is used as bio fertilizer?  

  a.Volvox       b. Funaria             c. Azolla  d. Rhizopus 
 

5. When a plant cell is placed in hypertonic solution, it gets plasmolysed as shown in the 

diagram. Which of the following occupies the space between the cell wall and the shrunken 

protoplast in such plasmolysed cell?  

 a. Water   b. Hypertonic solution 

 c. Isotonic solution             d. Hypotonic solution       
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Group –B         Botany 

   Give short answers to the following questions.     [4× 4 =16]  

1.  The anatomical structure of vascular plant is given. Study the given 

diagram and answer the following questions. (1+3=4)                      

(a) Write the main characteristics of the given layer Y. 

(b) Draw the given diagram and label the tissues which is 

responsible for secondary growth. Elaborate the activities of this 

tissue   up to the formation of cambial ring. 

2. Write the salient features of a monocot embryo in reference to its 

development pattern with diagrams. (3+1=4)    

3. “Micropropagation is an analytical and conventional bulk breeding technique for rapid cloning 

of desirable stock”. Justify the statement by describing it briefly with the various stages of 

micropropagation technique in plants. (4)    

4. What is genetic material? Describe the structure and functions of RNA. (1+2+1=4)                                                                         

OR 

What are plant growth hormones? Write the physiological functions of auxin. Mention its   

shortcoming of hyper use in crops. 

 

Group –C Botany 

  Give long answers to the following questions.    [2 ×8=16] 

5.  One of the Mendelian inheritances states that ‟The alleles of different traits can be segregated 

during gametogenesis and passed independently‟. State and explain the essential pattern of 

inheritance verifying the statement with examples showing cross up to second filial generation 

with chart and ratio. (1+ 3+2+2= 8)     

                                                                                  OR 

In Drosophila, an eye colour is X-linked. Explain. If white eye female Drosophila is crossed to 

red eye male Drosophila, what result do you expect? Analyse briefly with the help of crosses. 

6. How are the Glycolysis and Krebs (TCA) cycle linked? Draw a detailed flow chart of the 

Krebs cycle?  4+ 4= 8  
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Part: II (Zoology)                                             

                                                         Group –A  

Circle the correct answer from the given alternatives.   (6 ×1 = 6) 
1. The parasympathetic nervous system releases a hormone acetylcholine. Which one of the 

following is activated by this hormone?   

a. Regulate the involuntary response  

b. Decrease the rate of heart beat 

c. Increase blood pressure   

d. Increase myocardial contractility 

2. After the release of mature ovum from the ovary, the Graffian follicle changes into corpus 

luteum which is the source of female sex hormones. In the woman, what would be the 

condition of corpus luteum in absence of pregnancy?   

a. Secretes FSH and LH continuously                  

b. Secretes oxytocin and relaxin  

c. Automatically degenerates after sometime        

d. Remains intact and active 

3. Which of the following statement is more appropriate for early an amniocentesis test?  

a. It takes place between 15
th

 and 20
th

 weeks of pregnancy 

b. It may cause fetal injury and lethality  

c. It helps to detect fetal complications  

d. It may cause infertility  

4. What are the main processes involved in gastrulation of a frog?  

a. Epiboly, involution, cleavage  

b. Epiboly, invagination, Involution 

c. Involution, epiboly, invagination  

d. Involution, invagination, cleavage 

5.  Blood cells are formed in the bone marrow. What is the process of formation of blood called?   

a. Haemopoiesis     

b. Haemolysis 

c. Lymphopoiesis    

d. Erythroblastosis 

6.  A person suddenly falls down and becomes unconscious. A doctor checked and said that it is 

due to inadequate blood supply to the brain. What would be the type of disorder?   

a. Asthma                 

b. Syncope                 

c. Heart attack        

d. Oedema 
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Group –B                    Zoology 

  Give short answers to the following questions.     4× 4 =16  

1. Compare and contrast areolar tissue and adipose tissue. 2+2=4  

2. Describe the process of fertilization of an egg with reference a frog.  4  

                                                OR     

   Describe the various steps applied in poultry farming. 4  

3. Study the given diagram and answer the following questions. 

1+3=4   

    (a) Label A and B.  

    (b) Write any three differences between A and B.   

 

4. Overpopulation is a major issue in the development of the 

nation. Highlight the socio-economic problems caused by 

overpopulation and mention how to solve such problems. 2+2=4  

                                                         

      Group –C 

    Give long answers to the following questions.    [2 × 8=16] 

5. Mention the causative agent, mode of transmission, symptoms and control measures of 

tuberculosis in the community.     (1+2+3+ 2 =8)                                                                                                                                

6. Draw a labelled diagram of the alimentary canal of a human being. Explain the mechanism of 

the digestion of foods that a person under takes. What would happen in digestion when the 

pancreas is removed?                         (3+4+1)    

                                                                OR 

Draw a labelled drawing of respiratory system of a human being. Why and how oxygen and 

carbon dioxide are exchanged rapidly in the lungs? What would happen if a person moves to 

high altitude? Write your views on how to solve it.  (2 +4+ 1+1 =8)                

 

"Best of luck" 
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(= lzIff / ljsf; (Edd.204) 

ljlzi6Ls/0f tflnsf 

;}4flGts d"Nofª\sg                                                      sIff !@                       ljifo M lzIff / ljsf; 

k|Zg of]hgf tyf cª\sef/ ljt/0f 

PsfO 

 

If]q÷PsfO 

 

sfo{  

306f 

cª\s 

ef/ 

1fg  Aff]w  k|of]u  pRr bIftf   hDdf k|Zgef/ hDdf 

c+sef/ 
w]/} 

5f]6f] 

5f]6f] nfdf] w]/} 

5f]6f] 

5f]6f] nfdf] w]/} 

5f]6f] 

5f]6f] nfdf] w]/} 

5f]6f] 

5f]6f] nfdf] w]/} 

5f]6f] 

5f]6f] nfdf]  

! lzIff / ljsf;sf cfofdx? 14  9 1 - - 2 - 1 - 1 - - 1 - 3 2  1 21 

@ lzIff / lbuf] ljsf; 10 6 

# ;d'bfosf] kl/rfng / ;xeflutf 10  6 

$ gful/s lzIff / ;r]tgf 14  9 1 1 - 1 1 - - - 1 - 1 - 2 3 1 25 

% lzIffdf ljljwtf 12   8 

^ zflGt lzIff / ljsf; 12 8 

& ljsf;sf nflu ;|f]t kl/rfng 12 7 3 1 - 2 

 

1 - 1 

 

1 - - - 1 6 3 1 

 

   29 

* lzIff / ljsf;sf nflu of]hgf 16 10 

( g]kfndf lzIff ljsf; M P]ltxfl;s 

:j?k tyf jt{dfg cj:yf 

20  12 

hDdf 120  75 5 2 - 5 2 1 1 2 1 - 2 1  11 8 3 75 

k|Zg ;ª\Vof, cª\sef/ / ;do tflnsf 

j|m=;= k|Zgsf] k|sf/ k|Zg ;ª\Vof k|lt k|Zg cª\sef/ hDdf cª\sef/ ;do  

! w]/} 5f]6f] k|Zg !! ! !! !*) ldg]6 -# 306f_ 

@ 5f]6f] k|Zg * % $) 

# nfdf] k|Zg # * @$ 

hDdf @@  &% 

b|i6Jo M  



 

47 

 ;fdfGotof 1fg txsf k|Zg @) k|ltzt, af]w txsf k|Zg #) k|ltzt, k|of]u txsf k|Zg @% k|ltzt / pRr bIftfsf k|Zg @% 

k|ltzt x'g] 5g\ .  

 PsfOleqsf] ;d"xsf] hDdf cª\sdf km/s gkg]{ u/L ;d"xleqsf PsfOdf  km/s u/L k|Zg lgdf{0f ug{ ;lsg] 5 t/ k|To]s PsfOaf6 k|Zg ;f]lwg] 

u/L ljifoj:t'sf] j}wtf sfod ug'{kg]{5 .  

 5f]6f k|Zg / nfdf] k|Zgdf Ps eGbf a9L pk k|Zgx¿ klg ;f]Wg ;lsg] 5 .  

 pRr bIftfcGtu{t ljZn]if0f, d"Nof+sg / l;h{gf /xg] u/L k|Zg lgdf{0f ug'{kg]{ 5 .  

 5f]6f] k|Zgx¿ dWo] s'g} b'O{cf]6f cyjf k|Zg / nfdf] k|ZGfdf Pp6f cyjf k|Zg ;f]lwg] 5 .  
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lzIff / ljsf; (Edd.204)                                                

 sIff !@ 

;d"x -s_  Group 'A' 

 

tnsf k|Zgx¿sf] clt 5f]6f] pQ/ lbg'xf];\ .                                    !!  ! = !! 

Write very short answers of the following questions.  

                         
!= dfgj ljsf; / lzIfflarsf] cGt;{DaGwnfO{ s'g} b'O{ a'Fbfdf n]Vg'xf];\ . 

    Write the relationship between human development and education in any two points. 

@= lbuf] ljsf;sf] nIocGtu{t lzIff;DaGwL nIo n]Vg'xf];\ . 

    Mention the sustainable development goal related to education. 

#= ;d'bfosf] ljsf;sf] nflu ;d'bfo kl/rfng ug'{kg]{ s'g} b'O{ sf/0f pNn]v ug'{xf];\ . 

     Mentions any two causes of community mobilization for community development. 

$= zflGt lzIff eg]sf] s] xf] < 

     What is peace education? 

%= zflGt / ljsf;sf] cGt/;DaGwnfO{ b'O{ a'Fbfdf n]Vg'xf];\ . 

     Write the relationship between peace and development in any two points.   

^= z}lIfs of]hgfsf] dxŒjnfO{ b'O{ a'Fbfdf k|:t't ug'{xf];\ . 

     Present the importance of educational planning in any two points.  

&= hgzlSt of]hgf eg]sf] s] xf] < 

    What is manpower planning?  

*= lzIffdf nufgL ug'{sf] s'g} b'O{cf]6f sf/0f n]Vg'xf];\ . 

     Write any two causes for investing in education.  

(= /f0ffsfndf lzIffdf ePsf s'g} b'O{ d'Vo pknlAw n]Vg'xf];\ . 

     Write any two educational achievements in Rana Period. 

!)= PSsfO;F}+ ztfAbLdf u'0f:t/L lzIffnfO{ kl/eflift ug'{xf];\ . 

     Create your own definition of quality education in 21st Century.  

!!= ljBfno lzIffdf lghL nufgLsf] s'g} b'O{cf]6f kmfObf n]Vg'xf];\ . 

       Write any two advantages of private investment in school education.  

;d"x -v_ Group (B) 

tnsf k|Zgsf] 5f]6f] pQ/ lbg'xf];\ .                                                   *  % = $) 

Write short answers to the following questions.  

!@= lbuf] ljsf;sf nflu :yfgLo:t/af6 lzIffn] s:tf] e"ldsf lgjf{x ug'{knf{ < 
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     What should be done the role of education from local level for sustainable development?  

cyjf 

   lbuf] ljsf;sf nIo xfl;n ug{ lzIffsf] e"ldsf klxrfg ug'{xf];\ . 

    Identify the role of education for achieving the sustainable development goals. 

!#= lzIffsf] ljsf;df ;d'bfosf] ;+nUgtfsf] clej[l4 ug]{ Jofjxfl/s pkfo k|:t't ug'{xf];\ . 

      Present the behavioural ways of promoting the community involvement in education 

development. 

!$= gful/s lzIffsf] dxŒjnfO{ kfFr a'Fbfdf j0f{g ug'{xf];\ . 

      Describe civic education in five points. 

!%= lzIffdf ;dtf / ;dfgtflarsf] leGgtfnfO{ pko'St pbfx/0f;lxt k|:t't ug'{xf];\ . 

     Present the difference between equity and equality in education with suitable examples. 

!^= tkfO{Fsf] :yfgLo ;d'bfodf b]lvg] s'g} b'O{ åGåsf] klxrfg ug'{xf];\ . tL åGå ;dfwfgsf] nflu ckgfpg 

;lsg] Jofjxfl/s pkfo ;'emfpg'xf];\ . 

Identify any two conflicts occurred in your local community. Suggest behavioural ways to 

resolve those conflicts. 

!&= :yfgLo ;|f]tsf] clwstd kl/rfngdf ;fd'bflos ;ª\3;+:yfsf] e"ldsf klxrfg ug'{xf];\ . 

      Identify the role of community organizations for maximum mobilizing of the local resources. 

!*= lzIf0f l;sfOdf kf7\oj|mdnfO{ s;/L k|of]u ug{ ;lsG5 < s'g} kfFr tl/sf k|:t't ug'{xf];\ . 

     How do use curriculum in teaching learning? Present any five ways. 

cyjf 

    d"Nofª\sgnfO{ ljBfyL{sf] l;sfOdf s;/L k|of]u ug{ ;lsG5 < s'g} kfFr tl/sf k|:t't ug'{xf];\ . 

      How do use assessment in students' learning? Present any five ways. 

!(= lzIfssf] k];fut Ifdtf ljsf; ug]{ s'g} b'O{ tl/sfnfO{ 5f]6s/Ldf j0f{g ug'{xf];\ . 

       Describe any two ways of teachers' professional development. 

;d"x -u_  

Group (C)  

  

tnsf k|Zgsf] nfdf] pQ/ lbg'xf];\ .                            #  * = @$ 

Write long answers of the following questions.  

@)= ljsf;sf cfly{s, ;fdflhs tyf dfgj ljsf;sf cfofd / lzIfflarsf] cGt/;DaGw JofVof ug'{xf];\ .  
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Explain the interrelationship between education and economic, social and human 

dimensions of development. 

@!= ;fj{hlgs ;/f]sf/sf ljifodf hgr]tgf k|jw{g ug]{ s'g} rf/cf]6f Jofjxfl/s tl/sf klxrfg u/L 

5f]6s/Ldf JofVof ug'{xf];\ .  

Identify and explain any four behavioural ways to promote public awareness in public 

concerns. 

cyjf 

     ljBfno lzIffdf ljljwtf Joj:yfkg ug]{ s'g} rf/cf]6f Jofjxfl/s tl/sf klxrfg u/L 5f]6s/Ldf JofVof 

ug'{xf];\ .  

Identify and explain any four behavioural ways to manage diversity in school education. 

@@=  ljBfno ;'wf/ of]hgf lgdf{0f ug'{sf] cf}lrTonfO{ rf/ a'Fbfdf k|:t't ug'{xf];\ . ljBfno ;'wf/ of]hgfnfO{ 

k|efjsf/L ¿kdf sfof{Gjog ug{] s'g} tLgcf]6f pkfo klxrfg u/L 5f]6s/Ldf JofVof ug'{xf];\ . 

Present the rationale of making school improvement plan in any four points. Explain any 

three ways to implement the school improvement plan effectively. 
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!)= e"uf]n -Geo.206_ 

ljlzi6Ls/0f tflnsf 

ljifo M e"uf]n -Geo.206_    ;}4flGts d"Nofª\sg                                                sIff !@ 

PsfO 

 

If]q÷PsfO 

 

Kff7\o 

306f 

1fg Aff]w k|of]u pRrbIftf hDdf k|Zg ;+Vof hDdf c+s 

clt 5f]6f] 5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf]  

! e"uf]nsf] kl/ro % !   !         @   @ 

@ ef}lts e"uf]n ^) ! !  ! @   !   ! ! @ % ! #% 

# dfgj e"uf]n @% @   !  ! !    !  $ ! ! !& 

$ g]kfnsf] e"uf]n #) ! !  !     ! ! !  # @ ! @! 

% k|of]ufTds e"uf]n $)                 

 hDdf !$) % @  $ @ ! ! ! ! ! # ! !! * # &% 

b|i6Jo M 

 clt 5f]6f] k|Zg ! cª\ssf x'g] 5g\ /  ;s];Dd ;a} PsfO ;d]l6g] u/L !! k|Zg /xg] 5g\ . 

 5f]6f] k|Zg % cª\ssf x'g] 5g\, ;s];Dd ;a} PsfOsf] k|ltlglwTj x'g] u/L * k|Zg /xg] 5g\ / s'g} b'O{ k|Zgdf ljsNk k|Zg /xg] 5g\ . 

 nfdf] k|Zg * cª\ssf x'g] 5g\ / # k|Zg /xg] 5g\ / s'g} Pp6f k|Zgdf ljsNk k|Zg /xg] 5 .  

 1fg txdf k"0ff{ª\ssf] @) k|ltztdf ga9\g] u/L, pRrbIftf txdf @) k|ltztdf g36\g] u/L / cGo txdf cfjZostfcg';f/ k|Zg /xg] 5g\ . 

 ;a}  txdf ljifosf] k|s[lt / cfjZostfcg';f/ clt 5f]6f, 5f]6f / nfdf k|Zg /xg] 5g\ . ;a} txdf ;a} vfnsf k|Zg /xg'kg]{ clgjfo{tf x'Fb}g . pRrbIftfcGtu{t ljZn]if0f, 

d"Nofª\sg /  l;h{gfTdstxsfk|Zg /xg] 5g\ . 

 PsfO % k|of]ufTds e"uf]ndf $) kf7\o306fsf] k|of]ufTds sfo{ u/L d"Nof+sg ul/g] x'gfn] ;}4flGts v08df k|Zg /flvPsf] 5}g .  



 

52 

e"uf]n (Geography [Geo.206]) 

sIff (Grade): XII 

;do (Time): 3 Hrs.       k"0ff{ª\s (Full Marks): 75 

k/LIffyL{n] ;s];Dd cfkm\g} zAbdf df}lns pQ/ lbg'kg]{ 5 . lsgf/fdf lbOPsf cª\sn] k"0ff{ª\snfO{ hgfpF5 

.  (The candidates are required to give their answers in their own words as far as 

practicable. The figures in the margin indicate full marks.)  
;d"x s -Group A) 

clt ;ª\lIfKt pQ/fTds k|Zgx¿ (Very Short Answer Questions) 

;a} k|Zgx¿ xn ug'{xf];\\ (Attempt All Questions)     (11 x 1 = 11 ) 
 

!=g]kfnsf] s'g} Ps ef}uf]lns k|b]zsf pkljefhg n]Vg'xf];\\ . 

Write the sub-divisions of any one geographical region of Nepal. 

@=g]kfnsf] e"uf]n;Fu ;DalGwt s'g} b'O{cf]6f ljifo n]Vg'xf];\\ . 

Mention any two integrated subjects in geography of Nepal. 

#=d'v4Lksf] kl/efiff Ps jfSodf lbg"xf];\\ . 

Define delta in a sentence. 

$=pmi0f xfjfkfgLsf] k|b]zdf kfOg] s'g} b'O{ jg:kltsf] gfd n]Vg'xf];\\ . 

 Write the names of any two-vegetation found in tropical climate region. 

%=dfgj e"uf]n eg]sf] s] xf] <Ps jfSodf n]Vg'xf];\ . 

What is human geography? Write in a sentence. 

^= hg;ª\Vof j[l4n] Nofpg] s'g} Ps ;d:of n]Vg'xf];\ . 

Write any one problem caused by the population growth. 

&= pRr hGdb/sf] s'g} Ps sf/0f n]vL To;nfO{ sd ug]{ s'g} Ps pkfo n]Vg'xf];\ . 

Identify any one causes of high fertility rate and also suggest a measure to minimize it. 

*= tkfFO{ a;f]jf; ug'{ ePsf] If]qdf j;fO{F;/fOn] kf/]sf] s'g} Ps k|efj n]Vg'xf];\ . 

Write any one effects brought by migration in your area. 

(=g]kfndf jgljgfzsf] s'g} Ps sf/0f n]Vg'xf];\ . 

Write any one cause of deforestation in Nepal. 

!)=g]kfnsf] xfjfkfgLdf k|efj kfg]{ s'g} b'O{cf]6f tŒj n]Vg'xf];\ . 

Mention any two factors that affect Nepal's climate. 

!!=g]kfndf ko{6snfO{ cfsif{0f ug]{ s'g} Ps gf/f n]Vg'xf];\\ . 

Prepare a slogan to attract tourist in Nepal. 

 

 

;d"x v (Group B) 

;ª\lIfKt pQ/fTds k|Zgx¿ (Short Answer Questions) 
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;a} k|Zg xn ug'{xf];\\ . (Attempt All Questions.)   ( 8 x 5 = 40 ) 

 

!@=kj{t lgdf{0f k|lj|mofsf] jf/]df 5f]6s/Ldf n]Vg"xf];\ . 

Explain the mountain formation process in short. 

cyjf(Or) 

lxdgbLn] agfPsf ;+/rgfsf] af/]df 5f]6s/Ldf n]Vg'xf];\\ . 

Write briefly about the structures built by glacier. 

!#=gbLsf sfd 5f]6sf/Ldf n]Vg'xf];\ . 

Write the functions of river in short. 

!$=hnjfo' kl/jt{g eg]sf] s] xf] < 5f]6s/Ldf n]Vg'xf];\\ . 

What is climate change? Write in brief. 

!%= tkfO{Fsf] If]qdf kfOg] k|fs[lts jg:klt ;+/If0f ug]{ pkfo atfpg'xf];\\ . 

Suggest the measures to protect the natural vegetation of your area. 

!^=tkfO{Fsf] If]qdf kfOg] h}ljs ljljwtf ;+/If0f ug]{ of]hgf jgfpg'xf];\\ . 

Present a plan for the protection of Bio-diversity in your area. 

!&=tkfO{sf] If]qdf jftfj/0f tyf dfgjlarsf] cGt/;DaGwnfO{ 5f]6s/Ldf j0f{g ug{'xf];\ . 

Write a short description about the interrelationship between human and environment in 

your area. 

!*=g]kfndf ;f}o{ pmhf{sf] pkof]uaf/] 5f]6s/Ldf n]Vg'xf];\\ . 

Describe the trend of utilization of solar resource in Nepal. 

cyjf(Or) 

g]kfndf ko{6g pBf]usf] dxŒj 5f]6s/Ldf n]Vg'xf];\\ . 

 Write the importance of tourism industry of Nepal in short. 

!(=cJojl:yt ;x/Ls/0fn] w]/} ;d:of lgDTofpF5 . of] ;d:ofnfO{ ;dfwfg ug]{ s'g} kfFrcf]6f 

pkfo atfpg'xf];\ . 

Unplanned urbanization causes many problems. Suggest any five measures to overcome 

the problem. 

;d"x u (Group C) 

nfdf] pQ/fTds k|Zgx¿ (Long Answer Questions) 

;a} k|Zg xn ug'{xf];\\ . (Attempt All Questions.)    (3 X 8 = 24) 

@)=e"Ifosf sf/0f ljZn]if0f u/L df6f] ;+/If0fsf pkfo atfpg'xf];\\ . 

Analyze the causes of soil degradation and also suggest the measures for the conservation 

of soil. 

cyjf (Or) 
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tkfO{F a;f]jf; u/]sf] If]qsf] xfjfkfgL / jg:kltlarsf] cGt/;DaGwsf] rrf{ ug'{xf];\ . 

Describe the interrelationship between the climate and vegetation of your area. 

@!=lgdf{0fdf cfwfl/t pBf]usf] cjl:ytLs/0fdf c;/ ug]{ tŒj JofVof ug'{xf];\ / xfjfkfgLsf] c;/ klg n]Vg'xf];\\ . 

Explain the factors that affect the existence of construction based industries and also 

describe the effects of climate. 

@@=gS;fsf] ;xfotfn] g]kfnsf] gub]afnLsf] ljt/0fnfO{ k|sfz kfg{'xf];\\ . 

Shed light the distribution of cash crops of Nepal through map. 
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11. Legal Drafting ([Led. 210] 

Test Specification Chart 

Legal Drafting( Plan for Question and distribution of marks covered 

Un

it 

Content Area Teachin

g Hours 

Knowledge Comprehension Application Higher 

Ability 

Total Question 

covered 

Total 

Question 

 Total 

Marks 

  
VS S L VS S L VS S L VS S L VS S L     

1 Introduction to Legal 

Drafting 

8 

1 1   

  

              1 1 - 2  6 

2 Drafting of Court 

Documents 

25 

1 

 

  1  1             1 2 1 1 4  15 

3 Drafting of  Private 

Transaction 

Documents 

15 

1     1       

 

 

 

 1 1 

      

4 1 1 

 

6 17 

4 Drafting of 

Commercial 

Transaction 

Documents 

15 

1      1 

 

  

 

      

5 Drafting of 

Documents in 

General Use 

10 

1           

 

 

1  

    

  

1 

  

2 2 - 4 12 

6 Drafting other 

documents 

7 

1     
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Notes:  

1. The alternative short and long questions will be asked from appropriate chapters taking in to account the nature, depth and 

coverage of the contents.  

2. Very short question will be of one (1) mark and there will be nine (9) questions from each of the chapters to the possible 

extent.  

3. Short question will be of five (5) marks and there will be five (5) questions from each of the chapters to the possible extent. All 

the questions shall be compulsory. However, two alternative questions will be added to any two questions among the total 

questions asked.  

4. There will be two (2) long questions carrying eight (8) marks. All the questions shall be compulsory. However, one alternative 

question will be added to any one of the two questions. 

5. The weightage of the question shall not exceed twenty percent in knowledge level, no less than 20 percent in higher efficiency 

and in other level question may be asked as per necessity.  

Types of Question 

Types of Question Numbers of Question Total marks 

Very short answer type 9 9x1=9 

Short answer type 5 5x5=25 

Long answer type   2 2x8=16 

Note: Numbering of the questions should be arranged from first very short questions (Q.N. 1 to 9), short answer questions (Q.N. 

10 to 14) and long answer questions (Q.N. 15 and 16).

  
80 

6 1 - 3 1 - 

 

2 1 - 1 1 9 5 2 16 50 
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sfg'gL d:of}bf (Legal Drafting [Led. 210])   

sIff (Grade): XII 

;do(Time) : 2 Hrs.                                                  k"0ff{ª\s (Full Marks): 50 

k/LIffyL{n] ;s];Dd cfkm\g} zAbdf df}lns pQ/ lbg'kg]{ 5 . lsgf/fdf lbOPsf cª\sn] k"0ff{ª\snfO{ hgfpF5 

.  (The candidates are required to give their answers in their own words as far as 

practicable. The figures in the margin indicate full marks.)  
;d"x s -Group A) 

clt ;ª\lIfKt pQ/fTds k|Zgx¿ (Very Short Answer Questions) 

;a} k|Zgsf] pQ/ lbg'xf];\  (Attempt All Questions.)  (9 x 1 = 9)  

1. lnvt eg]sf] s] xf]< 

What is deed (likhat)? 

2. lkm/fbkq eg]sf] s] xf] < 

What is meant by registration of complaints?  

3. y'g'jf k'hL{ lsg hf/L ul/G5 < 

Why arrest warrant (thunuwa purji) is issued? 

4. JolStut sf/f]af/df k|of]u x'g] s'g} b'O{ lnvtsf] gfd n]Vg'xf];\ . 

Name any two private transaction documents. 

5. JolStut sf/f]af/sf] lnvtdf v'nfpg' kg]{ cfjZos tŒj s] s] x'g\ < 

What are the elements that need to be disclosed in private transaction documents? 

6. a}gfk6\6f lnvtsf] cy{ n]Vg'xf];\ . 

Write the meaning of advance payment deed.  

7. s/f/gfdfsf] lnvt lsg cfjZos kb{5 < 

Why deed of contract is necessary? 

8. l;kmfl/; kq eg]sf] s] xf] <  

What is recommendation letter? 

9. k];L :ylut / xflh/ x'g] lgj]bglarsf] km/s b]vfpg'xf];\ . 

Show the difference between peshi sthagitko nibedan and hajir huneko nibedan. 

 

;d"x v (Group B)  

;ª\lIfKt pQ/fTds k|Zgx¿ (Short Answer Questions) 

;a} k|Zgsf] pQ/ lbg'xf];\ . (Attempt All Questions)                           ( 5 x 5 = 25 ) 

10.  sfg'gL d:of}bf eg]sf] s] xf] < sfg'gL d:of}bfsf] cfjZostfaf/] ljZn]if0f ug'{xf];\ .    @±# 

What is deed? Explain the need of legal draft. 

11. clws[t jf/];gfdf eg]sf] s] xf] < s:tf] cj:yfdf clws[t jf/];gfdf lbOG5 <j0f{g ug'{xf];\ .        @±# 

What is meant by power of attorney? In which condition power of attorney is issued? 

Explain. 

12.  b[li6 aGwsL lnvt eg]sf] s] xf] < b[li6 aGwsL lnvtsf] gd'gf tof/ ug'{xf];\ .    @±# 

What is Dristibandhaki likhat ? Draft a sample of Dristibandhaki likhat. 

cyjf(Or) 

ef]u aGwsL lnvt eg]sf] s] xf] < ef]u aGwsL lnvtsf] gd'gf tof/ ug'{xf];\ .     @±# 

What is bhogbandhaki likhat ? Draft a sample of bhogbandhaki likhat. 

13.  gful/stfsf] l;kmfl/; lngsf nflu cfjZos sfuhft s] s] x'g\ < o;sf] sfo{ljlwsf] af/]df pNn]v ug'{xf];\ . @±# 

What are documents required to get recommendation of citizenship? State its procedures. 



 

58 

14.  ;dfx\jfg tyf Otnfogfdf eg]sf] s] xf] < ;dfx\jfg / Otnfogfdf  बिrsf] leGgtf b]vfpg'xf];\ .   #±@ 

What are summons and italayanama? Show the difference between summons and 

italayanama. 

cyjf(Or) 

lkm/fbkq eg]sf] s] xf] < lkm/fbkq n]Vbf Wofg lbg'kg]{ s'/f s] s] x'g\ <     @±# 

What is deed of complaints? What are the things to be considered while drafting deed of 

complaints?  

 

;d"x u (Group C) 

nfdf] pQ/fTds k|Zgx¿ (Long Answer Questions) 

;a} k|Zgx¿sf] pQ/ lbg'xf];\ . (Attempt All Questions)                      ( 2 X 8 = 16)        

                                                                                   

15. k'g/fj]bg kqsf] af/]df pNn]v ug'{xf];\ . emul8of lemsfpg] cfb]zsf nflu cfjZos kg]{ cfwf/sf] ljZn]if0f ug'{xf];\ .  

          #±% 

State the letter of re-appeal. Evaluate the grounds necessary for the issuance of 

Jhagaddiya jhikauneko aadesh. 

cyjf (or) 

vfg]kfgL / ljB't\ h8fg ug{sf nflu l;kmfl/; kq lng cfjZos sfuhft / k|ls|ofsf] af/]df rrf{ ug'{xf];\ . 

What are the necessary documents and procedures required to get letter of 

recommendation to connect water and electricity? Discuss. 

16. a}gfk6\6f lnvtsf] lsg cfjZos k5 < a}gfk6\6f lnvtsf] gd'gf tof/ ug{'xf];\ .    #±% 

Why advance payment deed (Bainapatta) is needed? Draft a sample of advance payment 

deed (Bainapatta). 
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!@= ;dfhzf:q [Soc.212]) 
ljlzi6Ls/0f tflnsf 

 

ljifoM ;dfhzf:q -sIff– !@_ 

 ;}4flGts d"Nofª\sgM  

PsfO{ Kff7\oj:t''  1fg af]w k|of]u pRrbIftf hDdfk|Zg hDdfc+s

ef/ 

   nfdf] 5f]6f] clt 

5f]6f] 

nfdf] 5f]6f] clt 

5f]6f] 

nfdf] 5f]6f] clt 

5f]6f] 

nfdf] 5f]6f] clt

5f]6f] 

nfdf] 5f]6f] clt 

5f]6f] 

 

! ;fdflhs c;dfgtf / 

l;dfGtLs/0fsf cfofdx¿ 

 

!%  

 

 

 ! !         !  ! ( 

@ ;fdflhs kl/jt{g / k];f !#  !    !   !   !  ! # * 

# ;fdflhs ljljwtf tyf 

Pstf 

 

@)     !     !   ! !  !# 

$ ;fdflhs ;+:yf 

 

!%     !      !   @  !) 

% g]kfndf a;fOF;/fO / 

;x/Ls/0f 

!& !  !   !       !  @ !) 

^ ljsf;sf] ;dfhzf:q !%   !   !     ! !  ! # * 

& d'n'sL P]g ;+lxtf !)   !     ! !     ! @ & 

* ;fdflhs cg';Gwfg ljlwM 

;fdflhs ;j]{If0f /  :ynut 

cWoogsf ljlw 

!%  

 

 

   !   !      @  !) 

  

hDdf 

!@) ! ! $ ! # #  @ @ ! @ @ # * !! &% 

 

b|i6Jo M clt 5f]6f] k|Zg ! cª\ssf] x'g] 5g\\ / ;s];Dd ;a} PsfO ;d]l6g] u/L !! k|Zg /xg] 5g\\ . = 5f]6f] k|Zg % cª\ssf x'g] 5g\\ /  ;s];Dd ;a} PsfOsf] k|ltlglwTj x'g] u/L * k|Zg /xg] 5g\\ ;fy} s'g} b'O{ 

k|Zgdf ljsNk lbg ;lsg] 5 .  nfdf] k|Zg * cª\ssf x'g] 5g\\ / # k|Zg /xg] 5g\ ;fy} s'g} Ps k|Zgdf ljsNk lbg ;lsg] 5 .  1fg txdf k"0ff{ª\ssf @) k|ltztdf ga9\g] u/L, pRr bIftf txdf @) k|ltztdf 

g36\g] u/L / cGo txdf cfjZostf cg';f/ k|Zg /xg] 5g\\ . ;a}  txdf ljifosf] k|s[lt / cfjZostfg';f/ clt 5f]6f, 5f]6f / nfdf k|Zg /xg] 5g\\ . ;a} txdf ;a} vfnsf k|Zg /xg'kg]{ clgjfo{tf x'Fb}g . pRr 

bIftf cGtu{t ljZn]if0f, d"Nofª\sg / l;h{gfTds txsf k|Zg /xg] 5g\ .
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;dfhzf:q (Sociology [Soc.212]) 

sIff (Grade): XII 

;do (Time): 3 Hrs.       k"0ff{ª\s (Full Marks): 75 
k/LIffyL{n] ;s];Dd cfkm\g} zAbdf df}lns pQ/ lbg'kg]{ 5 . lsgf/fdf lbOPsf cª\sn] k"0ff{ª\snfO{ hgfpF5 .  (The 

candidates are required to give their answers in their own words as far as practicable. The 

figures in the margin indicate full marks.)  

;d"x s -Group A) 

clt ;ª\lIfKt pQ/fTds k|Zgx¿ (Very Short Answer Questions) 

;a} k|Zg xn ug'{xf];\ (Attempt All Questions)     (11 x 1 = 11 ) 
!= c;dfgtfsf] Ps jfSodf kl/efiff lbg'xf];\ .  

      Define inequality in a sentence. 
 @= ;fdflhs kl/jt{g eg]sf] s] xf] <   

     What is meant by social change?  
#= k];f kl/jt{gn] JolStsf] hLjgdf kfg{ ;Sg]] s'g} b'O{ k|efj k|:t't ug'{xf];\ . 

     Present any two impacts that could be caused in an individual with the change of 

profession. 
$= lak|]if0f g]kfnsf] cy{tGqsf] e/kbf{] ;fwg x'g ;Sb}g . lsg < 

    Remittance can't be a reliable means of Nepalese economy. Why?  
%= a;fOF;/fOsf] s'g} b'O{ sf/0f n]Vg'xf];\ . 

    State any two causes of migration. 
^= ;x/Ls/0f eg]sf] s] xf] < 

   What is meant by Urbanization? 
&= ljsf;sf] ;dfhzf:qLo cjwf/0ff n]Vg'xf];\ . 

   Write the sociological concept of development. 
*= ;ª\3Lotf eg]sf] s] xf] < 

    What do you mean by Federalism?  
 (= g]kfnsf] k|fb]lzs ljsf; lsg r'gf}tLk"0f{ b]lvG5 < b'O{ k|df0f lbg'xf];\ . 

    Why is provincial development challenging in Nepal? Give two proofs. 
!)= d'n'sL -;+lxtf_ P]g, @)&$ slxn] b]lv sfof{Gjog ePsf] xf] < k"/f ldlt n]Vg'xf];\ . 

     When was civil (codified) code, 2074 implemented? Write full date. 
!!= ;dfhdf eO/x]sf] ;fdflhs e]befj /f]Sg tkfO{Fn] s] sfo{ ug'{ePsf] 5 <  

    What works have you done to prevent social inequality existing in society? 
;d'x …v… 

Group B 

5f]6f] pQ/fTds k|Zgx? (Short answer questions)       (85=40)  

;a} k|Zgsf] pQ/ lbg'x';\ (Attempt all questions) 

!@= g]kfndf k];f / hLljsf]kfh{glarsf] ;DaGw k|:t't ug'{xf];\ . 

      Present the relation between profession and livelihood in Nepal.    

!#= …;fdflhs ljljwtf g]kfnL ;dfhsf] klxrfg xf] .Ú s;/L < pbfx/0f;lxt aofg ug'{xf];\ . 

     „Social diversity is the identity of Nepalese society.‟ Explain with examples. 

cyjf (or), 
    ;LdfGtLs/0faf6 ;dfhdf l;h{gf x'g] ;d:of ;dfwfgsf nflu of]hgf agfpg'xf];\ . 

      Make a plan to solve the problems borne by marginalization. 
!$= g]kfnL kl/jf/ k|yfdf cfPsf] kl/jt{g s] s] 5g\\ < a'Fbfut ¿kdf pNn]v ug'{xf];\ . 
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      What are the changes seen in the Nepalese family custom? Mention in points. 
!%= g]kfndf ;fdflhs ;+:yfn] u/]sf sfo{ ljjflbt eO{ ;fj{hlgs 6Lsf l6Kk0fL x'g] u/]sf] kfOG5 . o; ;Gbe{df 

cfˆgf wf/0ff n]Vg'xf];\ . 

      The works carried out by social institutions in Nepal are commented on and 

publicly criticized. Write your opinions in this regard.   
!^= g]kfndf :yfgLo lasf;sf cfofdx? pNn]v ub}{ b'O{ ;fyLlarsf] ;+jfb tof/ kfg'{xf];\ . 

     Prepare a dialogue between two friends mentioning the dimensions of local 

development in Nepal. 
!&= d'n'sL P]gsf] ;DklQ / c+zj08f dxn tkfO{Fsf] hLjgdf s;/L k|of]u of]Uo ePsf] 5 < n]Vg'xf];\ . 

      In what ways are the section of property and its division mentioned in civil code 

applicable for your life? Write down. 
!*= ;fdflhs cg';Gwfgdf :ynut cWoogsf] dxŒj n]Vg'xf];\ . 

      Write down the importance of field study in social research. 
!(= tkfOF{n] s'g} Ps cg';Gwfg u/]sf] x'g'k5{, pSt cg';Gwfgsf] k|ltj]bgsf] kl/ro / p2]Zo v08 n]Vg'xf];\ . 

      You might have made a research, now write the introduction and objectives part of 

report of the research. 

                          cyjf (or), 
    g]kfndf a;fOF;/fO k|j[lQsf] ljZn]if0f ug{'xf];\ . 

      Analyze the trend of migration in Nepal. 
 

;d"x u 

nfdf] pQ/fTds k|Zgx? (Short answer questions)   #* Ö @$ 

;a} k|Zgsf] pQ/ lbg'x';\ (Attempt all questions)   

@)= g]kfnL ;dfhdf c;dfgtfsf cfofdsf] lj:t[tdf rrf{ ug'{xf];\ . 

    Discuss in detail the dimensions of inequality in Nepalese society. 

                          cyjf (or), 
    ljjfxsf] kl/efiff lbO{ o;sf sfo{sf] rrf{ ug'{xf];\ . 

     Define marriage and discuss its functions. 
@!= cf/If0fsf] ;+j}wflgs k|fjwfgn] ;LdfGts[t hfthflt / ;d'bfonfO{ lasf;sf d'nwf/df NofPsf] b[i6fGt 

k|:t't ub}{ Ps n]v tof/ kfg'{xf];\ . 

     Prepare an article presenting the instances of mainstreaming the marginalized 

castes and community in development via reservations of the constitutional 

provisions. 
@@= g]kfndf ;x/Ls/0fnfO{ Jojl:yt ug{ s] s:tf /0fgLlt tof/ kfg{'k5{ < JofVof ug'{xf];\ . 

      What type of strategies should be prepared for the management of urbanization in 

Nepal? Explain them. 
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!#= Jofj;flos cWoog, [Bus.216])     sIff !@ 

k|Zg of]hgf tyf cª\sef/ ljt/0f  

Psf

O 

 

If]q÷PsfO 

 

Kff7\o

ef/ 

1fg Aff]w k|of]u pRr bIftf hDdf cª\sef/  

clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] hDdf  

! Joj:yfkgsf] k|s[lt !) ! !   !        ! !)  !! 

@ zf:qLo Joj:yfkgsf 

cjwf/0ff 

* 

# of]hgf tyf lg0f{o k|lj|mof !@ !   ! !  ! ! !    # !) * @! 

$ ;ª\u7g sfo{x? @) 

% g]t[Tj * ! 

 

!  !   !    ! ! #   !) 

 

* @! 

^ lgoGq0f ^ 

& cGo Joj:yfksLo sfo{x? @) 

* ;dsfnLg Joj:yfksLo 

ljifox? 

!^ @   ! !        # %  * 

( Jofj;flos kq n]vg !@ ! 

 

      !    ! ! % * !$ 

!) Jofj;flos of]hgf * 

 hDdf !@) ^ @  # #  @ @ !  ! @ !! $) @$ &% 

b|i6Jo M  != clt 5f]6f] k|Zg ! cª\ssf] x'g] 5g\\ / ;s];Dd ;a} PsfO ;d]l6g] u/L !! k|Zg /xg] 5g\\ . 5f]6f] k|Zg % cª\ssf x'g] 5g\\ /  ;s];Dd ;a} PsfOsf] k|ltlglwTj 

x'g] u/L * k|Zg /xg] 5g\\ ;fy} s'g} b'O{ k|Zgdf ljsNk lbg ;lsg] 5 . nfdf] k|Zg * cª\ssf x'g] 5g\\ / # k|Zg /xg] 5g\ ;fy} s'g} Ps k|Zgdf ljsNk lbg ;lsg] 5 . 1fg txdf 

k"0ff{ª\ssf @) k|ltztdf ga9\g] u/L, pRr bIftf txdf @) k|ltztdf g36\g] u/L / cGo txdf cfjZostfcg';f/ k|Zg /xg] 5g\\ . ;a}  txdf ljifosf] k|s[lt / 

cfjZostfg';f/ clt 5f]6f, 5f]6f / nfdf k|Zg /xg] 5g\\ . ;a} txdf ;a} vfnsf k|Zg /xg'kg]{ clgjfo{tf x'Fb}g . pRr bIftfcGtu{t ljZn]if0f, d"Nofª\sg / l;h{gfTds txsf 

k|Zg /xg] 5g\ . 
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Jofj;flos cWoog (Business Studies [Bus.216]) 

sIff (Grade): XII 

;do (Time): 3 Hrs.       k"0ff{ª\s (Full Marks): 75 

k/LIffyL{n] ;s];Dd cfkm\g} zAbdf df}lns pQ/ lbg'kg]{ 5 . lsgf/fdf lbOPsf cª\sn] k"0ff{ª\snfO{ hgfpF5 .  

(The candidates are required to give their answers in their own words as far as 

practicable. The figures in the margin indicate full marks.)  

;d"x s -Group A) 

clt ;ª\lIfKt pQ/fTds k|Zgx¿ (Very Short Answer Questions) 

;a} k|Zg xn ug'{xf];\ (Attempt All Questions)     (11 x 1 = 11 ) 
!= Joj:yfkgnfO{ kl/eflift ug'{xf];\ . 

Define management? 
@= of]hgsf s'g} b'O{ ;Ldf pNn]v ug'{xf];\ . 

State any two pitfalls of planning. 

3. lg0f{o sfo{ eGgfn] s] a'em\g'x'G5 < 

What do you mean by decision making? 
$= sfof{Tds ;ª\u7g ;+/rgfsf] 9fFrf tof/ kfg'{xf];\ . 

Draw a functional organization structure. 
%= ;~rf/sf  k|sf/ n]Vg'xf];\ . 

Write the types of communication. 
^= ;'k]l/j]If0f eg]sf] s] xf] < 

What is supervision? 
&= sd{rf/Lsf nflu pTk|]/0ff lsg dxŒjk"0f{ x'G5 < 

Why motivation is important for employee? 
*= kfl/jfl/s Joj;fo Joj:yfkgsf s'g} b'O{ ljz]iftf pNn]v ug'{xf];\ . 

State any two feature of family business management. 
(= cfk'lt{ z[ª\vnf Joj:yfkg eg]sf] s] xf] < 

What is supply chain management? 
!)= k|ltef Joj:yfkg ;ª\u7gsf nflu lsg dxŒjk"0f{ x'G5 < 

Why talent management is important for an organization? 
!!= Jofj;flos kqsf u'0f ;"rLa4 ug'{xf];\ . 

List out the qualities of business letter. 

;d"x v (Group B) 

;ª\lIfKt pQ/fTds k|Zgx¿ (Short Answer Questions) 

;a} k|Zgx¿ xn ug'{xf];\ . (Attempt All Questions.)   ( 8 x 5 = 40 ) 
!@= Joj:yfkgnfO{ Ps snfsf ¿kdf JofVof ug'{xf];\ . 

"Management is an art". Explain. 
!#= kmfof]nsf] k|zf;lgs Joj:yfkgsf] l;4fGt ;+If]kdf JofVof ug'{xf];\ . 

Beirfly discuss the Fayol's administrative management theory. 
!$= Pp6f Jofj;flos ;ª\u7gdf Joj:yfksn] s;/L lg0f{o lnG5g\\ < 

How managers make decision in a business organization?  

cyjf(or) 
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Jofj;flos ;ª\u7gdf of]hgfsf] cf}lrTo ;ª\If]kdf AofVof ug'{xf];\ . 

Briefly describe the rationale of planning in a business organization. 
!%= ;ª\u7g sfo{sf l;4fGt JofVof ug'{xf];\ . 

Explain principles of organizing. 
!^= g]tfsf] ¿kdf Aoj:yfkssf] e"ldsf ljZn]if0f ug'{xf];\ . 

Analyze the role of manager as a leader. 
!&= k|efjsf/L lgoGq0fsf cfjZos tŒj j0f{g ug'{xf];\ . 

Describe essentials of an effective control. 

cyjf(or)  
k|efjsf/L ;+rf/sf dgf]j}1flgs / efiffut cj/f]w :ki6 kfg'{xf];\ . 

Elucidate psychological and semantic barriers of effective communication. 

!*= u'0f:t/ Joj:yfkg eg]sf] s] xf] < o;sf tŒj rrf{ ug'{xf];\ .          2+3 

What is quality management? Discuss its components.  
!(= ahf/ ;xfos kbsf nflu Pp6f cfjb]g kq tof/ ug'{xf];\ . 

Draft an application letter for the post of marketing assistant. 

;d"x u (Group C) 

nfdf] pQ/fTds k|Zgx¿ (Long Answer Questions) 

;a} k|Zg xn ug'{xf];\ . (Attempt All Questions.)    (3 X 8 = 24) 
@)= pRr Aoj:yfksx? clVtof/ k|Tofof]hg ug{ lsg clgR5's x'G5g\ < clVtof/ k|Tofof]hg / ljs]Gb|Ls/sf 

s'g} tLg leGgtf pNn]v ug'{xf];\ .        5+3 

Why top managers are unwilling to delegate authority? State any three 

differences between delegation and decentralization of authority.    
@!= df:nf]sf] pTk|]/0f l;4fGtsf] cfnf]rgfTds JofVof ug'{xf];\ . 

Critically examine the Maslow's theory of motivation. 
@@= k|d'v tŒj ;dfj]z ub}{  Pp6f Jofj;flos of]hgf tof/ kfg'{xf];\ . 

Formulate a business plan including its major elements. 

cyjf(or) 
åGå Joj:yfkg eg]sf] s] xf] . tkfO{Fsf] ljrf/df s'g} ;ª\u7gdf  åGå ;[hgf x'gsf sf/0f s] x'g ;S5g\\< 

What is conflict management? What do you think, what could be the cause of 

conflict in an organization?           3+5 
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14.Chemistry 

Test Specification Chart 2078 
Grade: 12        Subject:  Chemistry Theory (Che. 302) 
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1 Physical chemistry 40 

2 2 2 10 5 5 1 5 1 8  3 3 2 10 1 8 1 1 3 15 1 8 

22 
2 Inorganic chemistry 20 12 
3 Organic chemistry 55 33 
4 Applied chemistry 13 8 

Total 128 12 18 21 24 75 

 
Item format plan 

S.N. Type of item Score per 

item 

Total item Total score Time 

1 Multiple Choice Questions 1 11 11 25 minutes 

2 Short Question Answer 5 8 40 155 minutes 

3 Long Question Answer 8 3 24 

Grand Total  22 75 3 hours 

Remarks: 
 Item format in composite should be met as per the specification grid.  

 Designated weightage in the combined cell should be met, but ±3 marks variation will be allowed within a unit/content area. But no unit can be nil. 

 In the case of SAQ and LAQ, these should ensure that 1 mark will be assigned per element expected as correct response.  

 The distribution of cognitive domain of questions should be nearly 15% knowledge/remembering, 25% understanding, 30% applying and 30% higher 

ability level, but ±5 percent variation will be allowed in overall question set. 

 SAQ and LAQ can be structured (have two or more sub-items). SAQ and LAQ can be distributed to two or more cognitive behaviors.  

 In such case these will be added to their respective cognitive behavior. In sum the distribution of cognitive behavior should be approximately to the 

required distribution. In case of SAQ there will be 2 "OR" questions and in case of LAQ there will be 2 "OR" question. 
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Model Question 

School Leaving Certificate Examination  

2078 

Grade: XII  Subject: Chemistry    Subject Code: 302 

Full marks: 75 (11 marks Obj+ 64 marks Sub)   Time: 3 Hours 

 

Group A: Multiple Choice Questions (11×1 = 11)   Time 25 Minutes 

 

Tick the correct answer. 

1. What is the equivalent weight of H3PO3 in the reaction; 2NaOH + H3PO3  Na2HPO3 + 2H2O 

A) 2M  B) M/1   C) M/2  D) M/3 

2. The solubility product of chalk is 9.3 × 10
-8

. What is its solubility in gram per liter?  

A) 3.04 × 10
-1

  B) 3.04 × 10
-2

  C) 3.04 × 10
-3

  D) 3.04 × 10
-4

 

3. What is the concentration of N2O5 in the following first order reaction in which the 

rate is 2.4 × 10
-5

 mol/L and rate constant is 3.0 × 10
-5

S
-1

?   

2N2O5   4NO2 + O2  

A) 0.04   B) 0.8   C) 1.2   D) 1.4 

4. What happens when the lead storage battery is discharged? 

A) SO2 is evolved                 B) PbSO4 is consumed                     

C) Lead is formed                                  D) H2SO4 is consumed  

5. What is the general electronic configuration of transition metal? 

A) (n-1)s
2
p

6
d 

1-10
ns

0-2
     B) (n-1)s

2
p

6
ns

2
np

1
 C) (n-1)s

2
p

6
d

5
ns

1
  D)(n-1)s

2
p

6
ns

1
 

6. Which of the following ore is concentrated by forth-flotation process? 

A) Hematite  B) Siderite  C) Galena  D) Malachite 

7. Which of the following products is obtained when nitrobenzene is electrolytically 

reduced? 

A) P-aminophenol  B) azobenzene   C) azoxybenzene D) 

hydrazobenzene 

8. Which of the following compounds is pi-bonded organo-metallic compound which 

has ethene as one of its component and is the first synthesized organometallic 

compound? 

A) Zeise‟s salt   B) Ferrocene  C) Dibenzene chromium D) Tetraethyl tin 
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9. What effect does calcium sulphate have on cement? 

A) Retards setting action     B) Acts as flux  C) Imparts color  D) Reduces strength 

10. Removal of which of the following leads to higher fiber-fiber bonding strength in 

paper? . 

A) Softwood      B) Hardwood              C) Lignin           D) Pulp 

11. In the figure given below which one is correct? 

 

A) Alpha rays deviate towards A, beta rays deviate towards C and gamma rays direct 

towards B. 

B) Alpha rays direct towards B, beta rays deviate towards C and gamma rays towards 

A. 

C) Alpha rays deviate towards C, beta rays direct towards B and gamma rays towards 

A. 

D Alpha rays deviate towards C, beta rays deviate towards A and gamma rays direct 

towards B. 
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Model Question 

School Leaving Certificate Examination  

2078 

Grade: XII  Subject: Chemistry    Subject Code: 302 

Full marks: 75 (11 marks Obj + 64 marks Sub)   Time: 3 Hours 

 

Attempt all the questions. 

Group B: Short Answer Questions (8×5 = 40)  

 

1. Standard solution of Na2CO3 is used to determine the strength of H2SO4 during Titration. 

A) How is the completion of the reaction in this titration detected? Is the solution prepared 

from Na2CO3 primary standard? Why? [1+1]  

B) 2.16 g of pure Na2CO3 is added to 400 ml deci-normal solution of H2SO4. How many 

grams of H2SO4 is further required to neutralize the resultant solution completely? [3]  

OR 

A) Derive the relation k =log  log  . Show that for the first order reaction the time 

required for half the change (half life period) is independent of the initial concentration. 

(2+1) 

B) A first order reaction is 50% completed in 1.2610
145

. How much time would it take for 

90% completion? (2) 

2. Study the following data for the thermodynamic process H2O (l)   H2O (s) at different 

temperatures and at 1 atmospheric pressure.  

Condition Temperature Entropy change in J/Kmol
-1

 

  Entropy of system Entropy of surrounding 

1 -1
0
C -25.68 +25.72 

2 0
0
C -26.55 +26.88 

3 +1
0
C -27.62 +27.42 

a. Calculate the total entropy of the universe at given condition 3. (1) 

b. Can we predict the spontaneity of the given reaction at 0
0
C? (1)  

c. Calculate the equilibrium constant for the fusion of ice at 1
0
C. What is the effect of 

temperature for the entropy change of reaction?   (2+1) 
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3. The figure shows the octahedral distortion of d-block orbital in the presence of ligand.   

 

a. Why does octahedral distortion occur in the presence of ligand? Explain on the basis of 

CFT. (2) 

b. On the basis of the given distortion, how can you explain [Cu(H2O)6]
++

 is blue colored 

complex. (1) 

c. Out of Fe
++

 and Fe
+++

 which one is more stable? Explain on the basis of distortion seen in 

the above figure. (1) 

d. Why do such elements which give such splitting show good catalytic properties? (1) 

4. X is an ore of a metal M. X on calcination gives black precipitate (W) of metal oxide which 

belongs to group II of basic radical in qualitative analysis. X on roasting gives the metal (M) 

and a gas as major byproduct. The gas when passed through an acidified K2Cr2O7 solution 

turns green.  

a. Identify the metal X.                                   (1) 

b. Write the reaction involved during calcination of X.   (1) 

c. Write the action of the gas on acidified K2Cr2O7.   (1) 

d. Convert metal X into it‟s vitriol.   (2)           

5. The given table shows the compounds and their molecular formula. How can you convert P 

to Q, where Q is a compound in which two methyl groups are substituted at adjacent 

carbons? How is P obtained from T, where T is secondary alcohol? Write the reactions 

involved in the conversion of P into R and S? [5x1=5]    

Compounds Molecular formula 

P C3H7Br 

Q C6H14 

R CH2O 

S C2H4O 

T C3H8O 

OR 

An aromatic compound [A] in which one chlorine atom is substituted at benzene ring. When 

the compound [A] is heated with 2, 2, 2-trichloro ethanal in presence of conc. H2SO4 gives 

an insecticide [B]. The compound [A] when treated with an acid chloride containing two 

carbon atoms in the presence of anhydrous AlCl3 gives [C].  
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a. Identify B and C.   (1 +1) 

b. Reaction of aq. NaOH on the compound [A] is more difficult than with chloroethane, 

justify with a suitable explanation. (2) 

c. How would you obtain compound A from benzene diazonium chloride? (1) 

6. A list of compounds are given as follows: 

p-hydroxyazobenzene, C6H5N2Cl, C6H5NH2, C6H5NO2, C6H6 

From the above list of compounds, prepare a sequence of reaction chain with suitable 

conditions and reactions.          (1+1+1+1+1) 

7. Write down the isomeric alcohols of C3H8O and their IUPAC name. How would you apply 

Victor Meyer's test to distinguish these isomers?  (2+3)    

8. A) Define condensation polymerization. Write the molecular structures of monomers of 

Bakelite.  (1+2)   

B) Differentiate between OPC and PPC cement.  (2)    

 

Group C: Long Answer Questions (3 × 8 = 24) 

9. (A) What amount of Zn(OH)2 will be precipitated out at 25
0
C if 100 ml of 0.22gm NaOH is 

added to 1 liter of a saturated solution of Zn(OH)2? Precipitate is obtained in this reaction , 

why? [Solubility product of Zn(OH)2 at 25
0
C is 1.8 x 10

-14
.]                                 (4+1) 

(B) Potassium hydroxide having pH 8 is diluted 1000 times. Calculate the pH of the diluted 

base.      (3) 

OR 

(A) Calculate heat of formation of ethyl alcohol from the given data.   (4)  

Heat of combustion of ethyl alcohol -330 kcal 

Heat of formation of Carbondioxide -94 kcal 

Heat of formation of water -68.5 kcal 

(B) The standard electrode potential for the following electrode reaction at standard state is 

given. 

Cu(s)      Cu
++

 (aq) + 2e
-
……………..E

0
 Cu

++
/Cu= +0.34V 

Ag
+
(aq) + e

-
  Ag(s) …………………..E

0
 Ag

+
/Ag=+0.80V 

a. Write the cell notation indicating anode and cathode. (1) 

b. With 1M solution of ion at 25
0
C and 1atm. pressure, what will be the cell potential? (1) 

c. Calculate the free energy change in the reaction.   (1) 

d. Can we store AgNO3 solution in a copper vessel? (1) 

10. (A) A primary alcohol with molecular wt. 46 is boiled with sodium hydroxide and iodine. 

When the same alcohol is heated with ethanoic acid in presence of conc. H2SO4, one of the 

derivatives of carboxylic acid is obtained. Write the reactions involved in both conditions. 

What would be the product obtained when the same alcohol is heated with conc.H2SO4? 

How would you distinguish the above alcohol from methanol? [1+1+1+1+1=5] 

(B) An aromatic compound known as oil of mirabane is prepared from benzene. 
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a.  What product would you obtain when the compound is electrolyzed in acidic medium? 

(1) 

b. Give the complete reaction for the conversion of the compound into yellow dye. (2) 

 

11.  

(A) An organic compound is used in the given figure to preserve museum specimens 

and also to prepare urinary antiseptics.  

a. Write the reaction when the compound is heated with concentrated sodium 

hydroxide. (1) 

b. Draw the structure of urinary antiseptic (1)  

c. Write the chemical reaction that would occur when the given preservative 

is treated with phenol in acidic medium.   (2) 

d. How would you obtain the preservative from methanol? (1) 

(B) A carbonyl compound with molecular formula C3H6O (it does not give silver mirror test) 

has treated with a compound Y which gives Z.  Z on hydrolysis in acidic medium gives 2-

hydroxy-2-methyl propanoic acid. Identify the carbonyl compound, Y and Z with proper 

reactions. [1+1+1] 

OR 

(A) Starting from compound P, how do the reactions proceed ahead to obtain T which gives 

benzene where R is aniline? Complete the reaction sequence with suitable conditions. 

[5x1=5] 

  
(B) Arrange the given compounds according to their ascending order of acidic strength and 

justify your order. 

CH3CH2COOH, C6H5COOH, ClCH2CH2COOH                                                         

[1+1+1] 

 

 

The End
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Appendix 

Test Matrix 

 

Note: This is the test matrix prepared for this set only but for other sets of questions test 

matrix may be varied. 

SN Chapter Area/TH Weightage 

(TH) 

MCQ SAQ LAQ 

1 Volumetric 

analysis 

Physical 

Chemistry  

40 

(22 Marks) 

8 1 1  

2 Ionic equilibrium 10 1  1 

3 Chemical kinetics 7 1 1  

4 Thermodynamics 8  1 (3) 

5 Electrochemistry 7 1  (5) 

6 Transition metal Inorganic 

20 

(12 Marks) 

5 1 1  

7 Heavy metal 15 1 1  

8 Haloalkanes  

Organic 

Chemistry 

55 

(33 Marks) 

8  1  

9 Haloarenes 3  1  

10 Alcohols 7   (5) 

11 Phenols  4  1  

12 Ethers 2    

13 Aldehydes and 

ketones 

10   1 

14 Carboxylic acids 9   1 

15 Nitro compounds 3 1   

16 Amino 

compounds 

7  1 (3) 

17 Organometallic 

compounds 

2 1   

18 Chemistry in 

service to 

mankind 

Applied 

Chemistry  

13 

(8 Marks) 

4  (3)  

19 Cement  4 1 (2)  

20 Paper and pulp 3 1   

21 Nuclear chemistry 2 1   

 Total  128 (75 

Marks) 

128 11 40 24 
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!% cy{zf:q ljlzi6Ls/0f tflnsf  -#)$_ 

;}4flGts tyf cEof; 

ljifo If]q pkIf]q sfo{

306f 

1fg af]w k|of]u pRr bIftf hDdf k|Zg hDdf 

;Vof 

hDdf 

ef/ 

 

c= 

5f]6f] 5f]6f] nfdf] c=5f]6f] 5f]6f] nfdf] c=5f]6f] 5f]6f] nfdf] c=5f]6f] 5f]6f] nfdf] c=5f]6f] 5f]6f] nfdf] 

  != cy{zf:qsf] 

cfwf/e"t 

cjwf/0f / 

;fwgsf] ljt/0f 

!= cy{zf:qsf] 

cfwf/e"t  

cjwf/0f / 

;fwgsf] ljt/0f * ! 

   
! 

       
! ! 

 

@ ^ 

@= ;'Id cy{zf:q != ahf/ tyf cfDbfgL 

/]vfx? 

#* 

    
! 

 
! ! ! 

 
! 

 
! # ! % @$ 

@= nfut /]vfx? 

#= d"No tyf pTkfbg 

lgwf{/0fsf] l;4fGt 

$= pTkfbgsf ;fwgsf] 

d"No lgwf{/0f 

#= ;dli6 

cy{zf:q 

!= a}ª\lsª k|0ffnL / 

df}lb|s gLlt 

@% ! ! 

 
! 

 

   
! 

   
@ 

! 

! 

$ !% 
@= ;/sf/L ljQ 
#= cGt/fli6«o Jofkf/ 

$= ljsf; 

cy{zf:q 

!= u/Lla, c;dfgtf, 

a]/f]huf/L / dfgj 

;+;fwg * ! 

         
! 

 
! ! 

 

@ ^ 

%= g]kfnsf] 

cy{Joj:yf 

!= g]kfnsf] j}b]lzs 

Jofkf/ / j}b]lzs 

/f]huf/ 

@* ! 

  
! 

  
! ! 

   
! # ! ! % !^ 

@= g]kfndf ljsf; 

of]hgf 

#= lbuf] ljsf;sf 

nIox? / g]kfn 

^= kl/df0ffTds 

k4lt 

!= cfwf/e"t 

tYofª\szf:q !# ! 
     

! 
  

! ! 
 

# ! 
 

$ * 

 
!@) % ! 

 
@ @ 

 
# @ @ ! # ! !! * # @@ &% 
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b|i6Jo M 

!= clt 5f]6f] k|Zg ! cª\ssf] x'g] 5g\ / ;s];Dd ;a} PsfO ;d]l6g] u/L !! k|Zg /xg] 5g\\ . 

@= 5f]6f] k|Zg % cª\ssf x'g] 5g\ /  ;s];Dd ;a} PsfOsf] k|ltlglwTj x'g] u/L * k|Zg /xg] 5g\\ ;fy} s'g} b'O{ k|Zgdf ljsNk lbg 

;lsg] 5 . 

#= nfdf] k|Zg * cª\ssf x'g] 5g\\ / # k|Zg /xg] 5g\ ;fy} s'g} Ps k|Zgdf ljsNk lbg ;lsg] 5 . 

$= 1fg txdf k"0ff{ª\ssf @) k|ltztdf ga9\g] u/L, pRr bIftf txdf @) k|ltztdf g36\g] u/L / cGo txdf cfjZostfcg';f/ k|Zg 

/xg] 5g\\ . 

%=;a}  txdf ljifosf] k|s[lt / cfjZostfg';f/ clt 5f]6f, 5f]6f / nfdf k|Zg /xg] 5g\\ . ;a} txdf ;a} vfnsf k|Zg /xg'kg]{ 

clgjfo{tf x'Fb}g . pRr bIftfcGtu{t ljZn]if0f, d"Nofª\sg / l;h{gfTds txsf k|Zg /xg] 5g\ . 
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cy{zf:q (Economics [Eco.304]) 

sIff (Grade): XII 

;do (Time): 3 Hrs.       k"0ff{ª\s (Full Marks): 75 
 

k/LIffyL{n] ;s];Dd cfkm\g} zAbdf df}lns pQ/ lbg'kg]{ 5 . lsgf/fdf lbOPsf cª\sn] k"0ff{ª\snfO{ hgfpF5 .  

(The candidates are required to give their answers in their own words as far as 

practicable. The figures in the margin indicate full marks.)  
;d"x s -Group A) 

clt ;ª\lIfKt pQ/fTds k|Zgx¿ (Very Short Answer Questions) 

;a} k|Zgx¿ xn ug'{xf];\ (Attempt All Questions)     (11 x 1 = 11 ) 

 

1. ldl>t cy{Joj:yfsf s'g} b'O{cf]6f ljz]iftf n]Vg'xf];\ .  

(Write any two features of mixed economy.)  

2. olb s'g} Pp6f kmd{sf] s'n cfo ?=$))) / s'n nfut ?= ##)) eP s'n gfkmf kQf nufpg'xf];\ . 

 (If total revenue of a firm is Rs. 4000 and total cost is Rs. 3300 then find the total profit.)  

3. ;/sf/L cfo eg]sf] s] xf]< 

(What is government revenue?)  

4. Jofkf/ ;Gt'ng / e'Stfg ;Gt'ngsf] s'g} b'O{cf]6f leGgtf n]Vg'xf];\ . 

(Write any two differences between balance of trade and balance of payments.)  

5. dfgj ljsf; ;"rsfª\ssf s'g} b'O{cf]6f cfwf/e"t cjoj n]Vg'xf];\ . 

(Write any two basic components of Human Development Index.)  

6. ljZj Jofkf/ ;ª\u7g eg]sf] s] xf] < 

(What is World Trade Organization?)  
7. g]kfnsf] cy{tGqdf ljk|]if0fsf s'g} b'O{ pTkfbgzLn pkof]u n]Vg'xf];\ .  

(Write any two productive uses of remittance in Nepalese economy.)  
*= lbuf] ljsf;sf !& cf]6f nIodWo] g]kfnsf nflu k|ToIf ¿kdf ;fGble{s g/x]sf] nIo s'g xf] < 

(Which one of the 17 goals of sustainable development is not directly relevant to Nepal?)  
9. tYofª\szf:qsf] kl/efiff lbg'xf];\ . 

(Define statistics.)  
10. k|fylds tYof+snfO{ lsg a9L ljZjfl;nf] dflgG5 < 

(Why primary data is considered more reliable?)  

11. lbOPsf] tYofª\ssf] dWos !^ eP ‟X‟ sf] dfg kQf nufpg'xf];\ .   
 (Find the value of „X‟ if the mean of given data is 16.)  

cfo ?= (Income in Rs.): 10,  12,  X,  18,  26  
 

;d"x v (Group B) 

;ª\lIfKt pQ/fTds k|Zgx¿ (Short Answer Questions) 

;a} k|Zg xn ug'{xf];\ . (Attempt All Questions.)   ( 8 x 5 = 40 ) 

 

12. >d ljefhg eg]sf] s] xf] < o;sf kmfObfsf] JofVof ug'{xf];\ .     1+4 

(What is division of labour? Explain its advantages.)  

cyjf (Or), 

;dfhjfbL cy{tGq eg]sf] s] xf] < o;sf ljz]iftf JofVof ug'{xf];\ . 1+4 

(What is socialist economy? Explain its features.)         
13. Aofhsf] zf:qLo l;4fGt AofVof ug'{xf];\ .  

(Explain the Classical Theory of Interest.)  

14.   lbOPsf] tflnsfsf] cfwf/df tnsf k|Zgsf] pQ/ lbg'xf];\ .         3+2 

 (Answer the following questions based on the given table.)  
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ljj|mL ul/Psf] j:t'sf] PsfO 

(Units of good sold) 
d"No ?=  

(Price in Rs.) 
s'n cfo (Total 

revenue) 

;LdfGt cfo 

(Marginal 

revenue) 

cf};t cfo 

(Average 

revenue) 

1 10    

2 8    

3 6    

4 4    

i. lbOPsf] tflnsf k"/f ug'[{xf];\ . (Complete the given table.)      

ii. k"/f ul/Psf] tflnsfaf6 cf};t / ;LdfGt cfo /]vf /rgf ug'[xf];\ . 

(Draw average and marginal revenue curves from the completed table.)                                                     
15. cf};t / ;LdfGt nfutlarsf] ;DjGw /]vflrqsf] cfwf/df ljZn]if0f ug'{xf];\ . .  

(Analyze the relationship between average cost and marginal cost based on a diagram.)  

16. s]Gb|Lo a}ª\ssf s'g} kfFrcf]6f sfo{ j0f{g ug'[xf];\ . 

(Describe any five functions of Central Bank)   

17 g]kfndf  a9\bf] a]/f]huf/Lsf sf/0f n]vfhf]vf ug'{xf];\ .  

(Evaluate the causes of increasing unemployment in Nepal.)  

18. g]kfndf of]hgf lgdf{0f k|ls|ofnfO{ k|efjsf/L agfpg s'g s'g pkfo ckgfpg ;lsG5 < cfkm\gf] /fo JoSt ug'{xf];\ .  

What measures do you suggest to make plan formulation effective in Nepal? Give your 

opinion.   

19. lbOPsf] tYo+fsjf6 :t/Lo ljrng kQf nufO{ glthfsf] JofVof ug'{xf];\  .   4+1 

(Find the standard deviation from the given data and interpret the result.)   

Hofnf ?=(Wages Rs.)  >ldssf] ;ª\Vof (No. of Labor)  

15 4 

22 5 

26 3 

32 6 

35 2 

 

cyjf  (Or) 

lbOPsf] tYo+fsjf6 kfZr]sf] d'No ;'rsfª\s kQf nufpg'xf]; / glthfsf] JofVof ug'{xf];\  . 4+1 

 (Find Paasche's Price Index Number from the given data and interpret the result)  

 
Jf:t'sf k|sf/ 

(Types of 

Goods) 

lj=;= (B.S.) 2070 lj=;= (B.S.) 2077 
Kf|ltPsfO d"No ?= df 

(Per unit price 

in Rs.)  

Jf:t'sf] kl/df0f ls=u|f 

(Quantity of goods 

in Kg.)  

Kf|ltPsfO d'No ?= df 

(Per unit price in 

Rs.)   

Jf:t'sf] kl/df0f ls=u|f 

(Quantity of 

goods in Kg.) 

A 8 12 15 15 

B 9 22 12 19 

C  12 11 18 19 

D 5 20 10 25 
 

 

  

;d"x u (Group C) 
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nfdf] pQ/fTds k|Zgx¿ (Long Answer Questions) 

 

;a} k|Zg xn ug'{xf];\ . (Attempt All Questions.)    (3 X 8 = 24) 

 

20. k"0f{ k|lt:kwf{ ahf/df  ;LdfGt cfo ;LdfGt nfut ljlw4f/f cNksfndf kmd{sf] ;Gt'lnt d"No / pTkfbg s;/L lgwf{/0f x'G5 < 

JofVof ug'{xf];\ . 

 (How equilibrium price and output are determined in the short-run by a firm using MR-MC 

approach under perfect competition? Explain.)   

21. g]kfnsf] cy{tGqsf nflu ;/sf/L C0f lsg dxŒjk"0f{ 5 < sf/0f lbg'xf];\ .  

(Why government borrowing is important for Nepal's economy? Give reasons.)  

22.  g]kfnsf] Jofkf/ 3f6f sd ug{ tkfO{Fn] s] s] ;'emfj lbg'x'G5 < JofVof ug'{xf];\ . 

(What measures do you suggest to reduce trade deficits of Nepal? Explain.)    

cyjf (Or), 

æljsf;f]Gd'v b]zsf nflu j}b]lzs /f]huf/ ;w}F kmfObfhgs x'b}g .Æ k'li6 ug'{xf];\ . 

(“Foreign employment is not always beneficial for the developing country.” Justify.)       
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16. Marketing  [Mar.308]) 

Specification Grid  

Subject: Marketing   [Mar.308])            Grade: XII 

 
S. No 

Units 

Content/Domain 

Area 

Knowledge Comprehensive Application Higher Ability Total Questions Marks  Weight

age       

Very  

short 

Short  Long  Very  

short 

Short  Long  Very 

short 

Short  Long  Very 

short 

Short Long  Very 

short 

Short  Long  

1 An Overview of 

Marketing 

1            1 - - 1 2 

2 Product  1   1 1 1 1 1     3 2 1 21 

 

20 

3 Pricing  12 

4 Distribution  1 1   1 

 

 1 1    1 2 3 1 25 

 

22 

5 Promotion  20 

6 Emerging issues in 

modern marketing  

2   1 1      1 1 3 2 1 21 20 

7 Business ethic and 

social 

responsibility  

12 

8 Developing 

Salesmanship Skill 

1 1  1         2 1 - 7 12 

Total   6 2  3 3 1 2 2   1 2 6 5 2 100 120 

 

Notes:  

1. The alternative short and long questions will be asked from appropriate chapters taking in to account the nature, depth and 

coverage of the contents.  

2. Very short question will be of one (1) mark and there will be eleven (11) questions from each of the chapters to the possible 

extent.  

3. Short question will be of five (5) marks and there will be eight (8) questions from each of the chapters to the possible extent. 

All the questions shall be compulsory. However, two alternative questions will be added to any two questions among the total 

questions asked.  

4. There will be three long questions carrying eight (8) marks. All the questions shall be compulsory. However, one alternative 

question will be added to any one of the three questions. 
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5. The weightage of the question shall not exceed twenty percent in knowledge level, no less that 20 percent in higher efficiency 

and in other level question may be asked as per necessity.  

Types of Question 

Types of Question Numbers of Question Total marks 

Very short answer 

type 

11 11x1=11 

Short answer type 8 8x5=40 

Long answer type   3 3x8=24 

 

Note: Numbering of the questions should be arranged from first very short questions (Q.N. 1 to 11), short answer questions 

(Q.N. 12 to 19) and long answer questions (Q.N. 20 to 22). 
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ahf/zf:q (Marketing  [Mar.308]) 

sIff (Grade): XII 

;do (Time): 3 Hrs.    k"0ff{ª\s (Full Marks): 75 
 

k/LIffyL{n] ;s];Dd cfkm\g} zAbdf df}lns pQ/ lbg'kg]{ 5 . lsgf/fdf lbOPsf cª\sn] k"0ff{ª\snfO{ hgfpF5 .  

(The candidates are required to give their answers in their own words as far as 

practicable. The figures in the margin indicate full marks.)  
 

;d"x s -Group A) 

clt ;ª\lIfKt pQ/fTds k|Zgx¿ (Very Short Answer Questions) 

;a} k|Zgx¿ xn ug'{xf];\ (Attempt All Questions)     (11 x 1 = 11 ) 

 

1. ahf/zf:qsf] cy{ n]Vg'xf];\ . 

Write the meaning of marketing.  

2. pkef]Stf j:t'sf k|sf/ pNn]v ug'{xf];\ .  

Point out the types of consumer goods.  

3. JolStut a|fG8sf s'g} b'O{ pbfx/0f lbg'xf];\ . 

Give any two examples of individual brand.  

4. d"No lgwf{/0fsf] cy{ n]Vg'xf];\ . 

Write the meaning of pricing. 

5. Jofkf/ 5'6 eGgfn] s] a'em\g'x'G5 < pNn]v ug'{xf];\ . 

What do you know about trade discount? State.  

6. laj|mL k|j4{gsf nflu ckgfOg] s'g} b'O{ k|rlnt ljlwsf] pbfx/0f lbg'xf];\ . 

Give any two examples of method of sales promotion.  

7. cf}Bf]lus ahf/zf:q eg]sf] s] xf] < 

What is industrial marketing?  

8. OG6/g]6 cfw'lgs / nf]slk|o ahf/Ls/0fsf] ljlw xf] . lsg < 

Internet is modern and famous method of marketing. Why?  

9. ahf/zf:q g}ltstfsf af/]df s] a'em\g'x'G5 < n]Vg'xf];\ . 

What do you know about the marketing ethics? Write. 

10. ahf/zf:q ;ª\u7gåf/f ckgfOPsf s'g} b'O{ ;fdflhs pQ/bfloTj pNn]v ug'{xf];\ . 

State any two social responsibilities adopted by marketing organization.  

11. ljs|o ;Lk Pp6f k];f xf] . s;/L < 

Salesmanship is a profession. How? 
 

;d"x v (Group B) 

;ª\lIfKt pQ/fTds k|Zgx¿ (Short Answer Questions) 

;a} k|Zgx¿ xn ug'{xf];\ . (Attempt All Questions.)   ( 8 x 5 = 40 ) 

 

12. d"No lgwf{/0fNffO{ k|efj kfg]{ tŒjsf] pbfx/0f ;lxt AofVof ug'[xf];\ . 

Describe factors affecting price determination with example. 

13. v'b|f las|L eg]sf] s] xf]< o;sf ljz]iftf j0f{g ug'{xf];\ . 

What is retailing? Explain its features. 

14. pkef]Stf j:t'sf] ljleGg dfWod 9fFrf pbfx/0f;lxt j0f{g ug'{xf];\ . 

Discuss the various channel structure of consumer product with examples. 



 

81 

cyjf-or_, 
ahf/zf:q g}ltstf eg]sf] s] xf] < /fHok|ltsf] ;fdflhs pQ/bfloTjsf] aofg ug'[xf];\ . 

What is marketing ethics? Explain the social responsibility of marketing towards nation. 

15. ljefuLo e08f/ eGgfn] s] a'lemG5 < ljzfn ahf/;Fu o;sf] leGgtf b]vfpg'xf];\ . 

What do you mean by department store? Differentiate it from super market.  

16. lj1fkgsf] cy{ / dxŒjaf/] j0f{g ug'[{xf];\ . 

Describe meaning and importance of advertising. 

17. g]kfndf ;~hfn ahf/zf:qsf] jt{dfg cj:yf s:tf] 5 < ljj]rgf ug'{xf];\ . 

What is the present status of network marketing in Nepal? Evaluate. 

cyjf-or_, 
pkef]Stf k|lt ahf/zf:qsf] dxTjaf/] AofVof ug'{xf];\ . 

Explain the importance of marketing towards customers. 

18. ljs|osnf ljsf; k|s[ofx? pNn]v ug'{xf];\ . 

State the development process of salesmanship. 

19. ;kmn ljs|]tfdf x'g'kg]{ cfjZos u'0f aofg ug'{xf];\ . 

Explain the essential qualities of successful salesperson. 

;d"x u (Group C) 

nfdf] pQ/fTds k|Zgx¿ (Long Answer Questions) 

 

;a} k|Zg xn ug'{xf];\ . (Attempt All Questions.)    (3 X 8 = 24) 

 

20. gfds/0f gug{'[sf sf/0fsf] JofVof ug'{xf];\ . a|fG8gfd / 6«]8dfs{sf] leGgtf 5'6\ofpg'xf];\ . 

Describe reasons for not branding. Differentiate brand name and trademark. 

cyjf-or_, 
ahf/zf:q ;ld>0fsf] cjwf/0ff / tŒjsf] JofVof ug'{xf];\ . 

Explain the concept and components of marketing mix. 

21. k|j4{g eg]sf] s] xf]< cfw'lgs Aoj;fodf lj1fkgnfO{ k|j4{gsf] pkof]uL tŒjdf ¿kdf lnOG5 . o; egfO{nfO{ k'li6 ug{'[xf];\ . 

What is promotion? Advertisement is one of the most useful component of sales promotion 

in modern business. Prove this statement. 

22. s[lif ahf/zf:q eg]sf] s] xf] < g]kfnsf] ;Gbe{df  s[lif ahf/zf:qsf ;Defjgfsf af/]df ljZn]if0f ug'{xf];\ . 

What is agricultural marketing? Analyze the prospects of the agricultural marketing in the 

context of Nepal. 
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17. Civil and criminal law and Justice, [Ccl.320]) 

Grade: 12 

 

Test Specification Chart 

Plan for Question and distribution of marks covered 

Unit Content Area Teachin

g Hours 

Knowledge Comprehension Application Higher 

ability 

Total Question 

covered 

Total 

Question 

 Total 

Marks 

  VS S L VS S L VS S L VS S L VS S L     

1 Introduction to Civil 

Law and Criminal 

Law 6 

1 

 

  

  

  

  

  

  

  

  

  1 1  

 

1   2 1 1 4 

  

 15 

2 Introduction to 

Property Law 
12 

3 Introduction to law 

of Marriage and 

Divorce  12 

  

 

  

  

  

  1  1 

  

   1 1  

  

  

  

  

  

  

 

2 2 

 

4 12 

4 Law Concerning 

Adoption 12 

5 
Law of Contract 

12 

 

  

  

  1 

  

  

  

1 

  

  

  

  

  

   1 

 

 

1 

  

  2 1 1 4 15 6 

Introduction to 

criminal Law 
10 

7 
Punishment System 

10 

  

  

 

1 

 

  

  1 

 

  

  1 1 

  

  

  

  

  

  

  

  2 2 

 

4 12 8 

Development of 

criminal Justice in 

Nepal 
9 

9 Some Major Crimes 25 1       1             1 1 1 1 3 14  

10 

Major Principles of 

Criminal Law 6 

1 

  

  

  

  1 

  

  

  

  

  

  

1 

 

  

  

  

  

 

  

  2 1 

 

3 7 11 Victim Justice 6 

  120 3 1 - 4 2 1 2 3 1 2 2 1 11 8 3 22 75 
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Notes: 

1. Alternative short and long questions will be asked from appropriate chapters taking in to account the nature, depth and coverage of the 

contents.  

2. Very short question will be of one (1) mark and there will be eleven (11) questions from each of the chapters to the possible extent.  

3. Short question will be of five (5) marks and there will be ten (8) questions from each of the chapters to the possible extent. All the questions 

shall be compulsory. However, two alternative questions will be added to any two questions among the total questions asked.  

4. There will be three long questions carrying eight (8) marks. All the questions shall be compulsory. However, one alternative question will be 

added to any one of the three questions. 

5. The weightage of the question shall not exceed 20 percent in knowledge level, no less than 20 percent in higher efficiency and in other level, 

question may be asked as per necessity.  

Types of Question 

Types of Question Numbers of Question Total marks 

Very short answer type 11 11x1=11 

Short answer type 8  8x5=40 

Long answer type   3 3x8=24 

 

Note: Numbering of the questions should be arranged from first very short questions (Q.N. 1 to 11), short answer questions (Q.N. 12 to 19) 

and long answer questions (Q.N. 20 to 22). 
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b]jfgL / kmf}hbf/L sfg'g / Gofo (Civil and Criminal law and Justice [Ccl.320]) 

sIff (Grade): XII 

;do (Time): 3 Hrs.       k"0ff{ª\s (Full Marks): 75 
 

k/LIffyL{n] ;s];Dd cfkm\g} zAbdf df}lns pQ/ lbg'kg]{ 5 . lsgf/fdf lbOPsf cª\sn] k"0ff{ª\snfO{ hgfpF5 .  (The 

candidates are required to give their answers in their own words as far as practicable. The 

figures in the margin indicate full marks.)  

;d"x s -Group A) 

clt ;ª\lIfKt pQ/fTds k|Zgx¿ (Very Short Answer Questions) 

 

;a} k|Zg xn ug'{xf];\ (Attempt All Questions)     (11 x 1 = 11 ) 

1. b]jfgL sfg'g eg]sf] s] xf] <  

What is Civil Law?  

2. bfgas; ;DaGwL sfg'g lsg cfjZos 5 < 

Why law of Donation is necessary? 

3. wd{k'qLsf] b'O{ st{Jo pNn]v ug'{xf];\ 

State any two duties of adopted daughter. 

4. ljwjfsf] ck'tfnL;DaGwL clwsf/nfO{ s;/L JofVof ug'{x'G5 < Ps jfSodf n]Vg'xf];\ .  

How do you define the Inheritance rights of widow? Write in a sentence. 

5. ck/fwsf rf/cf]6f r/0f n]Vg'xf;\  

Write four stages of Crime. 

6. dfgjGofozf:q s] xf] <  

What is Manavnayasastra?  

7. s:tf] cj:yfdf zf/Ll/s ;hfo lbOG5 <  

In which condition corporal punishment is given?  

8. ;DklQ lj?4sf] ck/fw eg]sf] s] xf] <  

What is offense against property? 

9. of}ghGo ck/fw s] xf] <  

What is sexual offence? 

10.  lsg sfg'gsf] c1fgtf IfDo xF'b}g< 

Why Ignorance of Law is no excuse?  

11. Define Crime Victim  

ck/fwkLl8tsf] kl/ro lbg'x'g;\ . 

;d"x v (Group B) 

;ª\lIfKt pQ/fTds k|Zgx¿ (Short Answer Questions) 

;a} k|Zg xn ug'{xf];\ . (Attempt All Questions.)   ( 8 x 5 = 40 ) 

 

12. d'n'sL b]jfxL ;+lxtf, @)&$ df b]jfgL sfg'g / Gofo;DaGwL ePsf d'Vo d'Vo l;4fGt s] s] x'g\ <  

What are the major principles of civil law and justice under the Muluki Civil Code, 

2074? 
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cyjf(Or), 

>LdtLsf] c+zj08f;DaGwL clwsf/ s] xf] < JofVof ug'{xf];\ . 

What are the partition rights of wife? Explain  

13. ;DklQsf] x:tfGt/0f;DaGwL Joj:yfnfO{ df}h'bf sfg'gn] s;/L ;Djf]wg u/]sf] 5 < n]Vg'xf];\  . 

How does the prevailing law address the provisions relating to Property 

transactions? Write. 

14. g]kfndf dlxnfn] ;DaGw ljR5]b ug{ kfpg] sfg'gL sfo{ljlw s:tf 5g\ . j0f{g ug'{xf];\ .  

What are the legal procedures to get divorce by a women in Nepal? Describe  

15. bf]ifL dgf]efjgfljgf ul/Psf] sfo{ ck/fw x'Fb}g . o; egfOnfO{  JofVof ug'{xf];\  . 

 "Actus non facit reum nisi mens sit rea" Illustrate  

cyjf (Or), 

bf]xf]/f] vt/fsf] l;4fGtnfO{ JofVof ug'{xf];\  . 

 Describe the principle of Double Jeopardy.  

16. kmf}hbf/L Gofo k|0ffnLdf cf/f]k b]lv bf]ifL k|dfl0ft ug]{ cj:yf ;Ddsf cg';Gwfgsf r/0f s] s] x'g\ < JofVof 

ug'{xf];\ . 

What are the process of investigation from blame to conviction in Criminal Justice 

System? Explain. 

17. d'n'sL P]g, @)@) nfO{ vf/]h u/L d'n'sL kmf}hbf/L ;+lxtf, @)&$ hf/L x'gfsf sf/0f s] s] x'g\ < n]Vg'xf];\ . 

What are the causes to enact the National Penal Code, 2074 by replacing Muluki 

Ain, 2020? Write.  

18. s:tf k|sf/sf u}/sfg'gL lj|mofsnfkn] ;/sf/L b:tfj]hx?sf] lst]{ u/]sf] 7xl/G5< pNn]v ug'{xf];\ .   

What types of illegal activities declared as the offence of abuse or forgery of 

government documents? Illustrate  

19. g]kfnsf] jt{dfg ;+ljwfgn] ck/fw kL8ssf] xsnfO{ df}lns xssf] ¿kdf Aoj:yf u/]sf] 5 . o; Joj:yfnfO{ 

s;/L JofVof ug'{x'G5< 

Rights of Crime victim is declared as a fundamental rights under the existing 

Constitution of Nepal. How do you explain this provision?  

 

;d"x u (Group C) 

nfdf] pQ/fTds k|Zgx¿ (Long Answer Questions) 

 

;a} k|Zg xn ug'{xf];\ . (Attempt All Questions.)    (3 X 8 = 24) 

20. ljjfxsf] ;b/, z"Go / jh{lgo x'g] sfg'gL cfwf/ s] s] x'g ;S5g\ < d'n'sL b]jfgL ;+lxtf, @)&$ sf] cfwf/df 

ljZn]if0f ug'{xf];\ .  

What are the basis of Valid, Void and Voidable Marriage? Analyze under the 

provisions of National Civil Code, 2074 

21. s/f/ / s/f/ sfg'gsf] af/]df JofVof ug'{xf];\ . ;fy} s/f/sf] ;b/, z"Go / jh{lgolarsf] km/s 5'6\ofpg'xf];\ .  
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Explain about contract and contract law. Also differentiate between valid, void and 

voidable contracts.  

cyjf (Or), 

ck/fwsf tŒjnfO{ s;/L juL{s/0f ug'{x'G5 < pko' St pbfx/0f ;lxt 5f]6s/Ldf JofVof ug'{xf];\ . 

How do you categorize the elements of Crime? Briefly explain with appropriate 

examples   

22. cfw'lgs ck/fw eg]sf] s] xf] < j}1flgs ljsf; / k|ljlwsf sf/0f a9\b} uPsf cfw'lgs ck/fwnfO{ /f]syfd 

ug]{ pkfo s] s] x'g ;S5g\ . JofVof ug'{xf];\ . 

What is modern crime? What are the measures to prevent modern crime that are 

increasing due to the scientific development and technology? Explain.  
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!*= ;+:s[lt (Culture [Cul.324]) 

ljlzi6Ls/0f tflnsf 

;}4flGts d"Nofª\sg       ljifo M ;+:s[lt       sIff M !@ 

b|i6Jo M 

!= clt 5f]6f] k|Zg ! cª\ssf] x'g] 5g\ / ;s];Dd ;a} PsfO ;d]l6g] u/L !! k|Zg /xg] 5g\\ . 

k|Zg of]hgf tyf cª\sef/ ljt/0f 

PsfO 

 

If]q÷PsfO 

 

Kff7\oef/ 1fg  Aff]w  k|of]u  pRr bIftf  hDdf cª\sef/ hDdf 

cª\s 

clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] nfdf]  

! k'/ftTjsf] kl/ro !) ! - - - ! - - - - - - - ! ! - ^ 

@ k|fu\ Oltxf; !$ ! - ! - - - - - - - - - ! - ! ( 

# clen]v cWoog !) - - - - ! - ! - - - - - ! ! - ^ 

$ d'b|fzf:q !) - - - - - - ! - - - ! - ! ! - ^ 

% g]kfnL k/Dk/fut d"lt{snf !$ ! - - - - ! - - - - - - ! - ! ( 

^= gkfnL k/Dk/fut jf:t'snf @) ! - - ! - - - ! - - - ! @ ! ! !% 

&= ljZj ;Dkbf ;"rLdf 

;"rLrs[t g]kfnsf wfld{s–

;f+:s[lts ;Dkbf 

!^ - ! - ! - - - ! - - - - ! @ - !! 

*= ;ª\u|xfnosf] lrgf/L !# ! - - - ! - - - - - - - ! ! - ^ 

(= ;f+:s[lts ko{6gsf] lrgf/L !# ! - - ! - - - ! - - - - @ ! - & 

 hDdf !@) ^ ! ! # # ! @ #   ! ! !! * # &% 
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@= 5f]6f] k|Zg % cª\ssf x'g] 5g\ /  ;s];Dd ;a} PsfOsf] k|ltlglwTj x'g] u/L * k|Zg /xg] 5g\\ ;fy} s'g} b'O{ k|Zgdf ljsNk lbg ;lsg] 5 . 

#= nfdf] k|Zg * cª\ssf x'g] 5g\\ / # k|Zg /xg] 5g\ ;fy} s'g} Ps k|Zgdf ljsNk lbg ;lsg] 5 . 

$= 1fg txdf k"0ff{ª\ssf @) k|ltztdf ga9\g] u/L, pRr bIftf txdf @) k|ltztdf g36\g] u/L / cGo txdf cfjZostfcg';f/ k|Zg /xg] 5g\\ . 

%=;a}  txdf ljifosf] k|s[lt / cfjZostfg';f/ clt 5f]6f, 5f]6f / nfdf k|Zg /xg] 5g\\ . ;a} txdf ;a} vfnsf k|Zg /xg'kg]{ clgjfo{tf x'Fb}g . pRr bIftfcGtu{t 

ljZn]if0f, d"Nofª\sg / l;h{gfTds txsf k|Zg /xg] 5g\ . 

k|Zgsf k|sf/x¿ 

k|Zgsf k|sf/x¿ ;f]lwg] ;ª\Vof k"0ff{ª\s 

clt ;ª\lIfKt k|Zg !! !! 

5f]6f pQ/ cfpg] k|Zg * $) 

Nffdf] pQ/ cfpg] k|Zg # @$ 

hDdf @@ &% 
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;+:s[lt (Culture [Cul.324]) 

sIff (Grade): XII 

;do (Time): 3 Hrs.     k"0ff{ª\s (Full Marks): 75 
k/LIffyL{n] ;s];Dd cfkm\g} zAbdf df}lns pQ/ lbg'kg]{ 5 . lsgf/fdf lbOPsf cª\sn] k"0ff{ª\snfO{ hgfpF5 .  

(The candidates are required to give their answers in their own words as far as 

practicable. The figures in the margin indicate full marks.)  

;d"x s -Group A) 

clt ;ª\lIfKt pQ/fTds k|Zgx¿ (Very Short Answer Questions)   (11 x 1 = 11 ) 
!= k'/ftŒjnfO{ kl/eflift ug{'xf];\ . 

    Define 'Archaeology'. 
@= k|fu Oltxf;sf] cy{ s] xf] < 

   What is the meaning of Pre -history? 
#= cfˆgf] 6f]n l5d]sdf /x]sf k'/ftflŒjs clen]vnfO{ tkfO{F s;/L ;+/If0f ug'{x'G5 < Ps jfSodf n]Vg'xf];\ . 

  How do you preserve the archaeological inscription found in your tole and 

neighbour? Write in a sentence. 
$= Oltxf; / ;+:s[ltsf] cWoogsf nflu d'b|fsf] k|of]u s;/L pkof]uL x'G5 < 

    How is the use of coin useful to study the history and culture? 
%= lnR5ljsfnLg snfsf b'O{cf]6f ljz]iftf n]Vg'xf];\ . 

     Write any two characteristics of art of Lichchhivi period.  
^= lrqsnf eg]sf] s] xf] < 

     What is meant by Painting? 
&= lzv/ z}nLsf] jf:t'snf eGgfn] s] a'lemG5 < 

     What is meant by Shikhara style architecture? 
*= ljZj ;Dkbf If]q eg]sf] s] xf] < 

     What do you mean by „world heritage site‟? 
(= ;ª\u|xfnsf] cy{ n]Vg'xf];\ . 

      Give the meaning of Museum. 
!)= ko{6gsf k|sf/ pNn]v ug{'xf];\ . 

       Mention the types of Tourism. 
!!= ;f+:s[lts ko{6g eGgfn] s] a'‰g'x'G5 < 

       What do you mean by cultural tourism? 

                                             ;d"x v (Group B) 

;ª\lIfKt pQ/fTds k|Zgx¿ (Short Answer Questions)          ( 8 x 5 = 40 ) 
!@= n'lDagL If]qdf kfOPsf k'/ftflŒjs j:t'x¿sf] ;ª\lIfKtdf j0f{g ug{'xf];\ . 

     Describe in short the archaeological remains found in Lumbini site. 
!#= a|fXdL lnlkn] g]kfnL snf, ;+:s[lt / Oltxf;nfO{ s;/L k|ltljlDat u/]sf] 5 < pbfx/0f;lxt k|:t't 

ug'{xf];\ .  

     How has the Brahmi Script reflected Nepalese art, culture and history? Present 

it with examples. 

                                              cyjf -Or), 
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xf]df];]lkoG; dfgjsf] hLjg z}nLaf/] rrf{ ug'{xf];\ . 

Explain the Homo sapiens human life style. 
!$= dNnsfnLg d'b|fsf ljz]iftf pNn]v ub}{ Ps b}lgs klqsfsf nflu ;dfrf/sf] gd'gf tof/ kfg'{xf];\ . 

     Prepare a model of news for a daily newspaper mentioning the characteristics 

of Malla    Period Coins. 
!%= gofF 3/ agfpg kl/jf/df 5nkmn rln/x]sf] ;Gbe{df 3/ lgdf{0fsf] k/Dk/fut g]kfnL z}nL ckgfpg 

tkfOF{ lsg l;kmfl/; ug'{x'G5 < n]Vg'xf];\ . 
       Why do you recommend to adopt traditional Nepalese style of house building 

in the midst of discussion in your family regarding new house construction? 

Write. 
!^= cd"t{ ;Dkbf ;DaGwL o'g]:sf] dxf;lGw, @))# sf d'Vo k|fjwfg pNn]v ug'{xf];\ . 

      Mention the major provisions of UNESCO Protocol related to Abstract 

Heritage sites, 2003. 
!&= tkfO{F b]zsf] ko{6g dGqL x'g'eof] eg] oxfFsf ;f+:s[lts ;Dkbfsf If]q ;+/If0f / ;+j4{g ug{ s:tf] of]hgf 

agfpg'x'G5 < of]hgf k|:t't ug'{xf];\ . 

      What plan would you make to protect and promote Nepalese cultural heritage 

sites if you were appointed minister for tourism in nation? Present the plan. 
!*= g]kfnsf] ;ª\u|xfnon If]qsf ;d:of / ;dfwfgsf pkfo pNn]v ug'{xf];\ . 

     Mention the problems and remedial measures of the museum in Nepal. 
!(= ko{6gn] tkfO{Fsf] ;dfhdf kf/]sf] ;sf/fTds k|efjsf] ;"rL tof/ kfg{'xf];\ . 

        List out the positive impacts caused by tourism in your society. 

                                           cyjf -Or), 
   wft'snf / sfi7snflarsf kfFrcf]6f km/s n]Vg'xf];\ . 

        Differentiate between metal and wooden craft in five points. 

 

                                 ;d"x u (Group C) 

          nfdf] pQ/fTds k|Zgx¿ (Long Answer Questions)  (3 X 8 = 24) 
@)= gj kfiff0f sfnsf] kl/ro lbO{ o;sf d'Vo ljz]iftf j0f{g ug{'xf];\ . 

        Introduce the Neolithic period and explain the chief features of it. 

                                       cyjf -Or), 
    g]kfndf ko{6g ljsf;sf] Oltxf; ;DaGwdf rrf{ ug'{xf];\ . 

        Shed light on the history of the tourism development of Nepal. 
@!= g]kfnL lrqsnfsf] pTklQ / ljsf; ;DaGwdf ;dLIffTds l6Kk0fL k|:t't ug'{xf];\ . 

         Present a review note on Origin and Development of Nepalese Paintings. 
@@= ljxf/ jf:t'snfsf] k|j4{g ug{ g]kfn ;/sf/ / ;d'bfo :jod\n] s] s] e"ldsf lgjf{x ug'{knf{< k|To]ssf] 

;"rL agfpg'xf];\ . 

      What role should be played by Nepal government and community itself to 

promote Vihara architecture? Make a list of each.  
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19. English (Eng. 334) 

English (Optional) 

Grade XII (Eng. 334) 

Contents Types, numbers and description of questions 

MCQs Short answer questions Long answer questions 

Introduction to 

Language and 

Linguistics 

3 2  

- Definition, explanation, classification and 

comparison. 

Prose 3 3 1 

Summary, narration, comparison, justification of the 

title or meaning, evaluation, compare and contrast, 

explanation with reference to the context, character 

sketch, appreciation of the fictional elements, 

analyzing the text from a critical perspective and 

discussing particular social/ cultural/political issues 

with reference to 

(Note: Questions should be asked from both fiction 

and non-fiction texts.)  

Justification, critical appreciation, plot, character 

sketch, comparison and contrast, appreciation of the 

fictional elements and discussing particular social/ 

cultural/political issues with reference to a text. 

 

Poetry 2 1 1 

Question on explaining with reference to context 

Summarizing, giving the central idea / theme, critical 

appreciation, comparison, justification, appreciating 

poetic elements, analyzing a text from a critical 

perspective and discussing particular social/ 

cultural/political issues with reference to a text 

Justification, critical appreciation, and discussing 

particular social/ cultural/political issues with 

reference to a text. 

Drama 2  

 

 

 

- 

1 

Character sketch, Analyzing, comparing  and 

contrasting, reasoning, writing critical appreciation, 

appreciation the dramatic elements, analyzing a text 

from a critical perspective and discussing particular 

social/cultural/political issues with reference to a text. 

Introduction to 

critical 

perspectives 

1 2  

- Defining the given concept or term, describing, 

comparing and writing short note. 

Total number of 

questions 

11 8 3 

Marks 11x1=1

1 

8x5=40 3x8=24 
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English (Optional) 

(Eng. 334) 

Model Question for Final Examination 

Grade XII      

 F.M.: 75 

Time: 3 hours 

Group A 

Choose and copy the best answer.        

 (11x1=11) 

1. What is a dead language? 

i. A language no longer used in everyday life. 

ii. A language that no one speaks anymore. 

iii. A language that is learnt solely for ceremonial purposes. 

iv. A language that has been lost to history.    

2. The Indo European family includes ................ languages. 

 i. English, German, Swedish   

ii. Latin, French and Modern languages 

 iii. Hindi, Urdu. Sanskrit 

iv. Welsh, Irish, Latin 

3. Mother tongue influence can be effectively minimized in the classroom by ........... 

i. using the mother tongue less often 

ii.  giving examples from the mother tongue  

iii. giving a lot of exposure in the target language 

iv. giving inputs from the target language in a simple, graded manner 

4. How did Sherlock Holmes solve the case in the story „The Three Students‟? 

 i. It was a lucky guess. 

ii. He saw the culprit copying the test. 

iii. He knew the culprit was tall and an athlete. 

iv. He did not solve the case at all. 

5. Why does the mother disagree with Aloo in the story „Leaving‟? 

i. She does not like him. 

ii. She hates America. 

iii. She is afraid he will not return home. 

iv. She is stubborn. 

6. In the final sentence of „Once More to the Lake‟, the narrator feels ......... 

 i. like dancing.   ii. the chill of death. 

 iii. a storm approaching  iv. the clean hair of the waitress. 

7. The Fool calls King Lear a for doing what?  

 i. Searching for the fool  ii. giving away his lands. 

 iii. Hitting Oswald.   iv. Leaving his palace. 

8. During Spring, the narrator describes himself as .............. . 

 i. magical   ii. mischievous 

 iii. obstinate   iv. a man with rough fingers 
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9. What does Larry say he would do to Jeo if they were in the same room in the drama „All 

My   Sons‟?  

 i. Forgive him   ii. Hug him 

 iii. Kill him   iv. Punch him 

10. What sarcastic expression does Sue use to refer to the Kellers in the drama „All My 

Sons‟? 

 i. The holy family.   ii. The United Nations. 

 iii. The band of thieves.   iv. The three little pigs. 

11. Who are the subaltern?  

 i. Any person with hegemonic power.  

ii. Any person from elite class. 

 iii. People relegated to inferior rank or status. 

 iv. Historians. 

Group B 

Write short answers to these questions.       

 (8x5=40) 

12. Are British English and American English two different languages? How are they 

different?   Explain with examples. 

13. Compare between different types of translation.  

14. What does the story say about ecology and human life? (Devil Deer) 

15. What contrast does White make between the sea and a lake, and why does he make this 

contrast  at the very beginning of the essay? (Once More to the Lake) 

16. What arguments does the writers make in favour of lean production? Give their 

examples too. (How  Lean Production Can Change the World) 

17. Why, what could she have done being what she is? 

 Was there another Troy for her to burn? 

Explain these lines form the poem „No Second Troy‟ with reference to context. 

18. How is gender perspective different from class perspective in the study of literature? 

Explain. 

19. Write a short note on any one of: 

a. The character perspective 

b. Cultural perspective 

Group C 

Write long answers to these questions.      

 (3x8=24) 

20. What details of Paul's appearance and behavior, as his teachers see him, indicate that he 

is abnormal? Justify with examples. (Paul's Case) 

21. How did Milton use the development of ongoing events to present problems with a 

mystical resolution in Sonnet 8? Explain. 

22. How does Miller present Joe Keller as both a tragic hero and a villain in All My Sons? 

The End! 
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20. Mathematics (Mat. 402) 

Test Specification Chart, 2078   
Grade: 12                      Subject: Mathematics (Mat. 402) 
SN Content Area Wor

king 

hour 

Competency level Areawi

se 

Marks 

Number 

of 

Question

s 

Knowledge Understanding Application 
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1 

Algebra 31 

2 2 2 10 5 5 1 5 1 8  2 2 4 20 1 8 2 2 1 5 1 8 

20 

MCQ: 2 

SAQ: 2 

LAQ: 1 

2 Trigonometry 8 5 
MCQ: 4 

SAQ: 1 

LAQ: 1 

3 Analytic 

Geometry 
13 8 

4 Vector 7 4 

5 Statistics and 

Probability 
9 6 

MCQ: 1 

SAQ: 1 

6 

Calculus 31 20 

MCQ: 2 

SAQ: 2 

LAQ: 1 

7 Computational 

methods 
10 6 

MCQ: 1 

SAQ: 1 

8 Mechanics or 

Mathematics for 

Economics and 

Finance 

11 6 
MCQ: 1 

SAQ: 1 

Total Marks 120 12 18 30 15 75 

MCQ: 11 

SAQ: 8 

LAQ: 3 
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Question format plan 

S.N. Types of Questions 
Marks per 

question 

Number of questions   

Knowledge Understanding Application Higher Ability 
Total number 

of questions 

Total 

Marks 

1. 
Multiple Choice 

Question 
1 2 5 2 2 11 11 

2. Short Answer Question 5 2 1 4 1 8 40 

3. Long Answer Question 8 0 1 1 1 3 24 

Grand Total  4 7 7 4 22 75 

 

Note:  

 Appropriate extra time will be provided for the handicapped students and the alternative questions to the figure based questions should 

be prepared for blind students. 

 Questions should be prepared by giving the context and one question may have more than one sub-questions. 

 Application and higher ability questions can be made by relating the other content areas. 

 Questions should be made by addressing all the sub-areas of content. 

 At least one multiple choice question should be asked from each area (Trigonometry, Analytic geometry and Vector). 
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Secondary Education Examination 

Model question – 2078 

Grade: 12 

 

Subject: Mathematics (Mat. 402)                                      Full marks: 75 

Time: 3 hrs. 
 

Candidates are required to give their answer in their own words as far as practicable. The figures in the 

margin indicate full marks. 
 

Attempt all the questions. 

 

Group 'A' [1 × 11 = 11] 

 

Rewrite the correct option in your answer sheet. 

1. If  is a complex cube root of unity, then the value of (1 +  –  
2
) (1–  +  

2
) is 

 (a)    (b)  
2
    (c) 1 +   (d) 4 

2. An equation (m + 2)x
2
 – 2(m + 4) x + (m + 7) = 0 have equal roots. The value of m is  

 (a) 2   (b) –2    (c) 7   (d) –4 

3. Solution of sin 








2sin
–1

 
4

5
 is 

 (a) 
5

4
   (b) 

24

25
    (c) 

24

25
   (d) 1 

4. If cos mx = cos nx, then the value of x is  

 (a) 2n      (b) 2n  

3

    

 (c) (4k – 1) 


2(m  n)
 , k = 0, 1, 2, …  (d) 

2k 

m  n
, k = 0, 1,  2, … 

5. The area of a parallelogram whose diagonals are the vectors i


 – 2 k


 and 4 i


 + 3 j


 + k


 is 

 (a)  5 14 sq. units (b) 
3

2
 sq. units  (c)  

3

2
 14 sq. units (d)  14 sq. units 

6. The equation of a hyperbola in standard position satisfying transverse and conjugate axes are 

respectively 4 and 5 is  

 (a) 
x

2

4
 – 

4y
2

25
 = 1    (b) 4x

2
 – 7y

2
 = 36 (c) 4x

2
 + 7y

2
 = 36 (d) 

x
2

4
 – 

y
2

5
 = 1 

7. Four unbiased coins are tossed successively. The mean and variance of the distribution differed by 

 (a) 1            (b) 2     (c)  3        (d) 4 

8. The points on the curve x
2
 + y

2
 – 2x – 3 = 0 where the tangents are parallel to the X-axis are  

 (a) (1, 2), (1, – 2) (b) (1, 2), (1, 2) (c) (–1, 2), (1, – 2)      (d) (1, 2), (1, 3) 
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9.     The order and degree of the differential equation 






dy

dx

3

  + 2y 






d

2
y

dx
2  = 0 is 

 (a) 2, 1    (b) 1, 2   (c) 1, 3   (d) 3, 1 

10. When Gauss forward elimination method is used for solving the equations  

3x +4y = 18 …. (i)  

3y – x = 7  …. (ii) 

we apply the operation  

 (a) eq
n
(i) + 4 eq

n
(ii)    (b) eq

n
(i) + 3 eq

n
(ii)  

 (c) eq
n
(i) + eq

n
(ii)      (d) eq

n
(ii) + 3 eq

n
(i) 

11. If the resultant of two like parallel forces acting at a distance of 3 m is 80 N at a distance of 75 cm 

from one of the forces, then the force is 

 (a) 20 N   (b) 9.8 N  (c) 60 N  (d) 40 N 

OR 

 If profit function (π) = Q
2
 ˗ 10Q + 9, then the breakeven coin is    

 (a) 9 or 10  (b) 1 or 10  (c) 1 or 9  (d) 4 or 5 

  

Group 'B' [5 × 8 = 40] 

 

12. (a) If the numerical coefficients in the second, third and fourth terms of the expansion of (x + a)
n
 are 

30, 375 and 2500 respectively, find the value of n. Let a, b, c and x be elements of a group G.  

        [3] 

      (b) Solve for x: x
2
 = a

2
 and x

5
 = e.              [2] 

13. (a) If z = cos + i sin, find the value of z
n
 + 

1

z
n by using De Moivre's Theorem.  [2] 

(b) Solve the system of equations by the row-equivalent method: x + y + z = 6, x – y + z = 2 and x + 

y – z = 0.               [3] 

14.  (a) If tan
˗1

x + tan
˗1

y + tan
˗1

z = π, then show that: x + y + z = xyz    [3] 

 (b) Find the eccentricity and the foci of the ellipse 
x

2

9
  + 

y
2

16
  = 1.            [2] 

15. From the following data 

Age in years (X) 5 15 30 45 50 60 

Weight in kg (Y) 10 35 50 65 55 45 

 

compute the 

 (a) correlation coefficient by Karl Pearson's method.       [2] 

 (b) line of regression for estimating X on Y and estimate the most probable age of the weight 37 kg. 

           [3] 

16. Evaluate:  
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 (a) 


 dx

3– 2x – x
2                 [2] 

 (b)


 x

2

(x
2
 +9) (x

2
 + 4)

 dx           [3] 

 

17. Solve 
dy

dx
  + 

cos x sin y

cos y
 = 0. An equation reacting to the stability of an aeroplane is 

dv

dt
 = g cos  – kv, 

where v is the velocity and g, , k are constants. Find an expression for velocity, if v = 0, when t = 

0.         [5] 

 

18. Maximize P = 25x + 45y subject to x + 3y  21, 2x + 3y  24, x, y  0 by using simplex method.  

          [5] 

19. (a) Two unlike parallel forces, the greater of which is 75N, have a resultant 25N. Find the ratio of the 

distances of the resultant from the component forces.    [2] 

(b) A projectile thrown from a point in a horizontal plane comes back to the plane in 4 sec. at a 

distance of 60 m in front of the point of projection. Find the velocity of projection. (g = 10 m/s
2
).        

        [3] 

OR 

 State the Hawkins-Simon conditions for the viability of the system. The demand and supply curves for 

an item are given by Pd = 20 – 3Q – Q
2
 and Ps = Q – 1

 
respectively. Find the difference between 

consumer and producer surplus at the equilibrium price.       [1 + 4] 

 

Group 'C' [8 × 3 = 24] 

 

20. (a) In how many ways can the letters of the word "CALCULUS" be arranged so that the two L's do 

not come together?        [3] 

  (b) Sum to n terms of the series 1
2
 + 3

2
 + 5

2
 + . . .       [3] 

         (c) The sum of the roots of a quadratic equation is 4 and the sum of their squares is 14. Find the 

equation.         [2]   

21. (a) Find the angle between the lines whose direction cosines are given by l + m + n = 0 and 2lm + 

2ln – mn = 0.         [5] 

 (b) Prove by the vector method:  
sin A

a
  = 

sin B

b
  = 

sin C

c
 .    [3] 

  

22. (a) Find the derivative of ln sinx by using first principle.      [4] 

(b) State the mean value theorem. Use it to verify for the function f (x) = x
2
 – 4 in [2, 4].  

                     [1 + 3] 

*** 
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21. Applied Mathematics (Ama. 404) 

Test Specification Chart, 2078   
Grade: 12              Subject: Applied Mathematics (Ama. 404)  
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1 Data Handling 23 

2 2 2 10 5 5 1 5 1 8  2 2 4 20 1 8 2 2 1 5 1 8 

14 
MCQ: 1 

SAQ: 1 

LAQ: 1 

2 Measurement 23 14 
MCQ: 1 

SAQ: 1 

LAQ: 1 

3 
Consumer 

Mathematics 
30 19 

MCQ: 1 

SAQ: 2 

LAQ: 1 

4 
Selecting the best 

value/alternative 
11 7 

MCQ: 2 

SAQ: 1 

5 
Selection and 

Arrangements 
11 7 

MCQ: 2 

SAQ: 1 

6 
Probability and 

prediction 
11 7 

MCQ: 2 

SAQ: 1 

7 Linear modeling 11 7 
MCQ: 2 

SAQ: 1 

Total Marks 120 12 18 30 15 75 

MCQ: 11 

SAQ: 8 

LAQ: 3 
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Question format plan 

S.N. Types of Questions 
Marks per 

question 

Number of questions Total number 

of questions 

Total 

Marks Knowledge Understanding Application Higher Ability 

1. 
Multiple Choice 

Question 
1 2 5 2 2 11 11 

2. Short Answer Question 5 2 1 4 1 8 40 

3. Long Answer Question 8 0 1 1 1 3 24 

Grand Total  4 7 7 4 22 75 

 

Note:  

 Appropriate extra time will be provided for the handicapped students and the alternative questions to the figure based questions should 

be prepared for blind students. 

 Questions should be prepared by giving the context and one question may have more than one sub-questions. 

 Application and higher ability questions can be made by relating the other content areas. 

 Questions should be made by addressing all the sub-areas of content. 
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Grade: 12 

Subject: Applied Mathematics (Ama. 404)     Full Marks: 75 

Time: 3 hrs. 

Attempt all questions. 

Group A (1  11 = 11) 

1. The most appropriate distance between Baglung and Jumla based on the given scale is 

 

 

 

 

 

 

 

 

 

 

 

a. 80 

km 

b. 40 km 

c. 60 km 

d. 110 km  

OR 

If a teacher wants to make an equal group of students keeping 50% high achieving students in one 

group and the remaining 50% students are low achieving in another group. Which of the following 

statistical measure would fit the best? 

a. Mean 

b. Mode 

c. S.D. 

d. Median 

2. The following graph represents expenditures (in Rs) of a family under different headings:  
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What is the percentage of the expenditure under entertainment assuming that these 

five are only the headings of expenditure?  

a.  

b.  

c.  

d.  

OR, 

A person invests 20% of his/her income for entertainment this year which is equivalent to Rs. 

20000. And, it is sure that his annual income increases by 20% each year. Then how much amount 

would he/she spend next year on entertainment? 

a. 24000 

b. 40000 

c. 20000 

d. 22000 

3. A person needs to select 4 types of fruits out of 6 types (apple, banana, orange, grapes, mango, and 

pineapple) available to her/him in which pineapple is compulsory. In how many ways can the 

person make up her/his selection? 

a. 6 

b. 5 

c. 24 

d. 10 

4. A farmer produces and sells her/his own production.  She/he sold paddy in Nrs. 2000 per quintals, 

corn in Nrs. 1500 per quintals and wheat per Nrs. 1600 per quintals. Which one of the following 
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describes the best model for the farmer‟s annual revenue? (x, y, z represents the quantity produced 

for paddy, corn and wheat respectively) 

a. 2000x + 1500y + 1600z  

b. 2000 + 1500 + 1600 

c. 2000x  1500y  1600z  

d. x + y + z 

5. If two children are born in a family, then the probability of having both sons is  

a. 
1

2
  

b. 
1

4
  

c. 
1

3
  

d. 1 

6. The value of 0! is 

a. 1 

b. 0 

c. ∞ 

d. 10 

7. If events A and B are independent cases, then  

a. P(A  B) = P(A) + P(B) 

b. P(A  B) = 0 

c. P(A  B) = P(A)  P(B) 

d. P(A) = P(B) 

8. The objective function in LPP problems is _______  

a. The linear function that used for only maximize the function 

b. The linear function that used for only minimize the function 

c. The linear function used for optimizing the function 

d. The linear function that is formed from the given constraints. 

9. The following is a payoff (in rupees) table for three strategies and two states of nature:  

Strategies State of Nature 

N1 N2 

S1 40 60 

S2 10 20 
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S3 40 150 

Select a strategy using the decision of Maximin criteria 

a. S1 

b. S2 

c. S3 

d. N1 

10. X, Y, Z are three partners in a business. They invested Rs. 1200, Rs. 2400 and Rs. 3000 

respectively. How much amount will X gets in the case of having a profit of Rs. 990 based on their 

investment? 

a. 280 

b. 180 

c. 360 

d. 450 

11. The pay off table best describes ______ 

a. The benefit obtained from the given combination of decision alternative and state of nature 

b. The loss obtained from the given combination of decision alternative and state of nature 

c. The total revenue obtained from the given combination of decision alternative and state of 

nature 

d. The cost obtained from the given combination of decision alternative and state of nature 
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Group B (5  8 = 40) 

12. In order to find the correlation coefficient between the variables X and Y from 12 pair of records, the 

following results were found: 

= 30, = 30, = 670, = 285, and = 334, 

Later, on subsequent verification, it was found that the pairs X=15 and Y= 5 were copied wrong 

instead of the correct values X=10 and Y=12. Now, find the corrected value of the correlation 

coefficients.          [5] 

13. A rectangular plot of length 200m and breadth 150m has a crossroad from the middle of the length 

and breadth with the width of 7m, on the one side of the crossroad width of 1m should be left for the 

drain. How many pieces of land can be made of area 684.5m
2
 each?  [5] 

14. The following table presents the rate of income tax according to the government rule.  If a person 

earns Rs. 7, 50,000 in a year, calculate the following: 

 

a. How much income tax should the person pay?      [3] 

b. It is offered that 33% of the annual income is not taxable if it is saved in CIT fond. Also, 

Maximum Rs. 2,50,000 per annum is also not taxable if it is deducted for the insurance policy. 

If a person is interested to utilize any one policy, which option do you suggest so as to pay the 

minimum tax amount?     [2] 

15. A person has taken a loan of Rs. 500,000 from a bank with an interest rate of 15% per annum and 

invested in a business. It is already fixed that the person gets 40% profit each year from her/his 

business and, the loan will be reduced each year by the profit amount. How much loan will be left 

after 3 years?         [5] 

16. An investor on the share market is given the following investment alternatives and percentage rates of 

return.   

Share related to Market Conditions 
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Low Medium High 

Hydropower 7% 10% 15% 

Banking sector -10% 12% 25% 

Insurance company -12% 18% 30% 

 

a. If a person wants to get certain rates of returns in all the market conditions, which of 

the above sectors do you suggest for the investor and why?  [1] 

b. While observing the past 300 days, 150 days have been medium market conditions and 

60 days have high market conditions and the remaining days have low market 

conditions. Based on these data, state the optimum investment strategy for the 

investment.      [4] 

17. What condition should be added to selecting objects for making it arranging the objects? 

A student is required to answer 6 out of 10 questions which are divided into 2 groups each 

containing 5 questions and she/he is not permitted to attempt more than 4 from any group. In how 

many different ways can she/he make up her/his choice?       [1 + 4] 

18. A problem is given to three students A, B, C whose chance of solving it by A is 50%, by B is 75% and 

by C is just 25%. Find the probability that the problem is solved.   [5] 

19. The following table describes the production of wheat (in quintals) corresponding to the amount of 

rainfall (in mm) of certain land in the last few years: 

Rainfall 0.8 1 1.4 1.8 

Production 25 30 32 38 

Now, estimate the production corresponding to the rainfall 2 mm.   [5] 

Group C (8  3 = 24) 

 

20. The following table shows the result of the SEE examination of a school in recent 3 years. Answer the 

questions given below:  

Year Grade A+ Grade A Grade B+ B B- 

2072 15 25 30 18 25 

2073 20 18 35 26 20 

2074 18 22 28 20 26 

a. Suggest the best year for the school on the basis of the performance.  [2] 

b. Suggest the worst year for the school on the basis of the performance.  [2] 
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c. Represent the data into a suitable diagram.     [4] 

21. A cuboid-shaped room is to be decorated by coloring in five faces whereas the bottom face is to be 

marbleized. The rate of coloring on the top surface is Rs. 105 per square feet whereas the rate of 

coloring for the four walls is Rs. 90 per square feet. And the rate of marbling for the bottom face is 

110 per square feet.  

a. Create the mathematical model to calculate the total cost of decorating the room in the 

function of length, breadth and height of the room.    [6] 

b. If the length, breadth and height of the room are 15 feet, 12 feet, 10 feet respectively, 

calculate the total cost for decorating the room.   [2] 

22. The following table describes the total stationery items (basket of goods) brought and rate in different 

years: 

Items Years 

2017 2018 2019 

Quantities Rate Quantities Rate Quantities Rate 

Pen 12 8 12 10 10 12 

Pencil 6 4 4 5 6 5 

 

Calculate the inflation rate from 2017 to 2018 and 2018 to 2019 taking 2017 as the base year 

with the help of the Consumer Price Index (CPI) and describe it. [3 + 3 + 2] 

 

The End 
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22. Business Mathematics (Bmt. 406) 

Test Specification Chart, 2078   
Grade: 12           Subject: Business Mathematics (Bmt. 406) 
SN Content Area Wor
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Competency level Areawi

se 

Marks 

Number 

of 

Questio

ns 

Knowledge 

 

Understanding 

 

Application 

 

Higher Ability  

 

M
C

Q
 

S
A

Q
 

M
C

Q
 

S
A

Q
 

L
A

Q
 

M
C

Q
 

S
A

Q
 

L
A

Q
 

M
C

Q
 

S
A

Q
 

L
A

Q
 

 

  

N
o

. 
o

f 

Q
u

es
ti

o
n

s 

M
a

rk
s 

N
o

. 
o

f 

Q
u

es
ti

o
n

s 

M
a

rk
s 

N
o

. 
o

f 

Q
u

es
ti

o
n

s 

M
a

rk
s 

N
o

. 
o

f 

Q
u

es
ti

o
n

s 

M
a

rk
s 

N
o

. 
o

f 

Q
u

es
ti

o
n

s 

M
a

rk
s 

N
o

. 
o

f 

Q
u

es
ti

o
n

s 

M
a

rk
s 

N
o

. 
o

f 

Q
u

es
ti

o
n

s 

M
a

rk
s 

N
o

. 
o

f 

Q
u

es
ti

o
n

s 

M
a

rk
s 

N
o

. 
o

f 

Q
u

es
ti

o
n

s 

M
a

rk
s 

N
o

. 
o

f 

Q
u

es
ti

o
n

s 

M
a

rk
s 

N
o

. 
o

f 

Q
u

es
ti

o
n

s 

M
a

rk
s 

  

1 Algebra 21 

2 2 2 10 5 5 1 5 1 8  2 2 4 20 1 8 2 2 1 5 1 8 

13 
MCQ: 3 

SAQ: 2 

2 Calculus 40 25 

MCQ: 2 

SAQ: 3 

LAQ: 1 

3 Financial Math 17 11 
MCQ: 3 

LAQ: 1 

4 
Linear 

Programming 

Problem 
10 6 

MCQ: 1 

SAQ: 1 

5 Statistics 20 12 MCQ: 2 

SAQ: 2 

LAQ: 1 6 Probability 12 8 

Total Marks 120 12 18 30 15 75 

MCQ: 11 

SAQ: 8 

LAQ: 3 
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Question format plan 

S.N. Types of Questions 
Marks per 

question 

Number of questions Total number 

of questions 

Total 

Marks Knowledge Understanding Application Higher Ability 

1. 
Multiple Choice 

Question 
1 2 5 2 2 11 11 

2. Short Answer Question 5 2 1 4 1 8 40 

3. Long Answer Question 8 0 1 1 1 3 24 

Grand Total  4 7 7 4 22 75 

 

Note:  

 Appropriate extra time will be provided for the handicapped students and the alternative questions to the figure based questions should 

be prepared for blind students. 

 Questions should be prepared by giving the context and one question may have more than one sub-questions. 

 Application and higher ability questions can be made by relating the other content areas. 

 Questions should be made by addressing all the sub-areas of content. 

 At least one multiple choice question should be asked from each area (Statistics and Probability).  
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Grade: 12 

 

Subject: Business Mathematics (Bmt. 406)                Full Marks: 75 

Time: 3 hrs. 

 

Candidates are required to give their answer in their own words as far as practicable. The figures 

in the margin indicate full marks. 

Attempt all questions. 

 

Group A (1 × 11 = 11) 

Write the correct option in your answer sheet.  

1.  Two matrices A and B can be multiplied if         

(a) Both matrices are rectangular    

(b) Both matrices are square 

(c) No. of columns of A = No. of rows of B  

(d) No. of rows of A = No. of columns of B. 

2. If the x00213014 = 3, then the value of x is       

 (a)    1                  (b) 3           (c) 0                      (d) 2  

3. Let A =  , then Adj.(A) is          

(a)               (b)        (c)     (d)     

4.  The function f(x) = 2x2 – 3x is increasing at       

       (a) (-1/4,∞)          (b) (-3/4,∞)     (c) (1/4,∞)             (d) (3/4, ∞) 

5. The value of   dx is         

(a) 1                (b)   0           (c) xex                (d) e 

6.    If k – 1, k + 8 and  k + 26 are in G.P., then the value of k is    

(a)  12    (b) 9    (c) 10              (d) 8 

7.  A project would normally be undertaken if its net present value is   

(a)  Negative           (b) Zero 

  

(c)  Exactly the same as the NPV of existing projects   (d) Positive  

8. A machine whose scrap value after 10 years is Rs. 1500, depreciated at the rate of 12% per 

annum on the reducing balance, then the original cost is    

(a)  Rs. 5386  (b) Rs. 1500  (c) Rs. 2500   (d) Rs. 15009 

9. In simplex method, the feasible basic solution must satisfy the   

 (a) non negative constraint    (b) negative constraint     

(c) basic constraint        (d) common constraint 

10. In a distribution, the difference of the two quartiles is 20 and their sum is 70 and the 

median is 36, then the coefficient of skewness is   

 (a)  0.1    (b) – 0.1   (c) 25         (d) 45 

11. Two events are mutually exclusive if        

   

       (a)  the sum of their probabilities must be greater than one  

(b)  if the occurrence of one event excludes the occurrence of other      

(c)  the sum of their probabilities must be equal to zero 

(d)  the difference of their probabilities must be equal to one 
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Group B (5 × 8 = 40) 

12. State the Hawkins-Simon conditions for the viability of the system. The  output levels of 

machinery, electricity and oil of a small country are 3000,  5000 and 2000 respectively. Each unit 

of machinery requires inputs of 0.3  units of electricity and 0.3 units of oil. Electricity requires 

inputs of 0.1 units  of machinery and 0.2 units of oil. Oil requires inputs of 0.2 units of 

 machinery and 0.1 units of electricity. Determine the machinery, electricity  and oil 

available for export.              [1 + 4]  

13. Solve the following system by using Gauss elimination method: 

x – 2y + 3z = 2, 2x – 3y + z = 1, 3x – y + 2z = 9.       [5]  

14. Suppose that the demand equation for a certain commodity is . Is demand elastic or 

inelastic at P = 200? Prove that the relation  

MR = AR 1 – 

revenue respectively. Use this relation to find AR if MR is 25 and  is 2.    

       [1 + 3 + 1] 

15. The demand equation for a certain commodity is p = 20 – Q and the total cost function C = 

Q2 + 8Q + 2, determine the total profit, revenue and cost under profit maximization.  

            [5]             

16. (a) The population growth rate of Nepal is 1.8% in a year. Model the  situation using a 

differential equation. What will be the population  after t years? If the current population of 

Nepal is 30 million, what  will the population after 10 years?      

       [2] 

(b) A perfectly competitive market has the demand and supply functions 

Qd = 170 − 8P and Qs = −10 + 4P. 

When the market is out of equilibrium the rate of adjustment of price is a function of excess 

demand such that dPdt = 0.5(Qd − Qs )? In the initial time period price P0 is 10, which is not its 

equilibrium value. Derive a function for P in terms of t, and comment on the stability of this 

market.                    

[3] 

17. Solve the following linear programming problem by simplex method to maximize z = 7x + 

      [5]         

18. State Bayes' theorem. A company has rated 75% of its employees as satisfactory and 25% 

as un-satisfactory. Personnel records indicate that 80% of the satisfactory workers had previous 

work experience, while only 40% of the unsatisfactory workers had any previous work experience. 

If a person with previous work experience is hired, what is the probability that this person will be 

a satisfactory employee? If a person with no previous work experience is hired, what is the 

probability that this person will be a satisfactory employee?         [1 + 4] 

19.  

            [5]         

Group C  (8 × 3 = 24) 

20. (a) Find the area bounded by the x-axis and the curve f (x) = x3 – x2 – 2x.    

             

       [2] 

(b) If the marginal revenue function (MR) = 6x2 + 4x + 3, find the total revenue function. 

Also, deduce the demand function.        [2] 
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 (c) The demand and supply curves of an item are given by the equations Pd = 20 – 3Q – Q2 

and Ps = Q – 1 respectively. Find the difference between consumer and producer surplus at 

equilibrium price.            [4] 

21. (a) Divide Rs. 2708 between Ram and Shyam so that Ram's share at the end  

 of 5 years be equal to Shyam's share at the end of 7 years, C.I. being  

 calculated at 8% p.a.               

[4] 

 (b) A man retires at the age of 60 and gets a pension of Rs. 1,200 per year in  

 half-yearly installments for the rest of his life. Taking his expectation of   life to be 

13 years further, that the interest is at 4% p.a. payable half    yearly, what single sum 

is equivalent to this pension?          [4] 

22. The following table shows the relation between price and demand of certain item: 

Price (X) 10 12 20 ? 24 26 

Demand (Y) 16 15 14 12 11 10 

(a) Calculate the correlation coefficient by Karl Pearson's method if arithmetic mean of X is 19. 

                 [4] 

(b) How can you find the correlation coefficient by using regression coefficient?    

                   [1] 

(c) Find the equation of the line of regression of X on Y. Estimate the value of X when Y = 30. 

                    [3] 

  

      ***
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23. Library and Information Science (410) 

Test Specification Chart 2078 

Library and Information Science      Grade 12 
S

N 

Unit/Area WH Marks Remembering Understanding Applying Higher 

ability 

No. of 

questions 

Marks Total 

Marks 

VSQ SQ VS

Q 

S

Q 

L

Q 

VS

Q 

S

Q 

L

Q 

VS

Q 

S

Q 

L

Q 

VS

Q 

S

Q 

L

Q 

VS

Q 

S

Q 

L

Q 

 

1 Information: Concept, Types 

and Sources 

10 6 2 1 2 - 1 - 1 - - 1 - 4 3 1 4 15 8 27 

2 Application of Information 

and Communication 

Technology (ICT) in Libraries 

18 11 

3 Library Automation 15 10 

4 Library and Information 

Services 

15 10 1 - 1 1 - - 1 1 1 1 - 3 3 1 3 15 8 26 

5 Reference Services and Tools 15 9 

6 Library Legislation and 

Policies 

12 7 

7 Library Associations 8 5 1 1 2 1 - 1 - - - - 1 4 2 1 4 10 8 22 

8 Periodical and Non-book 

Material Management 
14 9 

9 Library Statistics, Publications 

and Annual Reports 
13 8 

Total 120  4 2 5 2 1 1 2 1 1 2 1 11 8 3 11 40 24 75 

Question and Mark Distribution 

SN Types of questions Number of 

questions 

Marks per question Full Marks Time  

1 Very Short Questions (VSQ) 11 1 11 3 Hours 

2 Short Questions (SQ) 8 5 40 

3 Long   Questions (LQ) 3 8 24 

Total 22  75 
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Library and Information Science [Lib.....]) 

 

Grade: XII 

Time: 3 Hrs.    Full Marks: 75 

The candidates are required to give their answers in their own words as far as 

practicable. The figures in the margin indicate full marks.  

 
Group "A"  

Answer the following questions in very short.                                        11 x 1 = 11 

1. Name any two types of information sources.  

2. Identify one use of Computer hardware. 

3. Define library automation. 

4. Mention any two modules of library automation software.  

5. What is library orientation?  

6. In what cases one should use dictionaries, maps and biographies.  

7. Why library policies are necessary? Give any two reasons. 

8. When International Federation of Library Associations and Institutions (IFLA) was 

established?  

9. Write any two importance of library association.  

10. What does periodical mean?  

11. Which publication of an organization can cover overall activities?  

 

 

      Group "B" 

Answer the following questions in short.                                                       8 x 5 = 40 

12. Describe three different types of information with suitable examples. 

                      or 

Differentiate between data and information at any three points. 

13. What are the devices used for information and communication technology? Explain in 

brief. 

14. How will you apply library automation software for circulation work? Elaborate it. 

15. Describe in detail the process of delivering current awareness services about new arrivals.  

16. How many types of reference services are there? Briefly describe them.  

17. What Nepal Library Association (NLA) should do to promote librarianship in Nepal?  

                    or 

How Nepal Library Association can advocate to promote librarianship in Nepal?  

18. identify the needs and importance of library statistics in our daily life activities. 

19. Which are the major sections of a library that provide necessary statistics for compiling 

library statistics? Explain in brief. 

 



 

116 
 

 

Group "C" 

Answer the following long questions.                                                      (3 x 8 = 24) 

20. How will you assist users to access international journal's articles from your library? 

Elaborate the procedures in detail. 

                                                        or 

Assume that you are working a research institutions library and information center. Your 

organization acquires journals and periodicals to support research and innovation. Your 

main job is to manage the journals as per the rules of library and information science in 

a scientific way. In this, case, how do you manage the collected journals and periodicals 

so that you can provide service in an efficient way? Elaborate.  

21. How Library legislation and policies can apply to library management and service 

delivery. Elaborate in detail. 

22. How to manage collected periodicals in a library? Explain in detail. 
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24. Home Science [Hos.412]),  

Su
b

je
ct

 A
re

a 
Test Specification Chart  

Plan for Question and distribution of marks covered 
Unit Content Area Teaching 

Hours 

Knowledge Comprehension Application Higher 

efficiency 

Total 

Question 

covered 

Total  Total 

Marks 

  VS S L VS S L VS S L VS S L VS S L     

H
u

m
an

 N
u

tr
it

io
n

 1 Nutritional Requirements and Food 

Habits 8 

1 - 

  
  
  
 - - - 1 - 1 - - 

  
  
  
 1 

  
  
  
 - 1 2 1 4 19 

2 Digestion, Absorption and 

utilization mechanism of Food in 

Human Body 5 
3 Meal Planning and cooking of food 8 
4 

Food safety and hygiene 9 

C
h

ild
 

D
ev

el
o

p
m

en
t 

 

1 

Play and its importance in 

childhood  8 

  
  
  
 2 - - 2 - - 1 

  
  
  
 - 1 - 1 - 5 1 1 7 18 

2 

Concept of Growth and 

Development 5 

3 Early Childhood Development  6 

4 Adolescence and Family  11 

H
o

m
e 

M
an

ag
em

en
t 

1 Money Management  8 

2 1 - 1 1 - - 1 - - - - 3 3 0 6 18 

2 Resource management  8 

3 Interior Decoration 10 

4 Income Generation Activities 4 

C
lo

th
in

g 
an

d
 

Fa
sh

io
n

 
D

es
ig

n
in

g 

1 Costume Development Theories  6 

- 1 - 2 1 - - 
 

- - - 1 2 2 1 5 20 

2 Fashion and Design 9 

3 Dyeing, printing and Stain Remove  9 

4 
Body Measurement and Decorative 

Stitches   6 

Total 120 5 2 - 5 2 1 1 2 1 0 2 1 11 8 3 22 75 



 

118 
 

Notes:  

1. The alternative short and long questions will be asked from appropriate chapters taking in to account the nature, depth and coverage of 

the contents.  

2. Very short question will be of one (1) mark and there will be eleven (11) questions from each of the chapters to the possible extent.  

3. Short question will be of five (5) marks and there will be eight (8) questions from each of the chapters to the possible extent. All the 

questions shall be compulsory. However, two alternative questions will be added to any two questions among the total questions asked.  

4. There will be three long questions carrying eight (8) marks. All the questions shall be compulsory. However, one alternative question 

will be added to any one of the three questions. 

Types of Question 

Types of Question Numbers of 

Question 

Total marks 

Very short answer type 11 11x1=11 

Short answer type 8 8x5=40 

Long answer type   3 3x8=24 

Note: Numbering of the questions should be arranged from first very short questions (Q.N. 1 to 11), short answer questions (Q.N. 12 to 

19) and long answer questions (Q.N. 20 to 22).  
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u[x lj1fg (Home science [Hos.412]) 

 

sIff(Grade): XII 

;do(Time): 3 Hrs.    k"0ff{ª\s (Full Marks): 75 
k/LIffyL{n] ;s];Dd cfkm\g} zAbdf df}lns pQ/ lbg'kg]{ 5 . lsgf/fdf lbOPsf cª\sn] k"0ff{ª\snfO{ hgfpF5 .  

(The candidates are required to give their answers in their own words as far as 

practicable. The figures in the margin indicate full marks.)  

 

;d"x s -Group A) 

clt ;ª\lIfKt pQ/fTds k|Zgx¿ (Very Short Answer Questions) 

 

;a} k|Zg xn ug'{xf];\ (Attempt All Questions)     (11 x 1 = 11 ) 

 

1. cjzf]if0f eg]sf] s] xf] < 

What is absorption? 

2. afnljsf;df k|efj kfg]{ s'g} b'O{ sf/s n]Vg'xf];\ . 

Write any two influencing factors of child development. 

3. j[l4 / ljsf;larsf] s'g} Ps km/s n]Vg'xf];\ . 

Write any one difference between growth and development. 

4. afnaflnsfsf] j[l4 / ljsf;df jftfj/0fLo tŒjn] s;/L  k|efj kf5{ < 

How do environmental factor influence on growth and development of 

child? 

5. k|f/lDes afnljsf;sf s'g} b'O{ If]q pNn]v ug'{xf];\ . 

Mention any two domains of early childhood development. 

6. tkfOF{ k|f/lDes afNocj:yfdf ;fdflhs efiffsf] ljsf; ug{ s;/L ;xof]u ug'{x'G5< s'g} b'O{ k|ls|of 

pNn]v ug'{xf];\ . 

How do you help to develop social language in early childhood? Mention 

any two processes. 

7. cfo ;[hgf ug]{ ultljlw pNn]v ug'{xf];\ . 

State income generating activities. 

8. lbuf] v]tLkftLsf nfuL h}ljs dn lsg dxŒjk"0f{ 5 < s'g} b'O{ sf/0f lbg'xf];\ . 

Why organic manures important for sustainable farming? Give any two 

reasons. 

9. /ªrj|m lgdf0f{sf nflu s'g} b'O{ cfwf/e"t /ªsf gfd lbg'xf];\ . 

Name any two basic colors for making a color chart. 

10. jftfj/0fLo cg's"ng l;4fGtsf] s'g} Ps k|of]u n]Vg'xf];\ . 

Write any one application of environmental adoption theory.  

11. ;'Gb/ kf];fs lgdf{0fsf nfuL cg'kft lsg h?/L 5 <s'g} b'O{ sf/0f n]Vg'xf];\ . 

Why proportion is necessary for making beautiful dress?  Give any two 

reasons. 
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;d"x v (Group B) 

;ª\lIfKt pQ/fTds k|Zgx¿ (Short Answer Questions) 

;a} k|Zg xn ug'{xf];\ . (Attempt All Questions.) ( 8 x 5 = 40 ) 

 

12. b'w 5f8]sf] aRrf / :s'n hfg] aRrfsf] vfg] afgLNffO{ tkfOF{ s;/L Jojl:yt ug'{x'G5 < s'g} kfFr 

tl/sf pNn]v ug'{xf];\ . 

How do you maintain food habits of weaning child and school going 

children? Suggest any five ways.  

13. 3/fo;L :t/df vfB ;'/Iff / kf]if0fsf] cj:yf Jojl:yt ug{ vfB / JolStut ;/;kmfOsf] 

sfof{Gjog s;/L ug{ ;lsG5 < 

How can food hygiene and personal hygiene be implemented in 

household level   in maintaining food safety and good nutritional status? 

14. " afNosfndf v]n cfjZos 5" k'li6 ug'{xf];\ . 

"Play is necessary for childhood". Justify. 

15. ah]6 lgdf{0fsf r/0fsf] ;"rL agfpg'xf];\  / k|To]ssf] 5f]6s/Ldf j0f{g ug'{xf];\ . 

List the steps involved in making budget and describe each briefly. 

cyjf(Or), 

kfl/jfl/s ah]6sf k|sf/sf] j0f{g ug'{xf];\ . 

Discribe types of family budget. 

16. k'ik ;hfj6 ubf{ Wofg lbg'kg]{ s'/fx?sf] j0f{g ug'{xf];\ . 

Describe the things to be considered while decorating flowers.  

17. kl/jf/sf ;b:osf] 1fg, l;k, Ifdtf / dgf]j[lQnfO{ lsg dxŒjk"0f{ dfgj ;|f]tsf] ¿kdf lnOG5 < 

JofVof ug'{xf];\ . 

Why knowledge, skills, abilities and attitude of the family members are 

considered as important human resources? Explain. 

18. z/L/ dfkgsf pko'St tl/sf s] s] x'g\ < 

What are the appropriate ways of body measurement? 

19. km];g / l8hfOglarsf s'g} kfFr km/s n]Vg'xf];\ . 

Write any five differences between fashion and design. 

cyjf(Or), 

;'Gb/ kf];fssf tŒj JofVof ug'{xf];\ . 

Explain the components of beautiful dress.  

 

 

;d"x u (Group C) 

nfdf] pQ/fTds k|Zgx¿ (Long Answer Questions) 

;a} k|Zg xn ug'{xf];\ . (Attempt All Questions.)  (3 X 8 = 24) 
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20.  vfgf ksfpg'sf s'g} rf/ sf/0f klxrfg ug'{xf];\ / vfgf ksfpg] s'g} b'O{ tl/sfsf]  JofVof 

ug'{xf];\ .  

Identify any four reasons for cooking foods and explain any two methods 

of cooking. 

cyjf(Or), 

vfgf b"lift x'g] k|lj|mof / dfgj :jf:Yodf o;sf]  k|efj JofVof ug'{xf];\ . 

Explain the process of food contamination and its effects on human 

health. 

21.   tkfO{F kl/jf/df s;/L ;b\efjk"0f{ ;DaGw ljsf; ug'{x'G5 < o;df kl/jf/sf ;a} ;b:osf] e"ldsf 

j0f{g ug'{xf];\ . 

How you develop harmonious relationship within family? Elaborate the 

role of all family members. 

 

22.  dfgf}+ tkfOF{ s'g} ufd]{G6 pBf]udf sfd ug'{x'G5, tkfO{Fn] tof/ ug{ nfu]sf] kf];fsdf bfu nfUof] . 

o; cj:yfdf tkfO{F pSt bfunfO{ s;/L x6fpg'x'G5 < o;sf] ;Dk"0f{ k|lj|mof lj:tf/ ug'{xf];\ . 

Suppose you are working in a garment factory and the cloth you are 

about to make are stained. In this situation how can you remove stain 

from the cloth? Elaborate the practical processes. 
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22. Environmental Science  (414)                                                 

Test Specification Chart     Class 12 
S. 
N. 

Unit/Area 
 

WH Marks  Remember/ 
Knowledge 

 Understand/ 
Comprehension 

 Apply/ 
Application 

 Higher  
ability 

No. of  
questions 

  
Marks 

Total 
  

VSQ SQ LQ VSQ SQ LQ VSQ SQ LQ VSQ SQ LQ VSQ SQ LQ VSQ SQ LQ 

1 Atmospheric 

environment 

12 8 1 1 - 
  

 1 
 

 -  - 1 - - - 1 2 2 1 2 10 8 20 

2 Hydrospheric 

Environment 

10 6 

3 Lithospheric 

Environment 

10 6 

4 Biodiversity Assessment 10 6 1 - - 1 1 - 1 -  1 1 - 4 2 - 4 10 - 14 

5 Climate Science 12 8 

6 Solid Waste 

Management 

14 9 1 1 - 1 1 1 - 1 - 1 - - 4 3 1 3 15 8 26 

7 Environmental 

toxicology 

12 7 

8 Pollution Control 

Approaches 

15 10 

9 Environmental tools and 

techniques  

12 7 1 - - 1 - - - - 1 - 1 - 2 1 1 2 5 8 15 

10 Environmental Policies 13 8 

 Total 120 75 4 2 - 4 2  1 1 2 1 2 2 1 11 8 3 11 40 24 75 

Question and Mark Distribution 
SN Types of questions Number of questions Marks per question Full Marks Time in minutes 

1 Very Short Questions (VSQ) 11 1 11  

180 minutes  (3 hrs) 2 Short Questions (SQ) 8 5 40 

3 Long   Questions (LQ) 3 8 24 

Total 22  75 

Remarks: 
 Weightage in the combined cell should be met, but ±2 marks variation will be allowed within the combined cells. But cannot be nil. 

 In total cognitive distribution should met. ±2 marks variation will be allowed within the cognitive levels.  

 SQ and LQ can be structured (have two or more sub-items). SQ and LQ can be distributed to two or more cognitive behaviours.  

 The distribution of questions based on cognitive domain will be nearly 20% knowledge/remembering, 30% understanding, 25% applying and 

25% higher ability level. Higher ability covers analysing, evaluating and creating levels. 

 In the case of short question there will be 2 "OR" questions and in the case of long question there will be 1 "OR" question. 
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Grade: 12         Full Marks: 75 

Subject: Environmental Science      Time: 3 hours 

Candidates are required to give their answers in their own words as far as practicable. 

The figures at the right margin indicate the full marks.  

Attempt ALL the questions.  

A. Very Short Questions      11×1 = 11 

1. Define lentic environment.  

2. Give any one importance of humus on environment.  

3. Write any one importance of biodiversity on agricultural sector.  

4.  Mention any one activity that you can follow to reduce greenhouse gases emission.   

5. What is climate change resilience?  

6. Write any one implication of vegetation sampling in biodiversity conservation.  

7. Define zero waste management.  

8. Mention any two impacts of bio-magnification in ecosystems.  

9. "Vermicomposting is more suitable than any other compost as manure". Justify it 

any one point.  

10. Define Geo-referencing.  

11. Write any one use of topographic map in environmental studies.  

B. Short Questions       8 × 5 = 40 

12. “Water is life supporting component of an environment”. How unique properties of 

water support the above statement?  

13. How can we use the knowledge of hydro-logical cycle in agriculture? Explain the 

procedures.  

14. Why is sampling sites selection important during biodiversity assessment? Explain 

one method used to collect data on biodiversity.   

15. How has global warming affected the world so far? Analyse critically.  

         OR 

Critically analyze the impacts of climate change in Nepal and explain any two of 

them in details.   

16. Differentiate between bio-accumulation and bio-magnification in the ecosystem 

with examples.  

17. Let‟s suppose that there is a factory nearby your locality that releases toxic effluent 

into the river. Suggest how such effluent can be treated so that it does not harm the 

biotic ecosystem.  

18. Describe the legal approaches for pollution control in Nepal.  

https://www.eesi.org/climate-change-FAQ#what-is-climate-change-resilience
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OR 

Describe the 3R principal of solid waste management.  

19. What are the applications of GIS in environment studies?  

 

C. Long Questions        3 × 8 = 24 

20. Compare the changes in meteorological parameters in the vertical zonation's of 

atmosphere and analyse how such variation affects the overall climatic activities.  

21.  What is integrated solid waste management? Describe the different methods of 

solid waste management in Nepal.  

OR 

  How is solid waste management done in your locality? Explain with reference to 

hierarchy of solid waste management.   

22. What kind of procedure will you follow if you are appointed as EIA officer in a 

national project? Explain such procedures. 
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26. General Law-II (416) 

Class:12 

 

Test Specification Chart 

Plan for Question and distribution of marks covered 

Unit Content  Area Teaching 

Hours 

Knowledge Comprehension Application Higher ability Total Question 

covered 

Total  Total 

Marks 

  VS S L VS S L VS S L VS S L VS S L     
1 Nature, Theories and Classification 

of Rights 
14 

1 1 

 

1 

 
 
 
 
1 
 

  

 
 

 
1 

   

2 2 1 5 20 

2 Enforcement of Fundamental 

Rights in Nepal 
16 

      3 Law Relating to Land  and  

Property in Nepal 
14 

1 

  1 
 

  
 

 

1 

  

1 
 

1 2 2 1 5 20 

4 Law Relating to Intellectual 

Property 
16 

      5 Laws Relating to Transaction and 

Secured Transaction 
12 

1 
 

1 

 

 

 
 

 
1 

    

 

 

1 1 1 3 14 

6 General Introduction to legal Deeds 

and Drafting of Deeds 
16 

      7 
Introduction to Criminal Law and 

New Forms of Crimes 

10 

2 

  

1 1 
 

    

1 

 

3 2 
 

5 13 

8 
Criminal Investigation and 

Prosecution system in Nepal 

10 

       9 
Jurisdiction of Courts and Quasi- 

Judicial Bodies in Nepal 

12 

2 
  

1 1 
       

3 1 0 4 8 

  120 7 2 0 4 3 1 
 

1 1 
 

2 1 11 8 3 22 75 
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Notes:  

1. The alternative short and long questions will be asked from appropriate chapters 

taking in to account the nature, depth and coverage of the contents.  

2. Very short question will be of one (1) mark and there will be eleven (11) 

questions from each of the chapters to the possible extent.  

3. Short question will be of five (5) marks and there will be ten (8) questions from 

each of the chapters to the possible extent. All the questions shall be compulsory. 

However, two alternative questions will be added to any two questions among 

the total questions asked.  

4. There will be three long questions carrying eight (8) marks. All the questions 

shall be compulsory. However, one alternative question will be added to any one 

of the three questions. 

5. The weightage of the question shall not exceed twenty percent in knowledge 

level, no less that 20 percent in higher efficiency and in other level question may 

be asked as per necessity.  

Types of Question 

Types of Question Numbers of 

Question 

Total marks 

Very short answer 

type 

11 11x1=11 

Short answer type 8 8x5=40 

Long answer type   3 3x8=24 

Note: Numbering of the questions should be arranged from first very short questions 

(Q.N. 1 to 11), short answer questions (Q.N. 12 to 19) and long  

Answer questions (Q.N. 20 to 22). 
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;fwf/0f sfg'g (General Law[Gel.416]) 

sIff (Grade): XII 

;do (Time): 3 Hrs.      k"0ff{ª\s (Full Marks): 75 
 

k/LIffyL{n] ;s];Dd cfkm\g} zAbdf df}lns pQ/ lbg'kg]{ 5 . lsgf/fdf lbOPsf cª\sn] k"0ff{ª\snfO{ 

hgfpF5 .  (The candidates are required to give their answers in their own 

words as far as practicable. The figures in the margin indicate full marks.)  
 

;d"x s -Group A) 

clt ;ª\lIfKt pQ/fTds k|Zgx¿ (Very Short Answer Questions) 

;a} k|Zgx¿ xn ug'{xf];\ (Attempt All Questions)     (11 x 1 = 11 ) 
 

1. lzIff;DaGwL clwsf/nfO{ kl/eflift ug'{xf];\ .  
Define the Right of Education. 

2. g]kfnsf] ;+ljwfgn] ;+/lIft u/]sf Ho]i7 gful/ssf b'g} b'O{cf]6f clwsf/ pNn]v ug'{xf];\ . 

State any two right of senior citizens protected by the constitution of 

Nepal. 

3. af}l4s ;DklQ s] xf] ? 

What is intellectual property? 

4.  ljB'tLo ;DklQsf s'g} b'O{cf]6f pbfx/0f n]Vg'xf];\ . 

Write any two examples of cyber properties.  

5. btf{ ug'{kg]{ s'g} b'O{ lnvtsf] gfd pNn]v ug'{xf];\ . 

Write the name of any two deeds to be registered. 

6. ck/fwsf k|d'v b'O{ tŒj cf}FNofpg'xf];\ . 

Point out two major elements of crime. 

7. s;n] hfx]/L b/vf:t btf{ ug{ ;S5? 

Who can file First Information Report (FIR)? 

8. ljB'lto ck/fwsf s'g} b'O{ pbfx/0f n]Vg'xf];\ . 

Write any two examples of cybercrime. 

9. g]kfndf ljif]z cbfnt sltcf]6f 5g\ ? 

How many Special Courts are there in Nepal? 

10. g]kfndf s'g cbfntnfO{ clen]v cbfnt eg]/ lrlgG5 ? 

Which court is known as record of court in Nepal? 

11. g]kfndf lhNnf cbfntsf] b'O{cf]6f If]qflwsf/ n]Vg'xf];\ . 

Write any two jurisdiction of district court in Nepal. 
 

;d"x v (Group B) 

;ª\lIfKt pQ/fTds k|Zgx¿ (Short Answer Questions) 

;a} k|Zg xn ug'{xf];\ . (Attempt All Questions.)   (8 x 5 = 40) 

  

12. clwsf/ eg]sf] s] xf] ? o;sf] k|s[lt pNn]v ug'{xf];\ . 

What is right? State its nature. 

13. sfg'gL clwsf/ / df}lns clwsf/lar leGgtf 5'6\6fpg'xf];\ . 
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Differentiate between legal rights and fundamental rights. 

14. tkfO{F XYZ lghL sDkgLsf] sfg'gL ;Nnfxsf/ x'g'x'G5 . XYZ sDkgLsf]] cf}Bf]lus l8hfOg 

csf]{ ABC sDkgLn] k|of]u u/]sf] cj:yfdf o:tf] ljjfbdf sfg'gL ;Nnfx lbg'xf];\ . 

If you are the legal consultant of XYZ private company, XYZ 

Company's industrial design is used by another ABC private company. 

Give legal advice for this issue. 

15. g]kfndf kl/jf/ jf gful/ssf nflu hUufsf] xbaGbL ;DaGwdf ePsf] k|fjwfg ljZn]if0f ug{'xf];\ 

. 

Analyze the provisions regarding Land ceiling for a family or a citizen 

in Nepal. 

16. n]gb]g s] xf] ? n]gb]gsf rf/cf]6f sfg'gL k|fjwfg pNn]v ug{'xf];\ . 

What is transaction? Point out the four legal provision of transaction. 

cyjf (Or), 
as;kqsf] sfg'gL k|fjwfg pNn]v ug'{xf];\ .  

Write down the legal provision of deed of will. 

17. kmf}hbf/L sfg'gsf] d'Vo l;4fGtsf] ;ª\lIfKt JofVof ug'{xf];\ . 

Explain major principle of Criminal law in brief. 

18. g]kfnsf] kmf}hbf/L cleof]hg k|0ffnLaf/] cfkm\gf] /fo lbg'xf];\ .  

Give your opinion about the criminal prosecution system of Nepal. 

19. g]kfndf cw{ Goflos lgsfosf] kfFrcf]6f sfo{sf] j0f{g ug{'xf];\ . 

Explain five function of the quasi- judicial bodies in Nepal. 

cyjf (Or), 
g]kfnsf] ;jf]{Rr cbfntsf] c;fwf/0f If]qflwsf/ af/]df cf}FNofpg'xf];\ . 

Point out the right of extra jurisdiction in Supreme Court of Nepal. 

;d"x u (Group C) 

nfdf] pQ/fTds k|Zgx¿ (Long Answer Questions) 

;a} k|Zg xn ug'{xf];\ . (Attempt All Questions.)  (3 X 8 = 24) 

 

20. g]kfnL gful/ssf] df}lns clwsf/sf] ¿kdf /x]sf] cfjf;;DaGwL xssf] sfof{Gjog s;/L 

eO/x]sf] 5 < 
How is the fundamental right to housing implemented for Nepalese 

citizen? 

cyjf (Or) 
 

g]kfnsf] jt{dfg ;+ljwfg adf]lhd uf]kgLotfsf] clwsf/sf] af/]df JofVof ug'{xf];\ . tkfOF{ 

cfˆgf] b}lgs hLjgdf of] df}lns clwsf/nfO{ s;/L k|of]u ug'{x'G5 ? 

Explain the right to privacy according to present Nepalese 

constitution. How do you use this fundamental right in your daily life? 

 

21.  ;fj{hlgs ;DklQnfO{ lsg ;'/lIft /fVg'k5{ < ;fj{hlgs ;DklQ / ;/sf/L ;DklQdf s'g}  

leGgtf 5 ? 

Why are the public properties required to be protected? Is there any 

difference between public property and Government Property? 
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22. Jff/];fgfdf eg]sf] s] xf] ? ;fwf/0f jf/];gfdf / clws[t jf/];gfdf lar leGgtf 5'6\ofpg'xf];\ . 

What do you mean by power of attorney (warisnama)? Differentiate 

power of attorney and authorize power of attorney. 
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@&= ljQzf:q [Fin.418]) 

ljlzi6Ls/0f tflnsf   ljQzf:q   sIff !@ 

k|Zg of]hgf tyf cª\sef/ ljt/0f 

PsfO 

 

If]q÷PsfO 

 

Kff7\o 

ef/ 

1fg  Aff]w  k|of]u  pRr bIftf  hDdf k|Zg ;+Vof hDdf cª\sef/ 

hDdf 

cª\s clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] 

!= kl/ro !) !   ! !   !     @ @  @ !)  !@ 

@= ljQLo ljj/0fx? tyf k|ltj]bg 

k|:t'lts/0f 

* 

#= ljQLo ljZn]if0f !@ ! !  !   !     ! # 

 

! ! # 

 

% * !^ 

$= k'FhLsf] >f]t !# 

%= k'FhL ;+/rgf !% !    

 

  ! ! 

 

!    @ 

 

! ! @ 

 

% * !% 

^= C0fkq / ;]o/ d'Nof+sg !@ 

&= nufgL lg0f{osf t/Lsfx? !^ ! !   !       ! ! @ ! 

 

! !) * 

 

!( 

*= sfo{zLn k'FhL / rfn' ;DklQ 

Joj:yfkg 

!$ 

(= nfef+z tyf nfef+z ljt/0f 

k|lj|mofx¿  

!) !   ! !  !    !  # @  # !)  !# 

!)= cGt//fli6«o ljQzf:q !) 

 hDdf !@) % @  # #  # @ !  ! @ !! * # !! $) @$ &% 

b|i6Jo M != clt 5f]6f] k|Zg ! cª\ssf x'g] 5g\ /  ;s];Dd ;a} PsfO ;d]l6g] u/L !! k|Zg /xg] 5g\ . 5f]6f] k|Zg % cª\ssf x'g] 5g\ /  ;s];Dd PsfOsf] k|ltlglwTj x'g] 

u/L  * k|Zg /xg] 5g\ . nfdf] k|Zg * cª\ssf x'g] 5g\ /  # k|Zg /xg] 5g\ . 

@= 1fg txdf k"0ff{ª\ssf @) k|ltztdf ga9\g] u/L, pRr bIftf txdf @) k|ltztdf g36\g] u/L / cGo txdf cfjZostfg';f/ k|Zg /xg] 5g\ . 

#= ;a}  txdf ljifosf] k|s[lt / cfjZostfg';f/ clt 5f]6f, 5f]6f / nfdf k|Zg /xg] 5g\ . ;a} txdf ;a} vfnsf k|Zg /xg'kg]{ clgjfo{tf x'Fb}g . pRr bIftfcGtu{t 

ljZn]if0f, d"Nofª\sg /  l;h{gfTds txsf k|Zg /xg]5g\ . 
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ljQzf:q (Finance [Fin.418]) 

sIff (Grade): XII 

;do (Time): 3 Hrs.       k"0ff{ª\s (Full Marks): 75 

k/LIffyL{n] ;s];Dd cfkm\g} zAbdf df}lns pQ/ lbg'kg]{ 5 . lsgf/fdf lbOPsf cª\sn] k"0ff{ª\snfO{ hgfpF5 .  

(The candidates are required to give their answers in their own words as far as 

practicable. The figures in the margin indicate full marks.)  
;d"x s -Group A) 

clt ;ª\lIfKt pQ/fTds k|Zgx¿ (Very Short Answer Questions) 

;a} k|Zg xn ug'{xf];\ (Attempt All Questions)     (11 x 1 = 11 ) 

!= Jofj;flos ljQzf:q eg]sf] s] xf] <(What is business finance?) 

@= jflif{s k|ltj]bgsf] cy{ n]Vg'xf];\ . (Write the meaning of annual report.) 

#= rn cg'kft @M! nfO{ JofVof ug'{xf];\  (Interpret current ratio 2:1.) 

$= Pp6f cNksfnLg C0fbftf -;fx'_ sf ¿kdf tkfO{F s'g cg'kftdf nufgL ug{ OR5's x'g'x'G5 < / lsg 

<(As a short term creditor, at which ratio would you interested to invest ? and 

why?) 

%= bL3{sfnLg C0fsf d'Vo b'O{ kmfObfsf] ;"rL tof/ kfg'{xf];\ . (List out two major advantages of 

long term debt.) 

^= Jofj;flos hf]lvd / ljQLo hf]lvdlarsf] s'g} b'O{ leGgtf b]vfpg'xf];\ . (Show any two 

differences between business risk and financial risk.) 

&= cu|flwsf/ ;]o/sf s'g} b'O{cf]6f ljz]iftf pNn]v ug'[{xf];\ . (Mention any two features of 

preferred stock.) 

*= nufgL lkmtf{ cjlw eg]sf] s] xf] <(What is payback period?) 

(= ;]o/ nfef+zsf] cy{ n]Vg'xf];\ . (Write the meaning of stock dividend.) 

!)=dfGg'xf];\ Pp6f ;ª\u7gn] k|lt;]o/ ?=!) gub nfef+z 3f]if0ff u5 . !)) cf]6f ;]o/ ePsf nufgLstf{n] 

slt nfef+z kfpnfg\ < (Assume that a company declares Rs. 10 per share cash 

dividend. How much cash dividend the investor with 100 shares of the stock 

will receive?) 

!!= ljlgdo b/nfO{ pko'St pbfx/0f;lxt kl/eflift ug'[{xf];\ . (Define the exchange rate with an 

appropriate example.) 

 

;d"x v (Group B) 

;ª\lIfKt pQ/fTds k|Zgx¿ (Short Answer Questions) 

;a} k|Zg xn ug'{xf];\ . (Attempt All Questions.)   ( 8 x 5 = 40 ) 
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!@= s'g} ;ª\u7gsf nflu ljQLo Joj:yfkssf] e"ldsf j0f{g ug{'[xf];\ . (Describe the roles of the 

financial manager in a firm.) 

!#= ljQLo ljj/0fsf k|d'v k|of]ustf{ sf] sf] x'g\ < JofVof ug'[{xf];\ . (Who are the major users of 

financial statements? Explain.) 

!$= obL pbf/f] ;Demf}tf @÷!), #) lbg ePdf jflif{s k|ltzt nfut / k|efjsf/L jflif{s b/ kQf 

nufpg'xf];\ . (Find out the annual percentage cost and effective annual rate when 

the credit terms are 2/10, net 30.)        

 (2+3) 

!%= ;"o{ sDkgLsf] l:y/ ;~rfng nfut ?=# ldlnog, k|fOd/ k]G6 pTkfbg ubf{ nfUg] kl/jlt{t ;~rfng 

nfut ?=!&% k|lt ln6/ / cf}:t laj|mL d"No ?=@)) k|lt ln6/ /x]sf] 5 . jflif{s ;~rfng ;dljGb' 

ln6/df / ?lkofFdf slt xf] < (Surya Company has fixed operating cost of Rs. 3 

million a year. Variable operating cost is Rs. 175 per liter of primer paint 

produced, and averaging selling price is Rs. 200 per liter. What is the annual 

operating break-even point in liters and rupees?) 

!^= Hof]lt lgdf{0f sDkgLsf] jflif{s laj|mL ?=%,)),))) ;fy} df}Hbft laj|mL;DaGwL cg'kft !) /x]sf] 5 . 

cf;fdL÷k|fKo kl/0ft cjlw @) lbg / e'StfgL :yug cjlw !% lbg 5 / dfgf}F Ps jif{df #^) lbg 

x'G5 . 

(Jyoti manufacturing has annual sales of Rs.5,00,000 with an inventory 

turnover ratio of the 10 times. It has receivable collection period of 20 days, 

and a payable deferral period of 15 days. Assume 360 days in a year. ) 

-s_ df}Hbft kl/df0f cjlw slt xf] <(What is its inventory conversion period?)   

(2) 

-v_ gub kl/0ft rs|sf] u0fgf ug'{xf];\ . (Calculate cash conversion cycle of the firm.)    

(3) 

!&= ;ª\u7gn] gub /fVg'sf pb\b]Zox? s] s] x'g\ <JofVof ug'{xf];\ . (What are the motives for 

holding cash by a firm? Explain.) 

!*= nfef+z e'StfgLsf k|rlnt k|lj|mofx? JofVof ug'{xf];\ . (Explain the dividend payment 

procedures in practice.) 

!(= rfn'b/ / efjLb/nfO{ kl/eflift ug'{xf];\ . ltgLx¿larsf] leGgtf b]vfpg'xf];\ . (Define spot rate 

and forward rate. Distinguish between them.)       

(3+2) 
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cyjf(or) 

ld:6/ Gof}kfg] Ps xKtf e|d0fs] nflu rLg hfFb} x'g'x'G5 . pxfFnfO{ e|d0fsf] nflu %,))) ofg cfjZos 

k5{ . g]kfn /fi6« a}ª\ssf] laj|mLb/ k|lt ofg !&=(& 5 eg] pQm e|d0fsf] vr{ slt nfUg]5 < 

(Mr. Neupane is going to China for one week tour. He needs CNY 5,000 for 

his tour. How much will cost him if the selling rate of Nepal Rastra bank for 

CNY is NPR 17.97?) 

;d"x u (Group C) 

nfdf] pQ/fTds k|Zgx¿ (Long Answer Questions) 

;a} k|Zg xn ug'{xf];\ . (Attempt All Questions.)    (3 X 8 = 24) 

@)= lbK;g sDkgLsf] lgDgfg';f/sf] ;"rgf ?=ldlnogdf pknAw 5 (The following information is 

available from Dipsan company; Rs. in  million): 

gub(cash)       Rs.100 

l:y/ ;DklQ(Fixed Assets)     Rs. 283.50 

zL3| cg'kft(Quick Ratio)     2 u'0ff(times) 

b}lgs laj|mL  e'StfgL cjlw(Days sales outstanding)  40 lbg(days) 

laj|mL(Sales)       Rs. 1000 

v'b gfkmf(Net income)     Rs.50 

rn cg'kft (Current ratio)     3 u'0ff(times) 

OlSj6Ldf k|ltkmn(Return on equity)    12% 

u0fgf #^) lbgdf cfwfl/t 5(calculation is based on 360 days) 

u0fgf ug'{xf];\ (Calculate): 

s= cf;fdL laj|mL /sd (Accounts receivable) 

v= rn bfloTj (Current liabilities) 

u= rn ;DklQ (Current assets) 

3= s'n ;DklQ (Total assets) 

ª= ;DklQdf k|ltkmn (Return on assets) 

r= ;fwf/0f OlSj6L (Common equity) 

5= bL3{sfnLg C0f (Long term debt) 

h= v'b gfkmf cg'kftsf] kl/ro lbg'xf];\ . (Define net profit margin ratio.) 

@!= tn lbPsf C0fkqsf] u0fgf ug'{xf];\ . (Compute the value of following bond.)  (3+5) 

s= kl/kSs cjlw (Maturity period)   10 yrs. 

cª\lst d"No (Par value)    Rs. 1000 
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Aofhb/ (Interest rate)    0%(Zero coupon bond) 

k|ltkmnsf] b/ (Rate of return)   12% 

 v= Pp6f ;ª\u7gn] ?=!))) cª\lst d"No ePsf], !)Ü cljlR5Gg C0fkq hf/L u¥of] . h;sf] a6\6fb/ 

!@Ü 5, pSt C0fkqsf] d"No slt x'g'k5{ <(A firm has issued Rs. 1000 par, 10% 

coupon perpetual bonds. If required rate of return to bond holder is 12%, 

what should be the value of bond?)        

  

cyjf(or) 

;fwf/0f ;]o/sf] kl/ro lbg'xf];\ . o;sf ljz]iftf j0f{g ug'{xf];\ . (Define common stock. 

Explain its features.)          

 (3+5) 

@@= sf];L oftfoft k|f=ln= n] emfkf b]vL sf7df8f}F;Dd % jif{ ;]jf lbg Pp6f gofF a; yk ug]{ tof/Ldf 5 . 

;f] a;sf] nfut ?=#),)),))) 5 / % jif{sf nflu ;f] a;sf] jflif{s gub k|jfx lgDgfg';f/ x'g] 

5M(Koshi Yatayat Pvt. Ltd. is considering to add one new bus to provide 

service from Jhapa to Kathmandu daily for 5 years. New bus costs Rs. 

3,000,000. Annual net cash inflow for five years will be as follows); 

aif{ (Year) gub k|jfx (Cash flow) 

0 (30,00,000) 

1 10,00,000 

2 9,00,000 

3 8,50,000 

4 7,00,000 

5 8,00,000 

 

s= sf];L oftfoft k|f=ln=sf] lkmtf{ cjlw slt xf]<(What is the payback period of Koshi 

Yatayat pvt.ltd.?)           

 (2) 
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v= sf];L oftfoft k|f=ln=sf] clwstd nfut lkmtf{ ;do % jif{ ePdf ;f] a; vl/b u5{ < (Should 

Koshi Yatayat purchase the bus if its maximum cost recovery period is 5 

years?)  (2) 

u= olb k|ltkmnsf] b/ !)Ü 5 eg] pSt k|f=ln=sf] v'b jt{dfg d"No u0fgf ug'{xf];\ . (If required rate 

of return is 10%, calculate the net present value of Koshi Yatayat Pvt.Ltd.) 

 (4)  
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28. Computer Science (428) 

Specification grid 2077 

Grade: 12          Subject:  Computer Science Theory (Com. 428) 

S
N

 

C
o
n
te

n
t 

A
re

a 

W
o
rk

in
g
 h

o
u
r 

Competency level 

C
o
n
te

n
t 

A
re

a 
/U

n
it

 w
is

e 

M
ar

k
s 

Remembering Understanding Applying Higher Ability 

M
C

Q
 

S
A Q
 

M
C

Q
 

S
A Q
 

L
A Q
 

M
C

Q
 

S
A Q
 

L
A Q
 

M
C

Q
 

S
A Q
 

L
A Q
 

N
o

. 
o

f 
Q

u
es

ti
o

n
s 

M
ar

k
s 

N
o

. 
o

f 
Q

u
es

ti
o

n
s 

M
ar

k
s 

N
o

. 
o

f 
Q

u
es

ti
o

n
s 

M
ar

k
s 

N
o

. 
o

f 
Q

u
es

ti
o

n
s 

M
ar

k
s 

N
o

. 
o

f 
Q

u
es

ti
o

n
s 

M
ar

k
s 

N
o

. 
o

f 
Q

u
es

ti
o

n
s 

M
ar

k
s 

N
o

. 
o

f 
Q

u
es

ti
o

n
s 

M
ar

k
s 

N
o

. 
o

f 
Q

u
es

ti
o

n
s 

M
ar

k
s 

N
o

. 
o

f 
Q

u
es

ti
o

n
s 

M
ar

k
s 

N
o

. 
o

f 
Q

u
es

ti
o

n
s 

M
ar

k
s 

N
o

. 
o

f 
Q

u
es

ti
o

n
s 

M
ar

k
s 

1 Database Management 

System (DBMS) 
12 

3 3 1 5 2 2 2 10 - -  2 2 1 5 1 8 2 2 1 5 1 8 

8 

2 Data communication 

and Networking 
15 9 

3 Web Technology II 12 8 

4 Programming in C 12 8 

5 Object-oriented 

Programming (OOP) 
10 6 

6 Software Process 

Model (SPM) 
10 6 

7 Recent Trends in 

Technology 
9 5 

Total Marks 80 8 12 15 15 50 
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Item format plan 

S.N. Type of item Score 

per 

item 

Total item Total score Time 

1 Multiple Choice Questions 1 9 9 25 minutes 

2 Short Question Answer 5 5 25 95 minutes 

3 Long Question Answer 8 2 18 

Grand Total  16 50 2 hours 

Remarks: 

 Item format in composite should be met as per the specification grid.  

 Designated weightage in the combined cell should be met, but ±3 marks variation will be allowed within a unit/content area. But no unit 

can be nil. 

 In the case of SAQ and LAQ, these should ensure that 1 mark will be assigned per element expected as correct response.  

 The distribution of cognitive domain of questions should be nearly 15% knowledge/remembering, 25% understanding, 30% applying and 

30% higher ability level, but ±5 percent variation will be allowed in overall question set. 

 SAQ and LAQ can be structured (have two or more sub-items). SAQ and LAQ can be distributed to two or more cognitive behaviors.  

 In such case these will be added to their respective cognitive behavior. In sum the distribution of cognitive behavior should be 

approximately to the required distribution. In case of SAQ there will be 2 "OR" questions and in case of LAQ there will be 2 "OR" 

question.
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Model Question 

School Leaving Certificate Examination 
2078 

Grade: Grade XII   Subject: Computer Science (Th)  Subject code: 428 

Full Marks: 50 (9 marks Obj + 41 Marks Sub)     Time: 2 Hours 

 

Group A: Multiple Choice questions (9 x 1=9)   Time: 20 minutes 

Tick the correct answer. 

1. Which of the statements are used in DDL?  

A) Create, alter and drop  B) Create, insert and select 

C) Insert, update and delete  D) Delete, alter and drop 

2. With SQL, how do you select all the records from a table named “Persons” where the value 

of the column “FirstName” ends with an “a”?  

A) SELECT * FROM Persons WHERE FirstName=‟a‟ 

B) SELECT * FROM Persons WHERE FirstName LIKE „a%‟ 

C) SELECT * FROM Persons WHERE FirstName LIKE „%a‟ 

D) SELECT * FROM Persons WHERE FirstName=‟%a%‟ 

3. Which of the following statements is true about a star network topology?  

A) Each device is connected to a switch or hub 

B) Each device is connected to each other 

C) Each device is connected in a trunk 

D) Each device is connected to a terminal 

4. Which of the following is the correct syntax to display "Stay Safe" in an alert box using 

JavaScript?  

A) alert-box("Stay Safe");   B) confirm("Stay Safe"); 

C) msgbox("Stay safe");  D) alert("Stay Safe"); 

5. What is the use of <A> tag?  

A) To insert an image   B) To create a link 

C) To create a hyperlink  D)  To create a list 
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6. What is the output of given C program?  

void main(){  

    char str1[] = "FIRST"; char str2[20]; strcpy(str2,str1); 

    printf("%s %s ",str1,str2); printf("%d", (str1!=str2)); 

    printf("%d", strcmp(str1,str2)); } 

A) FIRST FIRST 0 0   B) FIRST FIRST 1 1 

C) FIRST FIRST 1 0   D) FIRST FIRST 0 1 

7. Where is a class derived in inheritance? 

A) Superclass    B) Subclass  C) Subsetclass  D) Relativeclass 

8. Which of these is the correct order of the SDLC? 

A) Analysis, Design, Coding, Testing, Implementation 

B) Analysis, Design, Testing, Implementation, Coding  

C) Implementation, Coding, Analysis, Design, Testing 

D) Design, Testing, Implementation, Coding, Analysis 

9. Why is cloud computing popular nowadays?  

A) Cost-sharing and easily accessible 

B) As modern technology and costly 

C) Accessible and freely available  

D) Affordable to all  
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Model Question 

School Leaving Certificate Examination  

2078 

Grade: Grade XII   Subject: Computer Science (Th)  Subject code: 232  

Full Marks: 50 (9 marks Obj + 41 Marks Sub)     Time: 2 Hours 

 

Group B: Short Answer Questions (5 x 5=25) 

1. Explain 2NF and 3NF with examples. 

OR 

Demonstrate the basic DML statement with an example. 

2. Write a function to add any two numbers in Javascript.  

OR 

Demonstrate the external CSS implemented in the web page.  

3. Describe any five features of OOPs.  

4. What are the different stages of software planning? Describe. 

5. Define the concept of AI and IoT. (2+3) 

Group C: Long Answer Questions (2 x 8=16) 

6. How do you implement the Class C IP address in the local area network? Describe.   

7. Write a program to enter ten integer numbers into an array, sort and display them in 

ascending order. 

OR 

Write a program to read the marks of any 5 students in a subject and count how many 

students are pass and fail. 
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Appendix 
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S
N

 

 

C
o
n
te

n
t 

A
re

a 

W
o
rk

in
g
 h

o
u
r 

Competency level 

C
o
n
te

n
t 

A
re

a 
/U

n
it

 w
is

e 

M
ar

k
s 

Remembering Understanding Applying Higher Ability 

M
C

Q
 

S
A Q
 

M
C

Q
 

S
A Q
 

L
A Q
 

M
C

Q
 

S
A Q
 

L
A Q
 

M
C

Q
 

S
A Q
 

L
A Q
 

N
o
. 

o
f 

Q
u
es

ti
o
n
s 

M
ar

k
s 

N
o
. 

o
f 

Q
u
es

ti
o
n
s 

M
ar

k
s 

N
o
. 

o
f 

Q
u
es

ti
o
n
s 

M
ar

k
s 

N
o
. 

o
f 

Q
u
es

ti
o
n
s 

M
ar

k
s 

N
o
. 

o
f 

Q
u
es

ti
o
n
s 

M
ar

k
s 

N
o
. 

o
f 

Q
u
es

ti
o
n
s 

M
ar

k
s 

N
o
. 

o
f 

Q
u
es

ti
o
n
s 

M
ar

k
s 

N
o
. 

o
f 

Q
u
es

ti
o
n
s 

M
ar

k
s 

N
o
. 

o
f 

Q
u
es

ti
o
n
s 

M
ar

k
s 

N
o
. 

o
f 

Q
u
es

ti
o
n
s 

M
ar

k
s 

N
o
. 

o
f 

Q
u
es

ti
o
n
s 

M
ar

k
s 

1 Database Management System 

(DBMS) 
12 1 1   1 1           1 1 1 5   8 

2 Data communication and 

Networking 
15     1 1         1 8       9 

3 Web Technology II 12 1 1         1 1 1 5         8 

4 Programming in C 12                 1 1   1 8 8 

5 Object-oriented Programming 

(OOP) 
10   1 5       1 1           6 

6 Software Process Model 

(SPM) 
10 1 1     1 5               6 

7 Recent Trends in Technology 9       1 5               5 

Total Marks 80 8 12 15 15 50 

 

Note: This is the test matrix prepared for this set only but for other sets of questions test matrix may be varied. 
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@(= ;f}Gbo{snf [Beh. 432]) 

b|i6Jo M clt 5f]6f] k|Zg ! cª\ssf x'g] 5g\ /  ;s];Dd ;a} PsfO ;d]l6g] u/L ( k|Zg /xg] 5g\ . 

 5f]6f] k|Zg % cª\ssf x'g] 5g\ / ;s];Dd ;a} PsfOsf] k|ltlglwTj x'g] u/L  % k|Zg /xg] 5g\ ;fy} s'g} b'O{ k|Zgdf ljsNk lbg ;lsg] 5 . 

 nfdf] k|Zg * cª\ssf x'g] 5g\ /  @ k|Zg /xg] 5g\ ;fy} s'g} Ps k|Zgdf  ljsNk lbg ;lsg] 5 . 

 1fg txdf @) k|ltztdf ga9\g] u/L, pRr bIftf txdf @) k|ltztdf g36\g] u/L / cGo txdf cfjZostfg';f/ k|Zg /xg] 5g\ . 

 ;a}  txdf ljifosf] k|s[lt / cfjZostfg';f/ clt 5f]6f, 5f]6f / nfdf k|Zg /xg] 5g\ . ;a} txdf ;a} vfnsf k|Zg /xg'kg]{ clgjfo{tf x'Fb}g . pRr bIftf 

cGtu{t ljZn]if0f, d"Nofª\sg /  l;h{gfTds txsf k|Zg /xg] 5g\ . 

;f}Gbo{snf sIff !@ 

k|Zg of]hgf tyf cª\sef/ ljt/0f 

PsfO{ PsfO{ If]q Kff7\oef/ 1fg af]w k|of]u pRr bIftf k|Zg ;+Vof hDdf 

k|Zg 

hDdf 

c+sef/ 

  clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf]     

१ ;f}Gbo{    tyf s]zsnf 

lzIffsf] kl/ro 

 

% 

!   !   !    !  # !  $ * 

२ z/L/sf cgfjZos /f}F x6fpg] 

tl/sf 

* 

३ xft /  v'6\6fsf] z[ª\uf/ !) 

!   ! !    !    @ ! ! $ !% 
४ s]z sf6\g] / s]zsf] z[ª\uf/ !% 

५ 
km]l;on 

!) 

!   !    !    ! @ ! ! $ !% 
६ 

cg'xf/sf] z[ª\uf/ 

!% 

७ 
:kf / d;fh  

% 

!   ! !   !     @ @  $ !@ 

८ 
d]xGbL 

^ 

९ skfndf /;fog / /ªsf] k|of]u ^ 

hDdf  *) $   $ @  ! @ !  ! ! ( % @ !^ %) 
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;f}Gbo{ tyf s]zsnf (Beautician and Hair Dressing [Beh. 432]) 

sIff (Grade): XII 

;do(Time) : 2 Hrs.                                                  k"0ff{ª\s (Full Marks): 50 

k/LIffyL{n] ;s];Dd cfkm\g} zAbdf df}lns pQ/ lbg'kg]{ 5 . lsgf/fdf lbOPsf cª\sn] k"0ff{ª\snfO{ 

hgfpF5 . (The candidates are required to give their answers in their own words 

as far as practicable. The figures in the margin indicate full marks.)  

 

;d"x s -Group A) 

clt ;ª\lIfKt pQ/fTds k|Zgx¿ (Very Short Answer Questions) 

;a} k|Zgx¿sf] pQ/ lbg'xf];\  (Attempt All Questions.)  (9 x 1 = 9)  

१. ;f}Gbo{snfsf] kl/ro lbg'xf];\ . 

२. 8]lkn];g lsg cfjZos 5< s'g} b'O{ sf/0f lbg'xf];\ . 

३. y|]l8ªsf nflu cfjZos ;fdu|Lsf] ;"rL agfpg'xf];\ . 

४. xftv'6\6fsf] z[ª\uf/sf] nflu cfjZos s'g} rf/ ;fdu|Lsf] gfd n]Vg'xf];\ . 

५. z]ª\uf/df s]z sl6ªsf] s'g} b'O{ dxŒj pNn]v ug'{xf];\ . 

६. 3/]n' k4ltcg';f/ 5fnfsf] :ofxf/ ug]{ s'g} b'O{ ljlw n]Vg'xf];\ . 

७. km]l;on ug'{ cufl8 yfxf kfpg'kg]{ s'/f s] xf] < 

८. tkfOF{ cg'xf/sf] z[ª\uf/sf nflu pko'St ljlwsf] 5gf]6 s;/L ug'{x'G5 < 

९. skfndf x]o/ :6«]6 nf];g slt ;do /flvG5 < 

     

;d"x v (Group B)  

  ;ª\lIfKt pQ/fTds k|Zgx¿ (Short Answer Questions) 

;a} k|Zgx¿sf] pQ/ lbg'xf];\ . (Attempt All Questions)                  (5 x 5 = 25 ) 

१०. tkfOF{n] a;f]af; ug'[{ePsf] :yfgdf ;f}Gbo{snf tyf s]zsnf ahf/sf] cj:yf af/]df 

cfkm\gf] wf/0ff k|:t't ug'{xf];\ . 

cyjf  

d]x]GbL agfpg] tl/sf pNn]v ug'{xf];\ . o;nfO{ l6«6d]G6sf ¿kdf s;/L k|of]u ug{ 

;lsG5 < 

११.  xftv'6\6f ;/;kmfO ug]{ ljlw s] s] x'g\ < 5f]6s/Ldf n]Vg'xf];\ .  

१२. ;'Svf 5fnfsf] km]l;on ug]{ ljlwsf af/]df k|:6 kfg'{xf];\ . 

१३.  :kf / d;fh y]/fkLsf] dxŒjsf af/]df JofVof ug'{xf];\ . 

cyjf 

;f}Gbo{ eg]sf] s] xf] < JofVof ug'[{xf];\ . 

१४. skfndf /;fog jf /ªsf] k|of]u ubf{ s] s] s'/fdf Wofg lbg'k5{ < j0f{g ug'{xf];\ . 

 



 

144 
 

 

;d"x u (Group C) 

nfdf] pQ/fTds k|Zgx¿ (Long Answer Questions) 

;a} k|Zgsf] pQ/ lbg'xf];\ . (Attempt All Questions)  (2 X 8 = 16)  

१५.  s]z sl6ª tyf s]z z[ª\uf/sf] kl/ro lbg'xf];\ . :yfgLo ;+:s[lt / k|rng cg';f/ 

s]z z[ªuf/ ug]{ ljlw pNn]v ug'{xf];\ . 

cyjf  

Plkn];g / 8]lkn];g ljlwsf] leGgtf b]vfpg'xf];\ . cg'xf/sf] ;+/rgfcg';f/ 

cfFvLef}Fsf ;]kx? s;/L lgwf{/0f ul/G5 < 

१६. z[uf/sf k|sf/x? j0f{g ug'{xf];\ . k/Dk/fut z[ª\uf/ / cfw'lgs z[ª\uf/sf] t'ngfTds 

ljZn]if0f ug'{xf];\ . 

 

 

***** 
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#)= efifflj1fg -Lin 218) 

ljlzi6Ls/0f tflnsf 

ljifo M efifflj1fg         sIff !@ 

  

b|i6Jo M  k|Zg g= /fVbf klxn] clt 5f]6f] k|Zg k|Zg ! b]lv !! ;Dd, 5f]6f] pQ/ k|Zg !@ b]lv !( ;Dd / 

nfdf] pQ/ cfpg] k|Zg g= @) b]lv @@ ;Dd sfod ug''{kg]{ 5 . 5f]6f] pQ/ cfpg] k|ZgdWo] s'g} b'O{ k|Zg 

tyf nfdf] pQ/ cfpg] s'g} Ps k|Zgdf ljsNk lbg'kg]{ 5 .  

 

 
 

PsfO Kff7\oj:t'' 1fg / af]w  Jofjxfl/s l;k  pRr bIftf ;f]lwg] k|Zg  

;ª\Vof 

pQ/ lbg'kg]{ 

k|Zg  

;ª\Vof 

cª\s 

ef/ 

  clt 

5f]6f] 

5f]6f] Nffdf] clt 

5f]6f] 

5f]6f] Nffdf] clt 

5f]6f] 

5f]6f] Nffdf]    

! Wjlglj1fg @ 

 

 

 

 

 

 

 

 

 

@  

 

 

 

 

 

 

 

 

! % $ !% 

@ j0f{lj1fg @   

 

 !     # # & 

# ¿klj1fg    

 

 ! 

 

   @ # @ !# 

 

$ jfSolj1fg !  

 

  !     @ @ ^ 

% cy{lj1fg !    

 

 

!     @ @ ^ 

^ efiff kl/jt{g !    !     @ @ ^ 

& efiff lzIf0f @    @    ! % $ !% 

* dft[efiff / ax'eflifs 

lzIff 

 

@    !  

 

 

 

   # # & 

hDdf  !!    !)    $ @% @@ &% 
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gd'gf k|Zgkq  @)&* 

 

ljifo M Effifflj1fg -Lin 218)       sIff– !@   

;do M # 306f                         

ljBfyL{n] pQ/ lbFbf l;h{gfTds / df}lnstfsf cfwf/df lbg'kg]{ 5  .  

 

;d"x …sÚ 

!= tnsf k|Zgsf] clt 5f]6f] pQ/ lbg'xf];\ M      !  !! Ö !! 

 

 -s_ pRrf/0fsf s'g} rf/ cjojsf] gfd n]Vg'xf];\ .  

 -v_ :j/WjgLsf] j0f{g ubf{ ljrf/ k'¥ofpg' kg]{ s'g} s'g} tLg cfwf/ n]Vg'xf];\ . 

 -u_ ;+j0f{sf] pbfx/0f lbg'xf];\ . 

 -3_ anf3ft eGgfn] s] a'lemG5 < 

 -ª_ jfSosf] kl/ro lbg'xf];\ . 

 -r_ cg]sfyL{ zAbsf s'g} b'O{ pbfx/0f lbg'xf];\ .  

 -5_  WjgLtflTjs kl/jt{g eg]sf] s] xf] < 

 -h_  q'6L ljZn]if0f eg]sf] s] xf] < 

 -em_ z}Ifl0fs Jofs/0f eGgfn] s] a'lemG5 < 

 -~f_  dft[efiffdf lzIff lsg cfjZos 5 < 

 -6_   ljifosf ¿kdf g]kfndf lzIf0f ePsf s'g} $ efiffsf] gfd pNn]v ug{'xf];\ . 

  

 @= tnsf k|Zgsf] 5f]6f] pQ/ lbg'xf];\ M      %  * Ö $) 

-s_  WjgLsf] juL{s/0fsf af/]df rrf{ ug{'xf];\ .  

     cyjf 

 Wjlg lj1fgsf af/]df pbfx/0f;lxt n]Vg'xf];\ .  

-v_  j0f{ / ;+j0f{larsf] leGgtf pbfx/0f;lxt b]vfpg'xf];\ .     

-u_  Jo'Tkfbg / ¿kfoglarsf] leGgtf b]vfpg'xf];\ .    

-3_   jfSosf] cfwf/e"t ;+/rgfsf af/]df JofVof ug{'xf];\ . 

-ª_ lj/f]wfy{, lglxtfy{, kof{ofy{, ljk/Ltfy{ / ;dfj]zfy{sf] b'O{ b'O{cf]6f pbfx/0f lbg'xf];\ .   

-r_  efiff kl/jt{g :jefljs k|lj|mof xf] . pbfx/0f;lxt k'li6 ug{'xf];\ .     

-5_  Jolt/]sL ljZn]if0fsf] JofVof ug{'xf];\ .  

   cyjf 

 efiff k/LIf0fsf af/]df n]Vg'xf];\ .    

-h_ ax'eflifs lzIff eGgfn] s] a'lemG5 < rrf{ ug{'xf];\ .  

 

#= tnsf k|Zgsf] nfdf] pQ/ lbg'xf];\ M        #  * Ö @$ 

-s_  cGt/f{li6«o WjlgtflTjs j0f{dfnfsf] af/]df rrf{ ug{'xf];\ .   

-v_ ¿lkdsf] kl/ro lbb} k"j{;u{, dWo;u{ / k/;u{sf] pbfx/0f;lxt JofVof ug'{xf];\ .  

     cyjf 

 zAb lgdf{0f k|lj|mofsf] pbfx/0f;lxt JofVof ug{'xf];\ .    

-u_   q'l6 ljZn]if0fsf r/0fsf] pbfx/0f;lxt JofVof ug{'xf];\ .   

*****The End**** 
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